
uƒßÁT - E

ü≈å 1. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y LN˛Á N˛uƒozYÁ ÃÁ∫ÁÊ∆ u¬“Á . 1 x 6 = 6

1.  üÁmÃF|

2.  ∆£t

3.  tƒÁÊo EÁu¬Ã ß¡ÆÁ ú“ÁbÎ

ü≈å 2. E) QÁ¬y¬ú{N˛y <tÁzå> ú˘ÁÊYz ÃÊtßÁ|Ã“ Àú…byN˛∫m N˛∫Á. 2 x 5 = 10

1. uƒu“∫yXÆÁ opÎ QÁz¬, utÃÓÊ ¬ÁT¬ı T ußÊT
™å ¬ÁTzåÁ V∫ÁÊo : N˛áy Æz∆y¬ oÓ ÃÁÊT ?

2. tƒÁÊo EÁ¬yÃ ß¡ÆÁ ú“ÁbÎ, ∆ÏN¿˛ÁXÆÁ oÁz∂ÆÁÊo LN˛tÁ;
\ƒpÏuå Tzu¬Ã úzu∫o EúÏ¡ÆÁ, o∫¬ úÁƒ¬ÁÊ™á¬y ∆ÁzßÁ.

3. EÁN˛ÁãoÁåz “ÁN˛Á VÁo¡ÆÁ ™Á]ÆÁ
oz√“Á oz√“Á ∆£tY áÁƒÓå EÁ¬z,
™Á]ÆÁ uåª∫ uåQÁ∂ÆÁÊåÁ
™ÁG¬yåz UÆÁƒz oÃz úÁzbÁ∆y Vzo¬z.

4. N˛áy \Q™ √“ÁÆYy, uYVpÁÆYy, ∫Mo ƒ“ÁÆYÊ
úm åÁtÁXÆÁ ßÓ¬ßÏ¬{´ÆÁoÏå §Á“z∫ å úgoÁ
ú¯\mÁQÁ¬y ¢˛gNz˛ §ÁÊáÓå
\Q™ÁÊåÁ H§ tzHå oy ∫Á\ N˛∫ÁÆYy !

5. ETÊ úÁÆÁQÁ¬Yz N˛Ábz ™ÁzglÆÁÃÁ∫Qz
úÁÆY “ÁzH tzo EÁoÁ... VbΩb, ™\§Óo, úÁz¬Áty
úÏj¡ÆÁ N˛Á “ÁzF|åÁ ∆oN˛ÁEÁáy !

EÁ)  QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y tÁzå GoÁ∂ÆÁÊYz ÃÊtßÁ|Ã“ Àú…byN˛∫m N˛∫Á. 2 x 5 = 10

1. <á™Á|úzqÁ ™ÁmÓÃ ™ÁzeÁ EÁ“z EÁum ™ÁmÃÁúzqÁ ™ÁmÏÃN˛y ¢˛Á∫-¢˛Á∫ ™Ázey EÁ“z !>

2. <™Á^y úÏÀoNÊ˛ “yY ™Á^y EúnÆÊ>

3. <EÃ¬y N˛¡úåzYy ß∫Á∫y N˛ÁzmnÆÁ \ÏãÆÁ ÃÊTyoÁo EÁjpÓå ÆzF|¬ ?>

4. <o∫ <™{fiymÎåÁ ƒu“åÎYÁ Ã¡¬Á> “Á EÁ\YÁ ∆zƒbYÁ N˛ÁÆ|N¿˛™.>

5. <oÓ ™Áfi EÁ\ ¬ÁzN˛ÁÊåÁ N˛gÓ uMƒåÁF|åYÁ gÁzÃ tzmÁYÊ áÁgÃ Nz˛¬ÊÃ>
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ü≈å 3. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y tÁzå ü≈åÁÊYy G∫z u¬“Á. 2 x 4 = 8

1. N˛ƒuÆfiyåz Gã“Á∏ÆÁXÆÁ oyƒ¿ozYz ƒm|å N˛∫oÁåÁ ÆÁz\¬z¬y üoyNz˛ Àú…b N˛∫Á.

2. <gÁz∏ÆÁÊ™á¡ÆÁ gÁup§ÁÊYÁ, ÃÁÊT á∫ÁƒÁ N{˛ÃÁ úÁ∫Á> ÆÁ N˛Á√ÆúÊMoyYÁ oÏ©“Á¬Á Ã™\¬z¬Á Es| Àú…b
N˛∫Á.

3. <∆£t ©“m\z N˛ƒyYz ÃÁ™·Æ|>, “z uƒáÁå Àú…b N˛∫Á.

4. <ú¯\m> ÆÁ N˛uƒozYz ∫ÃT¿“m N˛∫Á.

5. <N˛ƒuÆfiy EÁum üÁmÃF| ÆÁÊXÆÁoy¬ åÁoz u\√“Á∏ÆÁYz EÁ“z>, Àú…b N˛∫Á.

ü≈å 4. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y tÁzå ü≈åÁÊYy G∫z u¬“Á. 2 x 4 = 8

1. ™Á™ÓXÆÁ ÃÊƒztå∆y¬ozYy tÁzå GtÁ“∫mz oÏ™XÆÁ ∆£tÁÊo u¬“Á.

2. úÏÀoN˛ÁÊuƒ ÆyYÁ ¬zQN˛ÁYÁ twu…bN˛Ázå oÏ™XÆÁ ∆£tÁÊo u¬“Á.

3. <§u“mÁ§ÁF|Yz ÃÁu“nÆ \ÏãÆÁo Y™N˛mÁ∫z ƒ å√ÆÁo ^pN˛mÁ∫z EÁ“z>, “z ¬zQN˛ÁYz uƒYÁ∫ oÏ™XÆÁ ∆£tÁÊo
Àú…b N˛∫Á.

4. <ú{ÃÁ “z ÃÁáå EÁ“z, ÃÁÜÆ å√“z>, “z uƒáÁå úÁeÁ˚Á∫z oÏ™XÆÁ ∆£tÁÊo Àú…b N˛∫Á.

5. ƒu“åyÊYÁ <ÃÏÃÁb> Ã¡¬Á “y N˛sÁ oÏ©“Á¬Á N˛Á EÁƒgoz oz u¬“Á.

ü≈å 5. E) QÁ¬y¬ ü≈åÁÊYy G∫z LN˛Á ƒÁMÆÁo u¬“Á. 4 x 1 = 4

1. N˛ƒuÆfiyåz N˛ÁzmÁ¬Á uƒåÊoy Nz˛¬y ?

2. gÁz∏ÆÁÊåÁ N˛ƒyåz ut¬z¬y Gú™Á N˛Ázmoy ?

3. <<∆£tÁÊYÁ G\zg> ©“m\z N˛ÁÆ ?

4. EÁ\yåz úÁÆÁo N˛ÁÆ VÁo¬z “Ázoz ?

EÁ) QÁ¬y¬ ü≈åÁÊYy G∫z LN˛Á ƒÁMÆÁo u¬“Á. 4 x 1 = 4

1. <åzúÁzu¬Æå> N˛Ázm “ÁzoÁ ?

2. ÃÊÃÁ∫ ∫sÁYy tÁzå YÁNz˛ N˛Ázmoy ?

3. ™ÏQÁ|XÆÁ “Áoy N˛ÁÆ tzH åÆz ?

4. <Y{oãÆÁYz ZÁzbz N˛Áı§> N˛ÁzmÁ¬Á ©“bÊ¬z EÁ“z ?



uƒßÁT - <§>

ü≈å 6. QÁ¬y¬ ü≈åÁÊYz G∫ u¬“Á . 1 x 5 =5

√ÆÁƒÃÁuÆN˛ åÁbN˛ÁYz Àƒøú ƒ ƒ{u∆…b∞z oÏ™XÆÁ ∆£tÁo Àú…b N˛∫Á.

ü≈å 7. QÁ¬y¬ú{N˛y N˛ÁzmoÁ“y LN˛ ü≈å ÃÁzgƒÁ. 1 x 5 =5

1. ™ÁzuåN˛Á ƒ Nw˛…m∫Áƒ ÆÁÊXÆÁoy¬ ÃÊƒÁtÁYy oÏ©“ÁÊ¬Á Ã™\¬z¬y ƒ{u∆…b∞z u¬“Á.

2. ∫ÊTÃÓYåÁ N˛sÁåN˛Áoy¬ tÏƒz N˛Ãz \ÁzgoÁo oz Àú…b N˛∫Á.

3. NÊ˛ÃÁoy¬ ™\NÓ˛∫ åÁb∞GoÁ∫Á Ã™\lÆÁÃÁey GúÆÏMo e∫oÁo; oÏ™Yz ™o u¬“Á.

ü≈å 8. QÁ¬y¬ú{N˛y N˛Ázmoz“y tÁzå ü≈å ÃÁzgƒÁ. 2 x 5 = 10

1. <ƒÃÊÏá∫Á utåÁuåu™> “ÁzmÁ∂ÆÁ ƒMownƒ Àúá|zYy N˛ÁÆ|N¿˛™ úufiN˛Á oÆÁ∫ N˛∫Á.

2. ™Ïu¸o∆ÁzáåÁÃÁey ¬ÁTmÁ∫y N˛Á{∆¡Æz ÃuƒÀo∫ uƒ∆t N˛∫Á.

3. EåÏƒÁt N˛∫oÁåÁ úÁpÁÆYy ú·Æz oÏ™XÆÁ ∆£tÁÊo u¬“Á.

4. §Áz¬yßÁ Á EÁum ü™ÁmßÁ Á ÆÁ§Á§oYy EåÏƒÁtN˛ÁYy ßÓu™N˛Á Àú…b N˛∫Á.

5. EåÏƒÁtÁYy N˛ÁÆ|qzfiz Àú…b N˛∫Á.

ü≈å 9. <√ÆÊ\åÁ> ∆MoyYz GtÁ“∫mÁÃu“o ƒ{u∆…b∞z ÃÁÊTÁ. 1 x 4 = 4

ü≈å10. NÊ˛ÃÁo ut¬z¡ÆÁ ÃÓYåzåÏÃÁ∫ QÁ¬y¬ ƒÁMÆ §t¬Á. 3 x 1 = 3

1 ∫Á\Ó ƒÁ∫ÊƒÁ∫ N˛Á}¢˛y uúoÁz. nÆÁXÆÁ EÁF|¬Á oz EÁƒgo åÁ“y. (Nz˛ƒ¬ ƒÁMÆ N˛∫Á)

2 ™Ï¬z QÁz-QÁz Qzpo “Ázoy. (úÓm| ßÓoN˛Áp N˛∫Á)

3. ∫ÀnÆÁXÆÁ gÁ√ÆÁ §Á\Óåz YÁ¬Áƒz (ÃÁáÁ ƒo|™ÁåN˛Áp N˛∫Á.)

ü≈å11. QÁ¬y¬ú{N˛y N˛Ázmoz“y úÁY uƒªÚÁsy| ∆£t u¬“Á. 5  x 1 = 5

1.   E™wo  & ......... 2.  EåÁs  & ......... 3.  EåÏ\ & .........

4.   Eúzuqo  & ......... 5.  Euoƒw…by  & ......... 6.  E§¿Ó & .........

7.   EáÁzToy  & ......... 8.  E™ÁƒÀÆÁ  & ......... 9.  Eƒ\g & .........

10.  EƒVg  & .........

ü≈å12. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y <úÁY> ∆£tÁÊYz ƒYå §t¬Á. 5  x 1 = 5

1.  ¬zQmy 2.  Nz˛pz 3.. §“ym 4. ßÁN˛∫y

5.  tz∆ 6.  ÃÁ¬ 7.  ∆ÁpÁ 8. QÁ∫yN˛

9.  ™∆Á¬y 10.  u¬Ê§z



ü≈å13. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y oyå ©“mÎYz ™∫Áeyo ßÁ ÁÊo∫ N˛∫Á. 3  x 1 =3

1. A bad workman always blames his tools.

2. No pains, no gains

3. A fig for the doctor when cured.

4. An empty vessel makes much noise.

5. As you sow, so you reap.

6. A drowning man will clutch at a straw.

ü≈å14. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y <úÁY> ∆£tÁÊYz tÁzå Ã™ÁåÁsy| ∆£t u¬“Á. 5  x 1 = 5

1. EÁåÊt  - - 2.  N˛ÁpÁzQ - -

3. tÏ…b - - 4.   oÁıg - -

5. tzHp - - 6.   tÁåƒ - -

7. EÁN˛Á∆ - - 8.  E∫lÆ - -

9. EÁF| - - 10.  uúoÁ - -

15. GúÃT| EÁum ünÆÆ ¬ÁƒÓå N˛Ázmoz“y úÁY ∆£t oÆÁ∫ N˛∫Á. 5  x 1 = 5

1.  Es| 2.  Nw˛úÁ 3. á™| 4. §Ázá

5.  TÏm 6.  å∆y§ 7. \Æ 8. FåÁ™

9. ™oy 10.  “\∫

Y



ÃÓYåÁ : Ãƒ| ü≈å EÁƒ≈ÆN˛ EÁ“zo.

uƒßÁT - E

ü≈å 1. úÏjy¬ú{N˛y LN˛Á N˛uƒozYy ™ÜÆƒoy| N˛¡úåÁ Àú…b N˛∫Á. 1 x 8 = 8

1. EÁƒÁ“å

2. QÁÊ§

3. EQÊg

ü≈å 2. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y LN˛Á ü≈åÁYz G∫ u¬“Á. 1 x 6 = 6

1. N˛ƒÆfiyåz tzƒÁ¬Á <E\§ TÁ∫Ázgy> EÃz N˛Á ©“b¬z EÁ“z ?

2. uÀfiÆÁÊXÆÁ \TlÆÁYz uYfim N˛ƒÆfiy ∆ÁÊoÁ ∆zpNz˛ ÆÁÊåy N˛Ãz Nz˛¬z EÁ“z ?

3. ÃƒÁ˙åÁ ÃÏQy N˛∫lÆÁ§∫Áz§∫Y Àƒo: ÃÏQy √“ÁÆYz EÃz¬ o∫ N˛ÁÆ Nz˛¬z úÁu“\z EÃz ™“Án™Á ¢Ï˛¬z ÆÁÊåy
ÃÁÊuTo¬z EÁ“z ?

ü≈å 3. QÁ¬y¬ú{N˛y N˛ÁzmnÆÁ“y LN˛Á ü≈åÁYz G∫ u¬“Á. 1 x 6 = 6

1. <™ÏÊ§F| ©“m\z ÃÁqÁo N˛¡úƒwq>, EÃz N˛Á ©“b¬z EÁ“z ?

2. ünÆzN˛ ™Áze∞Á ™ÁmÃÁYÁ LN˛ <“ÁzÆ§Á> EÃoÁz> úÁeÁXÆÁ EÁáÁ∫z Àú…b N˛∫Á.

3. GãåyNw˛…måYz EÁßÁ∫ EÁúm ™ÁåÁÆ¬Á “ƒz, EÃz ¬zQN˛ÁÊåÁ N˛Á ƒÁb¬z ?

ü≈å 4. úÏjy¬ú{N˛y N˛ÁzmnÆÁ“y tÁzå ü≈åÁÊYy G∫z u¬“Á. 2 x 4 = 8

1. uƒåÁztÁYz ¢˛ÁÆtz N˛Ázmoz ?

2. TÏÊgTÏ∏ÆÁYÁ ™Áp “z ueN˛Ám ßÏoÁÊXÆÁ tw…byåz T{∫ÃÁzÆyYz N˛Á “Ázoz ?

3. §ÂgXÆÁ EÁƒÁ\Á™Ïpz ¬zQN˛ÁXÆÁ ™åÁo N˛ÁzmnÆÁ ∆ÊN˛Á EÁ¡ÆÁ ?

4. åTõÆÁ EÁum nÆÁXÆÁ tÁzÀoÁYy N˛Ázmoy TÁz…b oÏN˛Á∫Á™Áåz úÁ“ÏlÆÁÃ ÃÁÊuTo¬y ?

5. Gã“ÁXÆÁ uou∫úzYy ÃƒÆ √“Áƒy ©“mÓå ∫ƒyåz N˛Ázmoy Nw˛oy Nz˛¬y ?

ü≈å 5. úÏjy¬ ú˘ÁÊú{N˛y N˛ÁzmnÆÁ“y tÁzåÁYz ÃÊtßÁ|Ã“ Àú…byN˛∫m N˛∫Á. 2 x 4 = 8

1. \yƒu∆ƒ tÁzåy QÏÊbz Tz üúÊYÁYz åzbı Tz @
¬ÁƒÏåy úÁÊYÎ §Ázbı Tz oÓÊ Æz∫z §Á uƒeΩe¬Á
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2. §yÆ b∫Á∫z ßÏF|o, Ãƒz| N˛Áı§ EÁ¬z ƒ∂“z
Tÿ∫¬Ê ∆zo \ÃÊ, EÊTÁƒ∫oy ∆“Á∫z.

3. Ã™∫úÏ∫ÁYz ƒÁ∫N˛∫y “Áz Ã™∫tzƒoÁ §Áz¬uƒoz
∫Mo EÁúÏ¡ÆÁ uüÆ EÁF|Yı ∆Ïß¿ u“™Áƒ∫ EÁzVpoz !

4. uoXÆÁ E“zƒYÏg∞ÁEÁg ™åTb EÃoz Vc
<ÃÁ∫z ™yY N˛∫yå !> uoYÁ \ã™oÁY “c !

5. nÆÁ EÁeyXÆÁ ∫zVzƒ∫ úm, Ã“y eÁzuN˛¬y ™™ åu∆§Áåı
EÃÁ N˛ÃÁ ™y ™ÏN˛ÁY ^Á¬Áz; ™ÏN˛y \Á“u¬Ã oÓÊu“ N˛∆Áåı ?

ü≈å 6. úÏjy¬ ƒÁMÆÊÁú{N˛y N˛ÁzmnÆÁ“y tÁzåÁYz ÃÊtßÁ|Ã“ Àú…byN˛∫m N˛∫Á. 2 x 4 = 8

1. <Êåtåƒå E∆y ú∫Àú∫ uƒ∫Ázáy EÃoÁo>

2. <ÆÊfi™Áåƒ “Á ™Ó¬o: ÃÁÊTN˛Á©ÆÁ EÁ“z.>

3. <u“∫yXÆÁ EÁF|™ÏpÊ ™y nÆÁ V∫Á¬Á §ÁÊá¬y Tz¬z.>

4. <™ÏÊ§F| ©“m\z ÃÁqÁo N˛¡úƒwqY !>

5. <qmß∫ÁoY ÃÁƒøå nÆÁÊåy “Á∫Á GÊYÁƒ¬Á...... LQÁtÁ ¬ÁQ ™Áz¬ÁYÁ tÁuTåÁ GY¬ÁƒÁ oÃÁ.>

ü≈å 7. úÏjy¬ tÁzå ü≈åÊÁYy G∫z sÁzgMÆÁo u¬“Á. 2 x 3 = 6

1. ™“Án™Á ¢Ï˛¬ıåy N˛Ázmoy ußqÁ ™ÁuTo¬y EÁ“z ?

2. úÁåÁÊåy tzƒÁN˛gz N˛Ázmoy üÁs|åÁ Nz˛¬y ?

3. <EÁƒÁ“å> ÿÁ N˛uƒozo  onN˛Á¬yå úu∫uÀsoyYz ƒm|å N˛Ãz Nz˛¬z EÁ“z ?

4. <tz“ÁYÁY QÁÊ§ N˛øå EƒVz V∫ oÁz¬oz> ÆÁ EÁzpyYz Àú…byN˛∫m N˛∫Á.

5. <Zfiøúy “Áo> ÆÁ üuo™zYz Àú…byN˛∫m N˛∫Á.

ü≈å 8. úÏjy¬ ú{N˛y tÁzå ü≈åÁÊYy G∫z sÁzgMÆÁo u¬“Á. 2 x 3 = 6

1. ¬zQN˛ÁYz åÊtåƒå N˛Ázez ƒ N˛Ãz EÁ“z ?

2. ¬zuQNz˛¬Á u“∫ÁYy EÁF| N˛Á EÁƒg¬y ?

3. ÆÊfi™Áåƒ “Á ÃÁÊTN˛Á©ÆÁ EÁ“z “z GtÁ“∫m tzHå Àú…b N˛∫Á.

4. ¬zQN˛ÁÊXÆÁ V∫y §ÁT ¢Ï˛¬uƒlÆÁ™ÁTz GãåyNw˛…måXÆÁ N˛ÁzmnÆÁ ßÁƒåÁ “ÁznÆÁ ?

5 ¢¿˛Á™∫Áz^Yz EÁÆÏ…Æ N˛Ãz ÃÁs|N˛y ¬ÁT¬z ? Àú…b N˛∫Á.

ü≈å 9. úÏjy¬ ü≈åÁÊYy G∫z LN˛Á ƒÁMÆÁo u¬“Á. 1 x 4 = 4

1. EÁz√ÆÁ Nz˛√“Á TÁÆ¡ÆÁ \ÁoÁo?

2. [ÆÁzoy∫ÁƒÁÊXÆÁ ™oz EÁú¬z EÁY∫m N˛Ãz EÃÁƒz ?

3. ÀƒÁoÊ‡ÆÁYz gÊNz˛ N˛Ázez ^g¬z ?

4. ¬SåÁo Àfiy¬Á N˛ÁÆ EÊÁtm u™poz ?
2



3

ü≈å 10. úÏjy¬ ü≈åÁÊYy G∫z LN˛Á ƒÁMÆÁo u¬“Á. 1 x 4 = 4

1. §Á¬úmy EÁúm N˛ÁzmÁ¬Á EÁt∆| ™ÁåoÁz ?

2. N˛ÁzN˛mÁo¡ÆÁ §Á§¡ÆÁYz åÊtåƒå N˛Ázmoz ?

3. ∆ÁÊoyÃtå N˛Ázmy §ÁÊá¬z ?

4. EÁú¬z ∫Á…b~ ÜƒuåütÓ m N˛Ãz N˛∫oz ?

uƒßÁT - §

ü≈å 11. úÏjy¬ú{N˛y LN˛Á ü≈åÁYz G∫ u¬“Á. 1 x 5 = 5

1. ¬zQÁÊYz uƒuƒá üN˛Á∫ Àú…b N˛∫Á.

2. ÃÓfiÃÊYÁ¬åÁXÆÁ ÃÊu“ozYy ƒ{u∆…b∞z sÁzgMÆÁo u¬“Á.

3. ÃÁ™Áu\N˛ ÃÊúN˛Á|ÃÁeyXÆÁ ÃÊNz˛oÀsÁåÁYz ¢˛ÁÆtz ÃÁÊTÁ.

4. ET¿¬zQ EÁum §Áo™y ÆÁoy¬ ¢˛∫N˛ Àú…b N˛∫Á

ü≈å 12. úÏjy¬ú{N˛y LN˛Á ü≈åÁYz G∫ u¬“Á. 1 x 5 = 5

1. uƒN˛Á∫y ∆£t ©“m\z N˛ÁÆ ? oz ÃÁÊTÓå uN¿˛ÆÁútÁYy ™Áu“oy ˘Á.

2. ƒÁMüYÁ∫ ©“m\z N˛ÁÆ oz GtÁ“∫mÁÃu“o ÃÁÊTÁ.

3. uƒ∫Á™uYã“z ©“m\z N˛ÁÆ ? oz ÃÁÊTÓå uN¿˛ÆÁútÁYy ™Áu“oy ˘Á.

ü≈å 13. (E) úÏjy¬ ∆£tÁÊYz tÁzå Ã™ÁåÁsy| ∆£t u¬“Á. 1 x 5 = 5

1. N˛ÁpÁzQ - -

2. tzƒ - -

3. u™fi - -

4. EÁåÊt - -

5. å™ÀN˛Á∫ - -

(EÁ) TbÁo å §ÃmÁ∫Á ∆£t EÁzpQÁ 1 x 5 = 5

1. uYfi
a) Y™YÁ b) úzuãÃ¬ c) ∫ÊT

2. ∆ÁpÁ

a) u∆qN˛ b) ƒT| c) u∆Êúy

3. utƒÁ
a) oz¬ b) ƒÁo c) YÁ{∫ÊT
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4. §ÁT
a) ¢Ï˛¬z b) ¢˛¬Áb c) ¢˛p

5. Y“Á
a) “pt b) tÓá c) ÃÁQ∫

ü≈å 14. QÁ¬y¬ ünÆÆ \ÁzgÓå åƒyå ∆£t oÆÁ∫ N˛∫Á. 1 x 5 = 5

1. Euo 2. Euá 3. EåÏ

4 Euß 5. Eƒ

ü≈å 15. úÏjy¬ ∆£tÁÊYz Es| ÃÁÊTÁ. 1 x 5 = 5

1. ÃÏuƒáÁ

2. “ÁN˛Á∫mz

3. ÃÊ\Áƒmz

4 ™Ï§¬N˛

5. EÁ“Ázby

ü≈å 16. úÏjy¬ú{N˛y LN˛Á uƒ ÆÁƒ∫ uå§Êá u¬“Á. 1 x 6 = 6

1. ™y ÃÓÆ| §Áz¬oÁzÆ

2. ÃN|˛∆yo¬Á uÃÊ“

3. ™Á^y EÁF|

4. úÁlÆÁuƒåÁ t∆ut∆Á

Y
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INTERMEDIATE – SECOND YEAR 
SECOND LANGUAGE ARABIC: PART – II 

Model Paper – Arabic – II – 2021 
Time: 3 HOURS       MARKS: 100 

___________________________________________________________________________ 

 x 6 = 6 1           :أجب عن أحد مما ϩتي  .1
Attempt any ONE from the following: 

 :أكمل البيتين التاليين و اشرحهما 
Complete the following verses and explain them. 

.a   ّالصفات الباقية.............       ................ الله جل  
 الجارية هو الميا........        ................ السماء و رب

.b  فتی ʭخلق و دين.............          ................ ا 
 وجد.............        .............. اسعی لنيل  

.c  الدين و العمل.............          ................ أحب الله 
  الجدّ لا الكسلا.....        .............. ........أحب العلم  

 
    x 6 = 6 1  :فی لغتکمة علی الأقل کلم(100) ئةتين التاليتين فی مادنشو حدی الأإصة اکتب خلا .2

   
Write the summary of any ONE of the following poems in not less then 100 words in your 
own language. 

.a  الحمد  
.b      نبيل شاب   
.c       ايهاالطلاب 
    x 6 = 6 1    :لغتکمعلی الأقل فی  مةکل(100) ئةما في درس من الدرسين التاليين صةاکتب خلا .3

  
Write the summary of any ONE of the following lessons in not less than 100 words in your 
own language. 

.a   سورة القريش. 
.b   ماذا تحبُ ان تکون  
.c خدمة الوالدين. 
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      x 4 = 8 2      :يةالعرب ةاللغ في يةتمن الآ ةأسئل ةأجب عن أربع .4
Answer any TWO of the following questions in Arabic. 

.a  أين جلس الأصدقاء ؟  
.b دی الی البر؟يهل الکذب ه  
.c  ماذا سال اللص الأول الولد؟  
.d ب؟هأين وجدوا کيس الذ 
.e ؟ لماذا ذهب الأصدقاء الثلاثة إلى المدينة القريبة 

  
     x 3 = 6 2    :يةالعرب غةثنين فی اللبيات؟  أجب عن الإالأة هذه نشودأ أيمن  .5

Give reference to context for any TWO of the following verses in Arabic. 

.a  له الصفات الباقية     الله جل شأنه 
.b  فتى أمين ʭلي خلق و دين     أ 
.c عتزام للمعالي   أيها الطلاب قومواʪ 
.d الجارية هضی واليا    رب السمائ والأرا 
.e والرّسول ɍّأحبّ الدين والعمل    أحبّ ا  

 
       x 3 = 6 2            :يةالعرب ةالسطور ؟ أجب عن الأثنين فی اللغ هذه ی درسأمن  .6

Give reference to context for any TWO of the following sentences in Arabic. 

.a  قل أعوذ برب الناس. 
.b  أو طبيبا ، بل أحب أن أكون فلاحا ʭʪلا أحب أن أكون سائقا أو ر ʭأ. 
.c  كان رجل يذهب في صباح كل يوم  إلى المرعى و يرجع في العشاء. 
.d  وضهما من النّوم والأطفالĔ حلب الرجّل الماشية ووقف مع القدح عند الوالدين فی إنتظار

 .يبکون عند والدهم 
.e  ه الله مالا فهو ينفق منه سرا وʫالمال نعمة من الله يجب عليها الشكر، و سعيد جدا من أ

 .جهرا
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  x 3 = 6 2          : فی اللغة العربية ثنينأجب عن الإ .7
Answer any TWO of the following questions in Arabic. 

.a هل الله جلّ شأنه ؟  
.b من يحب الشاعر ؟   
.c كيف أخلاق الفتى ؟  
.d ما هي زينة المرء ؟ 
.e  ال ؟خصماذا خير   

   

 x 3 = 6 2          : فی اللغة العربية ثنينأجب عن الإ .8
Answer any TWO of the following in Arabic. 

.a أين نزلت سورة القريش ؟   
.b ما هو الحديث الشريف ؟   
.c هل دانش يحب أن يكون غنيا كبيرا ؟  
.d من العاقل ؟ 
.e ماذا قالت فاطمة ؟ 
  
 x 1 = 5 5     :  ةواحد مةبکل فی اللغة العربية يةتالآ ةالأسئلعن أجب  .9

Answer the following questions in ONE word. 

.a  النملة ؟هل الله يبصر  
.b أ تحب الدين و الدنيا ؟  
.c من هو ذو رحمة ؟  
.d  د؟Đماذا تفعل لنيل ا   
.e أي شئ لازم للقوم ؟   

 
    x 1 = 5 5      :ةواحد ةبکلم فی اللغة العربية يةتالآ ةالأسئلعن أجب  .10

Answer the following questions in one word. 

.a هل سورة الفلق مكية ؟  
.b  يدخل الجنة ؟من لا  
.c ماذا قال أبرار ؟  
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.d عثمان كان غنيا ؟ ʭهل سيد  
.e كيف كان الرجل ؟  

  

     x 5 = 5 1             :مما ϩتي أجب عن و احد  .11
Attempt any ONE of the following: 

.a اكتب رسالة إلى والدك المحترم لإرسال النقد لدفع الرسوم: 
Write a letter to your father requesting him to send the money for the payment of fee: 

.b  التفاصيل لشخصيتک لمنصب المترجم اكتب: 
Write your Bio data for the post of a translator. 

 

  :سئلة الآتيةأجب عن الأ .12
Answer the following questions: 

.A هʭ4          عينّ المركب الإضافي في أربعة جمل مذكورة أد x 1 = 4 

Identify possessive phrase in any FOUR of the sentences: 

.a ۔ محمد رسول الله 
.b  ۔الکعبة بيت الله  
.c  هذا قلم المدرس.  
.d  ِهٰذَا كلامُ الله.  
.e نʪسيارة المدير من اليا.  
.f  هذا كتاب حامد. 

  

     .B أ ةذکور إسمية من الجمل المجمل  ةربعأعينʭ4       هد x 1 = 4 

Identify any FOUR Nominal Sentences from the following: 

.a دخل الطالب الصف  
.b الاعمال الصالحة سبب دخول الجنة  
.c سجد الامام فی المسجد  
.d القديمة رخيصة ۃالسيار  
.e الطالب کسلان  
.f الصدق بر  
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 x 4 = 8 2          :ثنين فقطأجب عن الإ .13
 Attempt any TWO of the following: 

.a  لأمثلةʪ اکتب الجزئين من المركب التوصيفي .  
.b   لأمثلةʪ  اکتب الجزئين من المركب الإضافي.  
.c  لأمثلةʪ اكتب أجزاء الجملة الفعلية.   
.d  لأمثلةʪ اکتب الجزئين الجملة الإسمية. 
  :سئلة الآتيةأجب عن الأ .14

Answer the following questions: 

.A 4    :حول أربعة افعال من الفعل المضارع إلى فعل الأمر من التالية x 1 = 4 

Convert any FOUR of the Present Tense into Imperative form: 

.a   ُتَكْتُب: ..................  

.b  ُتجَْلِس  :  ..................  

.c  ُتَذْهَب  :  ..................  

.d  ُتَـرْفَع   :  ..................  

.e  ُتَـنْصُر  :  ..................  

.f  َتَـفْتَح  :  .................. 
  

  .B4  :حول أربعة افعال من الفعل المضارع إلى فعل النهي من الأفعال التالية x 1 = 4 
Convert any FOUR of the Present Tense into Prohibitive Form: 

.a  ُتَدْخُل :  ..................  

.b  ُتَكْتُب  :  ..................  

.c  تَـقْرَأ  :  ..................  

.d  ُتَـرْفَع  :  ..................  

.e  ُتجَْلِس  :  ..................  

.f  ُتَسْجُد  :  ..................  
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 x 1 = 6 6     املأ ستة فراغات بكلمات مناسبة مذکورة أدʭه  15.

Complete any SIX of the following sentences using the words given below: 

.a   کتاب............. 
.b  حديقة............ 
.c ذھυ  ............ۃمقصور 
.d ط ʭلب اا............ 
.e   ............البنک رجل صالح 
.f  ............سر سورʮالعصر ۃ 
.g  ............لطالب الفصل ا 
.h  ............ علی الکتاب  

  )م ، جديدھالحيواʭت، مدير، الولد، مدرسة، دخل، لاتکتب، ف(
  

      x 1 = 5 5      :قم بتصحيح خمس جمل من الآتية 16.

Correct any FIVE of the following sentences: 

.a  هذه قلم المدرس. 
.b  هذا ساعة حامد. 
.c  كيف المدير الكلية. 
.d  القلم الولد في الجيب. 
.e  التفاح فاكهة لذيذة. 
.f ولد كبار. 
.g  هي مسلم. 
.h  هذه بنت صالحات. 
  

  
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INTERMEDIATE – FIRST YEAR 
SECOND LANGUAGE ARABIC: PART – II 

Model Paper – Arabic – I - 2020 
Time: 3 HOURS       MARKS: 100 

 

      x 1 = 6 6    :اکتب بيتين من احدی الانشودتين التاليتين 1.

Write two lines from any ONE of the following poems. 
.a  طلع البدر علينا 
.b فضل الام  
.c الله معي 

 :فی لغتکمالاقل  علیکلمة (100)تين التاليتين فی مائة داکتب خلاصة احدی الانشو  2 .
          6 x 1 = 6      

Write the summary of any ONE of the following poems in 
not less then 100 words in your own language. 

.a الله معي 
.b الكتاب 
.c طلع البدر علينا 

  :لغتکمعلی الاقل فی کلمة   (100)مائة  ۔اکتب خلاصة درس من الدرسين التاليين في  3 .
               6 x 1 = 6      

Write the summary of any ONE of the following lessons in not 
less then 100 words in your own language. 

.a سورة الفاتحة  
.b تلنغانة الذهبية 
.c الحوار 
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       x 4 = 8 2     :أجب عن أربعة أسئلة من الآتية  فی اللغة العربية  4 .
Answer any FOUR of the following questions in Arabic. 

.a ما كان إسم والد خديجة الكبرى؟ 
.b من كتب رسالة إلى ملكة سبا؟  

 .c متى ولد عمر بن عبد العزيز؟  
.d  متى رجع خالد إلى بيته ؟ 
.e  من دقّ جرس الباب ؟ 
.f  ماذا قال عمر بن عبد العزيز لبناته ؟  
.g  ما كان اسم ابي سليمان عليه السلام؟  
.h   سافررسول الله للتجارة ؟إلى أين 
.i كم آية نزلت في غار حراء ؟  

.j هل آمنت بلقيس مع سليمان عليه السلام ؟ 

 x 3 = 6 2 :مʧ اȒٔ انʨʷدۃ υʚμ الابॽات؟ أجʖ عʧ الاثʧʽʻ فی اللغة الاعॽȃʛة5 . 

Give reference to context for any TWO of the following 
verses in Arabic. 

.a   الله في حسي وفي شعوري    قلبي وفي ضمـيريالله في  
.b من ثنيــات الوداع   طلـع البـــدر علينا   
.c لا يفى امى الجزاء    كل ما فى الكون عندي  
.d  ْكِتَابيِْ أنَْتَ عِنْدِي ʮَ        ُهَا الثِّمَار  رَوْضَةٌ فِيـْ
.e الله في صمتي وفي تعبيري  الله في جهدي وفي سـروري  
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 x 3 = 6 2   :العربية  ةالسطور ؟ أجب عن الأثنين فی اللغ هذهمن أی درس     6 .

Give reference to context for any TWO of the following 
sentences in Arabic. 

.a  َّʮِکَ نَـعْبُدُ وَ ا  َّʮِکَ نَسْتَعِينُۡ ا O   

.b     ɯ عشر سنين ، فما قال لي أف قط صلى الله عليه وسلم خدمت رسول الله : قال أنس.   
 .c  د؟ راشد : الأستاذʪوصلت إلى الهند قبل شهرين و إلى : متى وصلت إلى الهند و إلى حيدرآ

   .حيدرآʪد قبل أسبوع 
.d   رسيها كثيرو الجامعات ، و عدد دااللغة العربية تدرس كمادة دراسية في المدارس و الكليات. 

.e  ْفَصَلِّ لِرَبِّکَ وَ انحَْر O 

      x 3 = 6 2      :  فی اللغة العربية أجب عن الاثنين 7 .
Answer any TWO of the following questions in Arabic. 

.a هل الله في الجهد و السرور؟  
.b     من هو البدر فى هذه الأنشودة ؟   

 .c من تدعو الى الله ؟  
.d   لليل ؟منʪ السمير 
.e هل وجب الشكر علي أمته ؟  
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      x 3 = 6 2      :  فی اللغة العربيةأجب عن الاثنين  8 .
Answer any TWO of the following in Arabic. 

.a    الاخلاص ؟كم آية في سورة  
.b      كيف كان اهتمام الرسول صلى الله عليه و سلم بنظافة بدنه ؟   

 .c  أبيك ؟ما إسم  
.d  ماهي عاصمة ولاية تلنغانة ؟ 
.e أ ما قرأت القرآن ؟ 
  

      x 1 = 5 5      :واحدة  ةبکلم ةالاتي ةالأسئلعن أجب  9 .

Answer the following questions in ONE word. 
.a   هل تذكر الله في الصبح و الإمساء ؟  
.b     ؟لماذا وجب الشکر علينا  

 .c من تقبل الدعاء ؟  
.d  لليل ؟ʪ من السمير   
.e  ب للمعالى و الفخار ؟ʪ أي شئ   

  

      x 1 = 5 5      :واحدة  ةبکلم ةالاتي ةالأسئلعن أجب  10.

Answer the following questions in one word. 
.a    ؟" مالك يوم الدين" من هو  
.b      صلى الله عليه وسلم رحمة للحيوان؟أ كان رسول الله  

 .c  ؟ لككم أختا   
.d  ؟ متى أنشأت ولاية تلنغانة   
.e  د؟ʪمن عمر حيدرآ 
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.11    ॽارۃ الآتॼɻأ الʛل ةاقʯالأس ʧع ʖأج ʦا  فی اللغ ةثνʽی تلʱةال ॽȃʛةالع : 
 5 x 1 = 5       
Read the passage carefully and Answer the questions given 
below  in Arabic. 

أول سورة في القرآن الكريم ، و لها أسماء كثيرة و فضائل غزيرة ،  سورة الفاتحة: سورة الفاتحة 
فاتحة الكتاب ، و سورة الحمد ، و سورة الصلاة ، و أم الكتاب ، و : و من أسمائها الشهيرة 

أم القرآن ، و أساس القرآن ، و سورة الكنز ، الوافية ، الكافية ، الدعاء ، الشفاء ، السبع 
قال رسول الله صلى الله عليه و : رد أحاديث كثيرة فى فضائلها منها و و . المثاني و غيرها 

  .'' أفضل الذكر لا إله إلا الله ، و أفضل الدعاء الحمد ƅ'': سلم 

  .الطهور شطر الإيمان ، و الحمد ƅ تملأ الميزان 

  .التوحيد ثمن الجنة ، و الحمد ثمن كل نعمة 

  .فاتحة الكتاب تعدل ثلثي القرآن 

  .أ فاتحة الكتاب فكأنما قرأ التوراة و الإنجيل والزبور و الفرقان من قر 

في فضيلة الفاتحة في تفسيره '' كيسودراز''و قال شيخ الإسلام سيد محمد الحسيني المعروف بـ 
  :الملتقط 

  .، لأĔا كإقليد أقفال الحاجات '' فاتحة الكتاب''سميت بـ 

  :أسئلة 
  أذكر أسماء القرآن الشهيرة ؟ – 1 
  ما هو أفضل الدعاء ؟ – 2 
  ما هو ثمن كل نعمة ؟ – 3 
 ما هو افضل الذكر ؟  – 4 
 ماذا قال شيخ الإسلام سيد محمد الحسيني عن فضل الفاتحة ؟ –5  
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 ؟  ةالاتية أجب عن الأسئل  12.

  Answer the following questions.  

.A 4)    (  فراغات بالحروف الجاره المذکورة ادناه ةاملأ اربع x 1 = 4 
A.  Complete any FOUR of the following sentences using 

prepositions given below: 
(a)  البيت ........... الولد.  

(b) المسجد .......... ب احمد هذ. 

(c)  المدير ......... الحاسوب. 

(d)  لبيتا  ..................الرجل 

(e)  ۔الفصل  ..............خرج الطالب 

(f)   ۔المکتب .............. الکتاب 
  )، على فی من ، إلى ، فى ، ل ، (  

     .B جمل مذکورة ادناه ةعين المذکر والمونث فی اربع    (4 x 1 = 4) 
 B.   Identify Masculine & feminine genders in  
        any FOUR of the following. 

(a)  ٌسعيد 
(b)  ٌماجد 
(c)  ٌَبة  طبَيِـْ
(d)  ٌمهندسة 
(e)  ٌطالب 
(f) خريطة 
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 x 4 = 8 2                              :أجب عن الاثنين فقط   13.
Attempt any TWO of the following. 

.a   ۔ام الاتية فی الجمل المفيدةهاستخدم ادوات الاستف 
  )ل، أينهمن، کيف، ماذا، متی ، لمن ، ای ، (

.b      بينّ اقسامهما هو الضمير؟.   
 .c أكتب خمسة أمثلة لإسم الإشارة للبعيد.   

.d   اكتب بعض أسماء المذكر. 

  ةالی النکرة ومن النکرة الی المعرف ةمن المعرف ةمن الاتي ةحوّل أی ثماني    14.
    8 x 1 = 8 
Convert any EIGHT definite ) فةالمعر( into indfinite ةالنکر( ) and 
indfinite ةالنکر( ) into definite ) فةالمعر( . 

(a)  ُالقلم  
(b)  ُدفتر 
(c)  ُورق 
(d) البيت 
(e)  ُالباب 
(f) مدير 
(g) لبنُ ال 
(h) الرجل 
(i) مدرس 
(j) خبز 
(k) لطفال 
(l) الطبيب 
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  x 1 = 6 6     :مفيدة  ةجمل عربي ستة ءلبنا ةاستخدم الکلمات الآتي  15.
Use the following words to make SIX meaningful sentences in 
Arabic. 

.a   کرسی  
.b     قلم  

 .c کتاب   
.d  مسجد 
.e خادم 
.f غنی 
.g الاستاذ 
.h ةمدرس 
.i الباب 
.f جديد 
.g قديم 
.h قريب 

   

      x 1 = 5 5   : ةالعربي ةاللغالی    ةترجم الجمل الآتي 16.

Translate the following sentences into Arabic. 
 

1. The book is on the table. 
2. The principal is in the office. 
3. The pen is in the pocket. 
4. The flower is on the tree. 
5. Hamid is an engineer. 
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Part - III

BOTANY, Paper - I

(English Version)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 60

Section - A 10×2=20

Answer ALL the questions (very short answer type)

1. What does ICBN stand for?

2. State two economically important uses of heterotrophic bacteria.

3. Why is Mendel considered as the father of Genetic?

4. Why are bryophytes called the amphibians of the plant kingdom?

5. Define placentation. What type of placentation is found in Dianthus?

6. What is Omega Taxonomy?

7. Write the floral formula of solanam plant.

8. What is middle lamella made of ? What is its functional significance?

9. Give one example for each of amino acids, sugars, nucleotides and fatty acids.

10. Define population and community.

Section - B 4×6=24

Answer any SIX questions (short answer type)

11. Explain Binomial Nomenclature.

12. Give a brief account of Dinoflagellates.

13. Differentiate between red algae and brown algae.

14. Describe the four type of placentations found in flowering plants.
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15. What is meant by emascutation? When and why does a plant breeder employ this

technique?

16. Discuss the various types of pollen tube entry into ovary with the help of diagram.

17. Give an account of floral diagram.

18. Describe the essential organs of solomascar.

19. Write brief account on polysaccharides.

20. Explain prophase I of meiosis.

21. Enumerate the morphological adaptations of xerophytes.

22. Enumerate the morphological adaptations of hydrophytes.

Section - C 2×8=16

Answer any FOUR questions (short answer type)

23. With neat labelled diagram, describe the parts of a mature angiospermic embryosac

mention the role of synergids.

24. Write a brief account on agents of pollination.

25. Describe the structure of the following with the help of labelled diagram.

(a) Nucleus       (b) Centrosome

26. Describe the T.S. of Dicot root.
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Part - III

BOTANY, Paper - I

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 60



 


     


             


 


 



I.  

 I.C.B.N. 

 

 

 

 
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 

 

 

 

 



II.  

 

 

 

 

 

 

 

 

 

 

 

 



III. 

 


 

 

 

 
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Part - III

BOTANY, Paper - II

(English Version)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 60

Section - A 10×2=20

Answer ALL the questions (very short answer type)

1. Distinguish between apoenzyme and cofactor.

2. What is meant by bolting? Which hormone causes bolting?

3. Explain the terms phenotype and genotype.

4. Who proposed the chromosome theory of inheritance?

5. Define step codon. Write the stop codons.

6. What are the components of a nucleotide?

7. What are molecular scissors? Where are they obtained from?

8. How can you differentiate between exonuclease and endonuclease?

9. Why do we prefer to call secondary waste water treatment as biological treatment?

10. Name any two industrially important enzyme.

Section - B 6×4=24

Answer any SIX questions (short answer type)

11. Write briefly about enzyme inhibitors.

12. Write any four physiological effects of cytokinins in plants.

13. Define RQ, write a short note on RQ.

14. Differentiate between the following:

(a) Dominant and recessine (b) Homozygous and heterozygous
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15. Explain the co-dominance with example.

16. Explain the law of dominance with example.

17. Mention the advantage of selecting pea plant for experiment by Mendal.

18. Define transformation in Griffita’s experiment. Discuss how it helps in the

identification of DNA as genetic material.

19. What are the differences between DNA and RNA.

20. Write the important features of Genetic Code.

21. Write short notes on restriction enzyme.

22. What are the different methods of insertion of recombinant DNA into the hort cell?

Section - C 2×8=16

Answer any FOUR questions (short answer type)

23. Explain Calvin cycle.

24. Explain the reactions of Kreb’s cycle.

25. Explain briefly the various processes of recombinant DNA Technology.

26. Write brief essay on microbes in sewage treatments.
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Part - III

BOTANY, Paper - II

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 60


 


     


             


 


 



I.  

 

 

 

 

 

 
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 

 

 


 



II.  

 

 

 RQRQ

 



 

 

 

 DNA


 DNARNA

 

 

 DNA



III. 
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TSBIE - MODEL PAPER
CHEMISTRY - I

Time: 3 Hours                Max.Marks: 60
___________________________________________________
Each Question Carries TWO marks. 2 x 10 = 20

SECTION - A
1. What is Lanthanide Contraction? Give one of its consequences.

2. Which of the two ions Ca2+ or Zn2+ is more stable and why?

3.  What is Boltzman’s constant? Give its value.

4. Calculate the weight of 0.1 mole of sodium carbonate.

5. What is homogenous equilibrium? Write two homogenous reactions.

6. Lithium salts are mostly hydrated. Why?

7. What happens when magnesium burnt in air?

8. Diamond has high melting point – explain.

9. What is the effect of water on tin (Sn)?

10. Write the structure of a) Neopentane b) Trichloro ethanoic acid.

SECTION - B
Each Question Carries FOUR marks. 6 x 4 = 24

11. Explain the differences between emission and absorption spectrum.

12. Balance the following reaction by ion electron method.

2 2 3 2
2 7 3 4

HCr O SO Cr SO
     

13. Write the postulates of Kinetic Molecular theory of gases.

14. State Boyl’es law, Charle’s law and Avagadro’s law and derive Ideal

gas equation.

15. Chemical analysis of a carbon compound gave the following percent-

age composition by weight of the elements present, carbon = 10.06%,

hydrogen = 0.84%, chlorine = 89.10%, Calculate the empirical formula

of the compound.



16. State and explain Hess’s law of constant heat summation.

17. Drive the relation between Kp & Kc for the equilibrium reation.

N
2
 (g) + 3H

2
 (g)   2NH

3
 (g)

18. What is conjugate acid-base pair? Illustrate with example.

19. How the hardness of water is removed by Calgon method.

20. What are electron deficient compounds? Is AlCl
3
 an electron deficient

species?     Explain.

21. What do you understand by a) Allotropy  b) Inert pair effect    c)  Cat-

enation.

22. Give two examples each for poisition and functional group isomerism.

SECTION - C
Each Question Carries EIGHT marks. 2 x 8 = 16

23. How are the quantum numbers n, l and m arrived at? Explain the sig-

nificance of these quantum numbers.

24. Define IE
1
 and IE

2
. Why is IE

2
 > IE

1
 for an atom? Dicsuss 3 factors

effecting IE of an element.

25. Define hybridisation. Explain different types of hybridisation involv-

ing s and p orbitals.

26. Give 2 methods of prepration of Acetylene. How does it react with wa-

ter and Hydrogen bromide.
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CHEMISTRY, Paper - I

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 60



 


     


             


 


 



I.  

 

 Ca2+, Zn+2

 

 
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 

 

 

 

 (Sn)

 

 



II.  

 

 

Cr
2
O

7
2– + SO

3
–2   H

  Cr+3 + SO
4
2–

 

 

 






 

 K
p
, K

c


N
2 

+ 3H
2

     2 NH
3

 

 

      AlCl
3
    



Turn Over
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 

  

 



III. 

 n, l, m

 IE
1
, IE

2
IE

2
 > IE

1 
IE



 s, p

 




TSBIE - MODEL PAPER
CHEMISTRY - II

Time: 3 Hours                Max.Marks: 60
___________________________________________________
Each Question Carries TWO marks. 2 x 10 = 20

SECTION - A
1. What is Frenkel defect?

2. How do you distinguish between Crystal lattice & Unit Cell.

3. Calculate the molefraction of H
2
SO

4
 in a solution containing 98% of H

2
SO

4
 by

mass.

4. What are isotonic solutions.

5. What are Micelles? Give one example?

6. Why H
2
O a liquid while H

2
S is gas?

7. Write any two uses of Argon.

8. What is an ambidentate ligand? Give example?

9. Write the biological functions of Nucleic acids.

10. Write the reaction showing -halogenation of Carboxylic acid and give its name.

SECTION - B
Each Question Carries FOUR marks. 6 x 4 = 24

11. Derive Bragg’s equation.

12. Give the construction and working of a standard hydrogen electrode with a neat

diagram.

13. What are different types of adsorption. Give any four differences between

Characteristics of these different types.

14. Explain Lyophilic and Lyophobic sols with one example each.

15. What are interhalogen compounds? Give some examples to illustrate the definition.

How are they classified.

16. How are XeF
2
 and XeF

4
 prepared. Give their structures.

17. Explain Werner’s theory of Coordination Compounds with suitable examples.

18. Write any four characteristic properties of transition elements.



19. Write notes on Amino acids.

20. Explain the mechanism of Nucleopilic bimolecular substitution (SN2) reaction with

one example.

21. Explain the acidic nature of phenols and compare with that of alcohols.

22. Write the reactions of (i) aromatic and (ii) aliphatic primary amines with nitrous

acid.

SECTION - C
Each Question Carries EIGHT marks. 2 x 8 = 16

23. a) What is relative lowring of vapour pressure? How is it useful to determine the

molar mass of a solute.

b) Vapour pressure of water at 293k is 17.535 nm Hg. Calculate the vapour pres-

sure of the solution at 293k when 25g of glucose in dissolved in 450g of water.

24. a) State and explain Kohlrausch’s law of independent migration of ions.

b) Write differences between order and molecularity.

25. a) How is ammonia manufactured by Haber’s process.

b) How is Ozone prepared? How does it react with the following:

i) pbs ii) KI iii) Hg iv) Ag

26. With a suitable example write equations for the following:

a) Kolbe’s Reaction

b) Riemer Tiemann Reaction

c) Williamson Ether Synthesis

d) Aldol Condensation
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Part - III

CHEMISTRY, Paper - II

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 60



 


     


             


 


 



I.  

 

 

 (w/w)H
2
SO

4 
H

2
SO

4


 

Turn Over
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

III. 

          


 293K17.535 mm Hg.
293K

  

 

  

 

(i) PbS (ii) KI (iii) Hg (iv) Ag

 








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BOARD OF INTERMEDIATE EDUCATION, HYDERABAD  

Model Question Paper Commerce -I 

Time: 3 Hrs    PART-I(50 Marks) Max Marks:100   

  
 

                          Section –A                              2x10=20 

I Answer any two (2) of the following questions in not exceeding 
40 lines each question carries 10 Marks  
 

1. Define sole proprietorship and state its features ? 
2. Define partnership. Discuss its advantages and disadvantages ? 
3. Differentiate between a private company and a public company ? 
4. What are the various factors that determine the selection of sources of 

finance ?   
                       

                       Section-B                                             4x5=20 
II Answer any four (4) of the following questions in not exceeding 

20 lines each, each question carries 5 Marks.  
5. Define Business. Explain its characteristics. 
6. Define trade and explain various types of aids-to-trade ? 
7. What are the limitations of sole trader ? 
8. What are the different kinds of partnership? 
9. Write any five advantages of a joint stock company? 
10. What are the functions of a promoter ? 
11. Briefly explain the registration process of MSMEs? 
12. What are the benefits of e-business to customers?  
                           

                          Section-C                                             5x2=10 
 Answer any five (5) of the following questions in not exceeding 

5 lines each, each question carries 2 Marks.  
 

13. What is the Profession ? 
14. What is the Entrepot trade ?  
15. What is the Employment ? 
16. Who is Active partner?  
17. What is the Government company? 
18. What is the Capital subscription ? 
19. What is the Long –term finance ? 
20. What is the Micro enterprise ? 
21. What is the e-trading ? 
22. State Service Enterprise. ? 



 PART-II (50 Marks)  
 Section -D 
 Answer the following question                                  1x20= 20  
23. From the following Trial Balance of Mahindra Traders, Prepare Final 

Accounts for the Year ended 31.12.2019 
 Particulars Debit Rs.  Credit Rs. 
 Capital   32,000 
 Salaries  1,000  
 Purchases  20,000  
 Purchase Returns  400 
 Sales  25,000 
 Cash 5,000  
 Wages  1,200  
 Factory Rent  200  
 Insurance  750  
 Carriage  400  
 Office expenses  800  
 Carriage outwards  200  
 Machinery 10,000  
 Furniture  7,000  
 Discount allowed  450  
 Discount received   1,600 
 Goodwill  5,000  
 Opening stock 2,000  
 Debtors  9,000  
 Creditors  4,000 
 Total 63,000 63,000 
 Adjustments:-  
 1. value of closing stock Rs. 2,500 

2. Prepaid Insurance Rs. 250 
3. outstanding salaries Rs. 300 

  
Section –E 

 
 Answer any one of the following questions                     1x10=10 
24. Prepare Three Column cashbook from the following particulars  
 2019 July 

1st  
Cash in hand  
Cash in Bank 

  6,000 
10,000 

 5th  Cash sales    1,900 
 7th  Issued chequee to D-Mart 

     Discount Received 
  1,800 
     200 

 8th  Received cash from Sai Traders  
     Discount allowed  

  1,850 
     150 

 14th  Cash withdrawn from bank for office use       550 
 22nd  Cash purchases       600 



 29th  Paid into bank     800 
 30th  Salaries paid by chequee  2,400 
 31st  Bank charges as per bank passbook      50 
  
25. Prepare a bank reconciliation statement of S.V. Traders and find the 

balance as per pass book as on 31.12.2019. 
 i) Cash book balance as on 31.12.2019 is Rs. 62,000 

ii) Cheques amounting to Rs.18,000 issued but not presented for 
payment  

iii) A cheque for Rs.16,000 deposited and was returned 
dishonored.  

iv) Interest on investments Rs.2,200 was collected by bank but 
no entry is made in the cashbook. 

v) Bank charges debited in the passbook only Rs.150 
  
26. Describe the causes of disagreement between the balance shown in the 

cashbook and passbook. 
  
 Section-F 

 
 Answer any two of the following questions                    2x5=10 
27. State any 5 advantages of accounting  
28. State the rules of debit and credit with examples  

 
29. Prepare Sudha account from the following  
 2019 Feb.  1st  Amount due from Sudha Rs.8,000 
                4th  Goods sold to Sudha Rs.11,000 
 12th  Goods returned by Sudha Rs.4,000 
 16th  Cash received from Sudha Rs.3,000 
 22nd  Received cheque from Sudha Rs.6,000 
 28th Sudha account settled with 10% discount  
    
30. Explain the various types of subsidiary books  

 
31. Prepare simple cashbook from the following transactions  
 2019 Feb. 1st  Balance of Cash Rs.7,000 
 10th  Bought goods Rs.2,500 
 15th  Sold goods for Cash Rs.4,700 
 17th  Paid rent  Rs.1,000 
 18th  Withdrawn cash for personal use  Rs.500 

 
 

32. What are the errors disclosed by Trial Balance. 
 
 



 Section -G 
 Answer any five of the following question         5 x 2 =10 
33. What is transaction ? 
34. Explain business entity concept of accounting ? 
35. State accounting equation ? 
36. Journalize the following transaction  
 2019 Dec.       1st  Commenced business with cash Rs.60,000 
 6th  Purchased from Raju Rs.15,000 
 17th  Received cheque from Mahesh Rs.12,000 
 30th  Paid cheques  Rs.9,000 
  
37. Trade discount ? 
38. Contra Entry ? 
39. Define Trial Balance? 
40. Write two errors which are not disclosed by trial balance?   
41. What is the meaning of adjustment ? 
42. Depreciation? 
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BOARD OF INTERMEDIATE EDUCATION, HYDERABAD  
Model Question Paper Commerce -II 

Time: 3 Hrs    PART-I (50 Marks) Max Marks:100   

  
 

                          Section –A                     2x10=20 

I Answer any two (2) of the following questions in not 
exceeding 40 lines each question carries 10 Marks  
 

1. What is stock Exchange ? Explain its functions ? 
2. Define banking & Explain its primary functions ? 
3. Define Entrepreneur & Explain the characteristics ? 
4. Explain the principles of management ?   
                       

                       Section-B                                             4x5=20 
II Answer any four (4) of the following questions in not 

exceeding 20 lines each, each question carries 5 Marks.  
5. What are the differences between primary market & Secondary 

market? 
6. What are the various types of Retail Loans? Explain. 
7. Define insurance ? explain the secondary functions of insurance. 
8. How the special support is extended by the Government of Telangana 

to the SC/ST entrepreneurs in our state? 
9. What are the features of internal trade? 
10. How internal trade & international trade differ ? 
11. Distinguish between unity of command & unity of Direction. 
12. Define organizing & explain the steps in organizing.  
                           

                          Section-C                                             5x2=10 
 Answer any five (5) of the following questions in not exceeding 

5 lines each, each question carries 2 Marks.  
 

13. What are Mutual Fund ? 
14. Who is a Stag ?  
15. What is Savings Account ? 
16. What is an Overdraft ?  
17. What is whole life policy ? 
18. Who are Fabian Entrepreneurs ? 
19. What are Bridge loans ? 
20. What is the wholesale trade ? 
21. Who are Cheap jacks ? 
22. What do you mean by Staffing? 



 PART-II (50 Marks)  
 Section -D 
 Answer the following question                                  1x20= 20  
23. Raju and Rao are partners sharing profits and losses in the ratio of 

3:2. Their balance sheet as on 31st March 2020 was as under.  
 Liabilities  Amount  Assets            Amount  
 Sundry creditors  1,50,000 Cash at bank 2,00,000 
 Bills payable  2,00,000 Sundry Debtors  2,00,000 
 General Reserve  1,00,000 Stock  3,00,000 
 Capitals:  Furniture  1,00,000 
             Raju 4,00,000 Machinery  1,00,000 
             Rao  3,00,000 Lang & Building 2,50,000 
  11,50,000  11,50,000 
 They decided to admit Mr. Reddy into partnership by giving him 1/4th 

share in future profits of the firm on the following conditions; 
 a. Reddy is to bring Rs.2,50,000 as capital and Rs.1,00,000 as    

goodwill in cash  
b. stock and furniture to be depreciated by 10%  
c. make a provision of 5% on sundry debtor.  
d. Land & Buildings are to be appreciated by 20%  

Prepare necessary ledger accounts and show the new balance sheet.  
  

Section –E 
 Answer any one of the following questions               1x10=10 
24. Distinguish the differences between the consignment & sale.  
25. Sneha of Secunderabad sent sports material worth Rs.60,000 to 

Amrapali of Adilabad on consignment basis. Sneha spent Rs. 2,000 for 
insurance. Amrapali while taking the goods spent Rs.1,000 for 
transport Rs.500 for godown rent 80% of Stock was sold out for 
Rs.95,000. Her commission is 5%. The balance due was sent by bank 
draft. Prepare necessary ledger accounts in the books of Sneha.   

26. From the following receipts payments accounts prepare Income of 
Expenditure A/c of Sports club Karimnagar.  

 Receipts  Amount  Payments  Amount  
 To Subscriptions  15,000 By Land  30,000 
 To Donations  50,000 By Buildings  40,000 
 To Legacies  10,000 By Furniture  10,000 
 To Entrance fee 5,000 By Sports material  11,500 
 To Life Membership 

fee 
3,000 By Sports Expenditure  6,000 

 To Sports income 17,000 By General Expenses 2,000 
 To Sundries  5,000 By Magazines  2,000 
 To Sale of Old News 

Papers  
500 By Balance C/d 4,000 

  1,05,500  1,05,500 



 Addl. Information : 
 1. Capitalize 50% of the Donations, legacies, entrance fee & life 

membership fee. 
2. Subscriptions still outstanding amount to Rs.5,000 
3. Depreciate sports material & furniture by 10% 

  
Section-F 

 
 Answer any two of the following questions                   2x5=10 
27. Srikanth purchased a machine on 1st April 2016 for Rs. 40,000. 

Depreciation is provided on machinery at 10% on straight line 
method. Prepare machinery account for four years. 

28. What is donation? Explain the types of donations. 
 

29. From the following details prepare Receipts & Payments 
accounts of the Hyderabad club for the year ending 31.3.2020.  

 Opening cash in hand  Rs.2,800 
 Opening cash at bank  Rs.5,600 
 Subscriptions received  Rs.29,000 
 Donations collected  Rs.8,000 
 Honorarium paid  Rs.6,000 
 Rent paid  Rs.4,000 
 Tournament expenses  Rs.2,000 
 Shares purchased  Rs.2,000 
 Entrance fee received  Rs.6,000 
 Paid for internet connection  Rs.1,500 
 Dinner expenses   Rs.1,000 
 Cash in hand at the end  Rs.2,000 
   
30. What are the causes of depreciation?  
31. Explain five advantages of computerized accounting   
32. Explain any five differences between Manual and Computerized 

Accounting system. 
 Section –G 

 
 Answer any five of the following question         5 x 2 =10 
33. What is diminishing balance method?  
34. What is consignment? 
35. What is delcredere commission. 
36. What is subscriptions  
37. What do you mean by legacy  
38. What is goodwill  
39. What is ratio of gaining  

 
 



40. A & B are sharing profits & losses in the ratio of 4:3 “C” was admitted 
into business for 1/8th share in future profits calculate new profit 
sharing ratio.  

41. What is computerized accounting?  

42. What is the feature of scalability?  
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TELANGANA STATE BOARD OF INTERMEDIATE EDUCATION, 
HYDERABAD 

Model Question Paper Commerce-II (OLD) 
PART-I (50 Marks)              Max Marks: 100 

Time: 3 Hrs.                                          
Section – A 

2x10 = 20 
 

I. Answer any two (2) of the following questions in not exceeding 
40 lines each question carries 10 Marks. 
 

1. Define Banking and explain the functions of Banking? 
2. What is Stock Exchange? Explain its functions. 
3. Explain the Principles of Management? 
4. What are the Characteristics of entrepreneurs? 

 
Section – B 

4x5=20 
 

II. Answer any Four (04) of the following questions in not 
exceeding 20 lines each question carries 05 Marks. 
 

5. What are the different forms of Bank lendings? 
6. What are the differences between Primary Market and Secondary 

Market? 
7. State the features of Insurance? 
8. Explain the special provisions enacted by the Telangana State for the 

MSMEs. 
9. What are the advantages of multiple shops? 

   10. What are the benefits of International Trade? 
   11. Name any five characteristics of Management? 
   12. What are the steps taken by Management in the  Planning  
         process? 

Section – C 
5x2=10 

 
III. Answer any Five  (05) of the following questions in not 

exceeding 05 lines each question carries 02 Marks. 
 

13.  What is Private Placement? 
14.  Who is Lameduck? 
15.  What is Assurance? 
16.  What is Fire Insurance? 
17.  What is Endowment Policy? 
18.  Who is Adoptive entrepreneur? 
19.  What are Bridge Loans? 
20.  What is Retail Trade? 
21.  What is Street Shops? 
22.  Explain the meaning of Control? 

 



 
PART-II (50 Marks) 

Section – D 
Answer the following questions.          1x20 = 20 
 
23.  The following was the balance sheet of Ram and Rahim, who were  

 Sharing Profits and Losses in the ratio of 2:3.  Their balance sheet  
 as on  31 March 2019 was as under. 
 

Liabilities Amount  
Rs. 

Assets Amount Rs. 

Bills payable 
 
Trade creditors 
 
General Reserve 
 
P&L a/c 
 
Capitals: 
Ram 
Rahim 
 

25,000 
 

50,000 
 

20,000 
 

10,000 
 
 

50,000 
30,000 

Bank 
 
Debtors 
 
Stock 
 
Investments 
 
Furniture 
 
Buildings 

10,000 
 

40,000 
 

30,000 
 

20,000 
 

25,000 
 

60,000 

 1,85,000  1,85,000 
 
On 1st April 2019, they agreed to admit Mr.Peter as new partner for 1/5th 
share in profits on the following terms: 
 

(a) Peter should bring Rs.40,000 for capital and Rs.20,000 for goodwill in 
cash. 

(b) Depreciates furniture by 5% and stock by 10%. 
(c) Appreciate buildings value by 15%. 
(d) Provide for bad debts at 5% on debtors. 

 
Give necessary ledger accounts and opening balance sheet of new firm. 
 

Section – E 
Answer any one of the following questions.       1x10 = 10 
 
24. Distinguish the differences between Consignment and Sales? 
25. Krishna of Mumbai and Gopal of Chennai are in consignment business.   

Gopal sent goods to Krishna Rs.10,000.  Gopal paid freight Rs.500.   
Insurance Rs.1,500.  Krishna met sales expenses Rs.900.  Krishna sold 
the entire stock for Rs.20,000 and is entitled to a commission of 5% on 
sales.  Prepare necessary ledger accounts in the books of Consignor.  
 
 
 
 
 



26. Warangal Youth Club gives you their receipts and payments account  
and other information and request you to prepare their income and 
expenditure for the year ended 31.03.2019. 
 

Dr.   Receipts and Payments Account for the year ended 31.03.2019.         Cr. 
 

Receipts Amount 
Rs. 

Payments Amount 
Rs. 

To Balance 
To Subscriptions 
To Donations received for  
     mineral water 
To Sale of old furniture 
To Interest on investment 

3,800 
90,000 
80,000 

 
42,000 
10,200 

By  Salaries 
By  Purchase of furniture 
By  Purchase of shares 
By  Stationery and Printing 
By  General expenses 
By  Balance c/d 

20,000 
1,55,000 

20,000 
22,000 
4,000 
5,000 

 2,26,000  2,26,000 
 

Additional Information 
 

1. Outstanding subscriptions on 31.03.2019 Rs.1,500. 
2. Subscriptions received in advance on 31.03.2019 Rs.500 
3. Value of old furniture sold is Rs.45,000. 

 
Section – F 

 
Answer any Two of the following questions.       2x5 = 10 
 
27. Raghava  bought a Plant and Machinery on 1st April, 2016 for Rs.23,000  

and paid Rs,2000 for its installation.  Depreciation is to be allowed at 10% 
under  straight line method.  On 31st March 2019 the Plant was sold for 
Rs.8,000.  Assuming that the accounts are closed at the end of the 
financial year.  Prepare Plant & Machinery a/c. 

 
28. Find out profit from the following data. 
 
 Capital at the beginning of the year  : Rs. 12,000 
 Capital at the end of the year   : Rs. 18,000 
 Drawings during the year   : Rs.   4,000 

Further capital introduced during the year : Rs.   5,500 
 
29.  What is donation? Explain the types of donations? 
30.  From the following details, prepare Receipts and Payments account. 

  Rs. 
 Opening balance of cash      500 
 Opening bank Balance    4,800  
 Subscriptions collected    8,000 
 Entertainment shows receipts   3,000 
 Entrance fees received    1,000 
 Computer purchased    2,000 



 Tournament expenses    3,000 
 Entertainment show expenses   1,800 
 Paid for periodicals    1,200 
 Salaries Paid     3,000 
 Rent Paid      1,200 
 Cash in hand at close       800 
 
31.  What are the features of Computerised Accounting?  
32.  Explain any five differences between Manual and Computerised  
      Accounting systems. 
 

Section – G 
 

Answer any Five of the following questions.       5x2 = 10 
 
33. Calculate profit from the following: 
 

 Capital at the end of the year = Rs.18,000 
 Capital at the beginning of the year = Rs.11,000 
 
34. What is delcredere Commission? 
35. What is Account Sales? 
36. What is Legacy? 
37. What is Subscription? 
38. What is Partnership Deed? 
39. X and Y are partners sharing profits and losses in the ratio of 3:2.  They  
     decided to admit Mr.Z for 1/5 share in profit.  Calculate new profit   
     sharing ratio of X, Y and Z. 
40. What is ratio of gaining? 
41. What is Computerised Accounting? 
42. What is the meaning of Economical in Computerised Accounting? 
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3. ìs¡«Vü≤D dü÷Á‘ê\qT $e]+#·+&ç?
4. m+Á{Á|æq÷´sY \ø£åD≤\T @$T{À dü$es¡+>± ‘Ó\|ü+&ç?

ôdø£åHé ` _

II. Á|ü‹ Á|üX¯ï≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü @yÓ’Hê Hê\T>∑T Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.
(4x5=20)

5. u≤´+ø˘ s¡TD≤*#˚Ã $$<Ûä s¡÷bÕ Ò̋$?
6. ÁbÕ<∏ä$Tø£ e÷¬sÿ{Ÿ≈£î, ~«rj·T e÷¬sÿ{Ÿ≈£î eT<Ûä́ >∑\ ‘˚&Ü\qT sêj·T+&ç?
7. ;Ûe÷ \ø£åD≤\qT ‘Ó\|ü+&ç?
8. dü÷ø£åà, ∫qï‘·s¡Vü‰, eT<Ûä́ ‘·s¡Vü‰ bÕ]ÁXÊ$Tø£ j·T÷ì≥¢ $wüj·T+˝À ‘Ó\+>±D Á|üuÛÑT‘·«+ s¡÷bı+~+∫q

Á|ü‘˚́ ø£ ìã+<Ûäq\T @$T{À ‘Ó\|ü+&ç?
9. ãVüQfi¯ $Áø£j·TXÊ\\ Á|üjÓ÷»Hê\T @$?
10. n+‘·sê®rj·T es¡Ôø£+ Á|üjÓ÷»Hê\T @$?
11. @yÓ’Hê ◊<äT ìs¡«Vü≤D \ø£åD≤\qT ù|s=ÿq+&ç?
12. Á|üD≤[ø£ Á|üÁøÏj·T˝À >∑\ <äX¯\qT ‘Ó\|ü+&ç?



ôdø£åHé ` dæ

III. Á|ü‹ Á|üX¯ï≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü @yÓ’Hê ◊<äT Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.
(5x2=10)

13. Áô|’y˚{Ÿ ù|¢dtyÓT+{Ÿ nq>±H˚$T?
14. Ò̋yéT&Éø˘ nq>± @es¡T?
15. |üP∫ (Vü‰MT) nq>±H˚$T?
16. n–ï Á|üe÷<ä;e÷ nq>±H˚$T?
17. m+&√yÓT+{Ÿ bÕ\d” nq>±H˚$T?
18. nqTø£s¡D m+Á≥Á|æq÷´sY\T nq>± mes¡T?
19. Á_&é® (yês¡~Û) s¡TD≤\T n+fÒ @$T{Ï?
20. ∫\¢s¡ es¡Ôø£+ nq>±H˚$T?
21. M~Û $Áø£j·TXÊ\\T >∑T]+∫ ‘Ó*j·TCÒj·T+&ç?
22. ìj·T+Á‘·D ns¡ú+ @$T{Ï?

bÕsYº ` 2 (e÷s¡Tÿ\T ` 50)
ôdø£åHé ` &ç

 IV.  ÁøÏ+~ Á|üX¯ï≈£î düe÷<Ûëq+ sêj·T+&ç.
(1x20=20)

23. sêyéT, s¡V”≤+ uÛ≤>∑düTÔ\T yês¡T ˝≤uÛÑqcÕº\qT es¡Tdü>± 2:3 ìwüŒ‹Ô̋ À |ü+#·T≈£î+≥THêïs¡T. ‘˚~:
31`03`2019 q yê] ÄdæÔ n|ü⁄Œ\|ü{Ïº øÏ+~ $<Ûä+>± ñqï~.
n|ü⁄Œ\T yÓTT‘·Ô+ ÄdüTÔ\T yÓTT‘·Ô+
#Ó*¢+|ü⁄ _\T¢\T 25,000 u≤´+ø˘ 10,000
es¡Ôø£s¡TD<ë‘·\T 50,000 s¡TDÁ>∑düTÔ\T 40,000
kÕ<Ûës¡D ì~Û 20,000 düs¡T≈£î 30,000
˝≤uÛÑqcÕº\ U≤‘· 10,000 ô|≥Tºã&ÉT\T 20,000
eT÷\<ÛäHê\T: ` |òü]ï#·sY 25,000
sêyéT 30,000 uÛÑeHê\T 60,000
s¡V”≤yéT 30,000

1,85,000 1,85,000
‘̊~: 01`04`2019 Hê&ÉT ÁøÏ+~ wüs¡‘·T\‘√ yês¡T 1/5 e+‘·T yê{≤qT Ç∫Ã |”≥sYqT uÛ≤>∑düTÔì>±



#˚s¡TÃ≈£îHêïs¡T.
(a) |”≥sY ‘·q eT÷\<Ûäq+>± s¡÷.40,000, >∑T&é$˝Ÿ>± s¡÷. 20,000 q>∑<äT˝À ‘˚yê*.
(b) |òüØï#·sYô|’ 5% eT]j·TT düs¡T≈£îô|’ 10% ‘·s¡T>∑T<ä\ …̋øÏÿ+#·+&ç.
(C) uÛÑeHê\ $\TeqT 15% ô|+#ê*.
(d) s¡TDÁ>∑düTÔ\ô|’ 5% sêì u≤ø°\¬ø’ @sêŒ≥T #˚j·T+&ç.
nedüs¡yÓTÆq U≤‘ê\qT ‘·j·÷s¡T#˚dæ ø=‘·Ô ÄdæÔ n|ü⁄Œ\ |ü{Ïºì #·÷|ü+&ç.

ôdø£åHé ` Ç

V. ÁøÏ+~ yê{Ï̋ À @<Ó’Hê 1 Á|üX¯ï≈£î düe÷<Ûëq+ sêj·T+&ç.
(1x10=10)

24. ø£Héôd’HéyÓT+{Ÿ≈£î, neTàø±ìøÏ eT<Ûä́ >∑\ ‘˚&Ü\T @$T{Ï?
25. #ÓHÓ’ï˝Àì >√bÕ˝Ÿ eTT+u≤jYT˝Àì ø£èwüí≈£î s¡÷. 10,000 KØ<äT>∑\ düs¡T≈£îqT ø£Héôd’HéyÓT+{Ÿô|’

|ü+bÕ&ÉT. >√bÕ˝Ÿ s¡yêD≤≈£î s¡÷. 500, ;e÷≈£î s¡÷. 1500 #Ó*¢+#ê&ÉT. ø£èwüí neTàø±ìøÏ s¡÷.
900 #Ó*¢+#ê&ÉT. ø£èwüí yÓTT‘·Ô+ düs¡T≈£îqT s¡÷. 20,000 \≈£î ne÷à&ÉT. neTàø±\ô|’ 5% ø£MTwüHé
#Ó*¢+#˚ @sêŒ≥T ñ+~.
ô|’ e´eVü‰sê\≈£î ø£Héôd’HêsY |ü⁄düÔø±\˝À Äesê® U≤‘ê\T #·÷|ü+&ç.

26. 31`03`2019 Hê{Ï‘√ n+‘·eTj˚T´ dü+e‘·‡sêìøÏ es¡+>∑̋ Ÿ j·T÷‘Y ø£ ¢uŸ yê] edü÷fi¯ófl `
#Ó*¢+|ü⁄\ U≤‘ê qT+∫ Ä<ëj·T ` e´j·÷\ U≤‘êqT ‘·j·÷s¡T#˚j·T+&ç.

31`03`2019 Hê{Ï‘√ n+‘·eTj˚T´ dü+e‘·‡sêìøÏ edü÷fi¯ófl ` #Ó*¢+|ü⁄\ U≤‘ê
Dr. Cr.

edü÷fi¯ófl   yÓTT‘·Ô+  #Ó*¢+|ü⁄\T     yÓTT‘·Ô+
To‘Ó∫Ãq ì\«     3,800    ByJ‘ê\T 20,000
To#·+<ë\T     90,000     By|òü]ï#·sY ø=qT>√\T 1,55,000
To$Tqs¡̋ Ÿ yê≥sYø√dü+    80,000     Byyê{≤\ ø=qT>√\T 20,000
edü÷ …̋’q $sêfi≤\T
TobÕ‘· |òü]ï#·sY neTàø£+  42,000      ByeTTÁ<äD, ùdºwüqØ 22,000
Toô|≥Tºã&ÉT\ô|’ e&û¶    10,200      BykÕ<Ûës¡D Ks¡TÃ\T 4,000

                 By‘˚*Ãq ì\« 5,000
   2,26,000       2,26,000

n<äq|ü⁄ düe÷#ês¡+.
1. 31`3`2019 Hê{ÏøÏ sêe*‡q #·+<ë\T s¡÷. 1500.



2. 31`3`2019 Hê{ÏøÏ eTT+<äT>± e∫Ãq #·+<ë\T s¡÷. 500
3. n$Tàq bÕ‘· |òü]ï#·sY $\Te s¡÷. 45,000

ôdø£åHé ` m|òt

VI. ÁøÏ+~ yê{Ï̋ À @<Ó’Hê 2 Á|üX¯ï\≈£î düe÷<Ûëq+ sêj·T+&ç.
(2x5=10)

27. sê|òüTe @Á|æ̋ Ÿ 1,2016 ‘˚Bq bÕ¢+≥T j·T+Á‘êìï s¡÷. 23,000\≈£î ø=ì s¡÷. 2000 <ëì
kÕú|üq≈£î Ks¡TÃ #˚kÕ&ÉT. dæús¡ yêsTT<ë\ |ü<ä∆‹ô|’ 10% #=|ü⁄Œq ‘·s¡T>∑T<ä\ @sêŒ≥T #˚j·÷*.
e÷]Ã 31,2019 ‘˚Bq s¡÷. 8000\≈£î Ä bÕ¢+≥TqT n$Tày˚XÊ&ÉT. Ä]úø£ dü+e‘·‡sê+‘êq
U≤‘ê\T eTT>∑TkÕÔj·Tì uÛ≤$dü÷Ô bÕ¢+≥T j·T+Á‘·+ U≤‘êqT ‘·j·÷s¡T#˚j·T+&ç.

28. ÁøÏ+~ $esê\ qT+∫ ˝≤uÛ≤ìï …̋øÏÿ+#·+&ç.
dü+e‘·‡s¡ ÁbÕs¡+uÛÑ eT÷\<Ûäq+ : s¡÷. 12,000
dü+e‘·‡sê+‘·|ü⁄ eT÷\<Ûäq+ : s¡÷. 18,000
Ä dü+e‘·‡s¡+˝À kı+‘·yê&Éø±\T : s¡÷. 4,000
Á|üy˚X¯ô|{Ïºq n<äq|ü⁄ eT÷\<Ûäq+ : s¡÷. 5,500

29. $sêfi¯+ n+fÒ @$T{Ï? yê{Ï s¡ø±\qT $e]+#·+&ç?
30. ÁøÏ+<ä Ç∫Ãq düe÷#ês¡+ qT+∫ edü÷fi¯ófl #Ó*¢+|ü⁄\ U≤‘êqT ‘·j·÷s¡T#˚j·T+&ç?

s¡÷.
ÁbÕs¡+uÛÑ|ü⁄ #˚‹˝À q>∑<äT ì\« 500
ÁbÕs¡+uÛÑ|ü⁄ u≤´+≈£î ì\« 4800
edü÷ …̋’q #·+<ë\T 8000
$H√<ë\ ø√dü+ edü÷fi¯ófl 3000
edü÷ …̋’q Á|üy˚X¯ s¡TdüTeTT 1000
ø£+|üP´≥sY ø=qT>√\T 2,000
{Às¡ïyÓT+{Ÿ Ks¡TÃ\T 3,000
$H√<ë\ ø√dü+ Ks¡TÃ\T 1,800
e÷´>∑C…’Hé\T 1200
J‘ê\ #Ó*¢+|ü⁄ 3000
n<Ó› #Ó*¢+|ü⁄ 1200
eTT–+|ü⁄ #˚‹˝À q>∑<äT ì\« 800



31. ø£+|üP´≥¬s’CŸ¶ nøö+{Ï+>¥ \ø£åD≤\qT $e]+#·+&ç.
32. e÷qe Ä<Ûë]‘· nøö+{Ï+>¥, ø£+|üP´≥¬s’CŸ¶ nøö+{Ï+>¥ eT<Ûä́ >∑\ @yÓ’Hê ◊<äT uÒ<Ûë\qT sêj·T+&ç.

ôdø£åHé ` m|òt

VII. ÁøÏ+~ yê{Ï̋ À @yÓ’Hê 5 Á|üX¯ï\≈£î düe÷<Ûëq+ sêj·T+&ç.
(5x2=10)

33. ÁøÏ+~ $esê\ qT+&ç ˝≤uÛ≤ìï …̋øÏÿ+#·+&ç.
dü+e‘·‡sê+‘êq ñqï eT÷\<Ûäq+ s¡÷. 18,000
dü+e‘·‡s¡ ÁbÕs¡+uÛÑ eT÷\<Ûäq+ s¡÷. 11,000

34. &Ó̋ ŸÁ¬ø&ÉsY ø£MTwüHé n+fÒ @$T{Ï?
35. nøö+{Ÿ ùd˝Ÿ‡ n+fÒ @$T{Ï?
36. yês¡dü‘ê«\T n+fÒ @$T{Ï?
37. #·+<ë n+fÒ @$T{Ï?
38. uÛ≤>∑kÕ«eT´ ˇ|üŒ+<ä+ n+fÒ @$T{Ï?
39. X, Y \T 3:2 ìwüŒ‹Ô̋ À ˝≤uÛÑqcÕº\qT |ü+#·T≈£î+≥Tqï uÛ≤>∑düTÔ\T. dü+düú ˝≤uÛ≤\˝À 1/5 e+‘·T

yê{≤ Ç∫Ã Z qT uÛ≤>∑düTÔì>± #˚s¡TÃ≈£îHêïs¡T. X, Y, Z \ ø=‘·Ô ˝≤uÛÑqcÕº\ ìwüŒ‹Ôì ø£qTø=ÿ+&ç.
40. \_∆ ìwüŒ‹Ô nq>±H˚$T?
41. ø£+|üP´≥¬s’CŸ¶ nøö+{Ï+>¥ n+fÒ @$T{Ï?
42. ø£+|üP´≥¬s’CŸ¶ nøö+{Ï+>¥̋ À ªÄ<ëμ n+fÒ ns¡ú+ @$T{Ï?

******



TELANGANA STATE BOARD OF INTERMEDIATE EDUCATION, HYDERABAD 
MODEL QUESTION PAPER 

ECONOMICS, PAPER-I  
(English Version) 

Time:   3 Hours       Max.Marks = 100 
SECTION – A 

 
Note:    Answer ANY THREE (3) out of the following SIX (6) questions is not 
              exceeding 40  lines each.        3x10=30  
 
1. Describe the law of diminishing marginal utility, It‘s limitations and  
             importance. 
2. Explain the law of demand and examine it’s exceptions. 
3. Critically examine the law of Variable proportions. 
4. What is monopoly ? Explain how the price is determined under  
            monopoly. 
5. What are the various methods of calculating national income ? Explain  
            them. 
6. Explain the Keynesian theory of employment. 
 

SECTION – B 
NOTE:  Answer ANY EIGHT (8) out of the following  Sixteen (16) questions in not  
             exceeding  20 lines each.            8x5=40 
 
7. Distinguish between micro and macroeconomics. 
8. Analyse the characteristics of wants. 
9. What is an indifference curve ? what are it’s assumptions ? 
10. How do you define Budget line of the consumer ? 
11. Explain the law of demand. 
12. What are the factors that determine the demand ? 
13. Explain the relationship between Average cost and Marginal cost. 
14. What is monopoly ? What are it’s Characteristics ? 
15. Explain the concept of Gross profit. 
16. What are the factors that determine national income ? 
17. What are the sources of Public Revenue? 
18. Write a note on Finance Commission and it’s functions. 
19. What is barter system ? What are it’s difficulties ? 
20. Explain the primary and secondary functions of money. 
21. What is statistics ? Explain it’s relationship with Economics. 
22. What are the Characteristics of a good average ?  



SECTION –C 
NOTE: Write notes on ANY FIFTEEN (15) out of the following twenty five (25)  
             questions in not exceeding 5 lines each.                                                                           
                                                           15x2=30 
 
23. What are free goods ? 
24. What is wealth ? 
25. What is Price ? 
26. Explain value in exchange concept. 
27. Explain  cardinal utility 
28. Draw the Indifference Map. 
29. What is Price demand ? 
30. What is demand function ? 
31. Define superior goods. 
32. What are money costs ? 
33. Explain the technical economies. 
34. Define Market. 
35. What are money wages ? 
36. What is net interest ? 
37. What is National income ? 
38. Expand C.S.O. what is it’s responsibility ? 
39. What is a public debt ? 
40. what is budget ? 
41. What is currency ? 
42. What are cash credits ? 
43. What are the uses of overdrafts ? 
44. What is paper money ? 
45. What are the merits of Median ? 
46. Compute median for the following data:  
            5,7,7,8,9,10,12,15 and 21. 
47. Explain the merits of Mode ?  
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


Time : 3 Hours   Max. Marks : 100


I.  

     3x10=30

 

 

 

 

 

 



II. 
 8x5=40

 

 

 

 

 

 

 

 





 

 

 

 

 

 

 



III. 
 15x2=30

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 (C.S.O)



 

 

 

 

 

 

45. 

46. 

 5,7, 7, 8, 9, 10, 12, 15,  21.

47. 



 
TELANGANA STATE BOARD OF INTERMEDIATE EDUCATION, HYDERABAD 

MODEL QUESTION PAPER, Economic Development of India 
ECONOMICS, PAPER- II  

(English Version) 
Time:   3 Hours       Max.Marks = 100 

SECTION – A 
Note:    Answer ANY THREE(3)  out of the following SIX (6) questions is not    
               exceeding    40   lines each.    3x10=30  
 
1. Analyze critically the characteristics of developing economies with special  
            reference to India.  
2. What are the causes for rapid growth of population in India ? 
3. How can  inequalities in the distribution of income and wealth be reduced ? 
4. Describe the causes for low productivity in agriculture. 
5. Critically examine the industrial policy resolution 1991. 
6. Briefly explain the development and welfare programmes of the 
           Government  of Telangana. 
 

SECTION – B 
NOTE:  Answer ANY EIGHT(8) out of the following  Sixteen (16)questions in not  
             exceeding   20 lines each.             8x5=40 
 
7. Define economic growth and write its essentials aspects. 
8. What is the relation between economic development and occupational  
            Distribution? 
9. Examine the different types of unemployment. 
10. Examine the causes for poverty in India. 
11. Write a note on NITI Aayog. 
12. What is planning ? Explain 
13. What are the causes of Rural indebtedness ? 
14.      Explain the growth pattern in agricultural sector. 
15. Indicate the measures to solve the problems of small scale industries. 
16. What is National infrastructure pipeline, 2020 -25 ? 
17. What are the major objectives of  LIC ? 
18. Distinguish balance of payments and balance of trade. 
19. Why should we protect the environment ? 
20. What is sustainable development ? 
21. Discuss the importance of Kaleshwaram project ? 
22.  Write a brief note on education profile of the state. 



  
 

SECTION –C 
NOTE: Write notes on ANY FIFTEEN (15)out of the following twenty five questions  
             in  not  exceeding 5 lines each.                                                       15x2=30 
 
23. Economic Development 
24. Inclusive growth 
25.  Literacy rate 
26. Janani Suraksha Yojana 
27. Human poverty Index 
28. National income 
29. Poverty line 
30. Balanced regional development 
31. NITI Aayog  
32. Land degradation 
33. Food security 
34. Green revolution 
35. Grading  
36.  Extractive Industry 
37.  Industrial policy resolution, 1956 
38. Tertiary sector  
39. Infrastructure  
40. IRDA 
41. FDI 
42. Invisibles  
43. Eco-system 
44. Environmental degradation  
45. Rythu-Bandhu 
46. TS-i PASS 
47. Mission Bhagiratha  
 



TELANGANA STATE BOARD OF  INTERMEDIATE
EDUCATION, HYDERABAD





Time : 3 Hours   Max. Marks : 100


I. 

 3x10=30

 



 

 

 

 

 


II. 

8x5=40

 

 

 

 

 

 

 

 

 



 

  (L.I.C) 

 

 

 

 

 


III. 

15x2=30

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 I.R.D.A

 F.D.I 



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´eT+&É*, ôV’≤<äsêu≤<é
ns¡∆XÊÁdüÔ+ ~«‹j·T dü+e‘·‡s¡+. (((((OLD Syllabu)

uÛ≤s¡‘·<˚X¯ Ä]úø±_Ûeè~∆
yÓ÷&É̋ Ÿ Á|üXÊï|üÁ‘·+

Time : 3 Hours   Max. Marks : 100

$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m
I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 3x10=30

1. uÛ≤s¡‘·<˚XÊìï <äèwæº̋ À ñ+#·Tø=ì n_Ûeè~› #Ó+<äT‘·Tqï <˚XÊ\ \ø£ åD≤\qT $eTs¡ÙHê‘·àø£+>±

$X‚¢wæ+#·+&ç.

2. »HêuÛ≤ |ü]D≤eT dæ<ë∆+‘êìï $e]+#·+&ç?

3. uÛ≤s¡‘·<˚X¯+˝À ìs¡T<√´–‘·≈£î >∑\ ø±s¡D≤\qT $e]+#·+&ç?

4. e´ekÕj·T s¡+>∑+˝À n\Œ ñ‘êŒ<äø£‘·≈£î ø±s¡D≤\qT $X¯Bø£]+#·+&ç.

5. uÛ≤s¡‘·<˚X¯+˝À ∫qï‘·s¡Vü‰, bÕ]ÁX¯eT\T m<äTs=ÿH˚ düeTdǘ \qT $X‚¢wæ+#·+&ç?

6. ‘Ó\+>±D sêÁwüº Á|üuÛÑT‘·«+ #˚|ü{Ïºq n_Ûeè~∆, dü+πøåeT |ü<∏äø±\qT ≈£î¢|üÔ+>± $e]+#·+&ç.

$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_
II. øÏ+~ yê{Ï̋ À @y˚ì mì$T~ Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T sêj·T+&ç.

8x5=40

7. Ä]úø£ eè~∆ì ìs¡«∫+∫ <ëìøÏ dü+ã+~Û+∫q Á|ü<Ûëq n+XÊ\qT ‘Ó\|ü+&ç.

8. uÛ≤s¡‘·<˚X¯+˝Àì ≈£î≥T+ãìj·T+Á‘·D |ü<∏äø±ìï $X¯Bø£]+#·+&ç.

9. $$<Ûä ìs¡T<√´–‘· s¡ø±\qT |ü]o*+#·+&ç.

10. uÛ≤s¡‘·<˚X¯+˝À ù|<ä]ø±ìøÏ >∑\ ø±s¡D≤\qT |ü]o*+#·+&ç.

11. ˙‹ÄjÓ÷>¥ô|’ \|òüTT yêU´qT sêj·T+&ç.

12. Á|üD≤[ø£ n+fÒ @$T{Ï? $e]+#·+&ç?

13. Á>±MTD s¡TDÁ>∑düÔ‘·≈£î >∑\ ø±s¡D≤\T @$?

14. uÛ≤s¡‘·<˚X¯ |ü+≥\ rs¡TqT |ü]o*+#·+&ç.



15. uÛ≤s¡‘·<˚X¯ bÕ]ÁXÊ$Tø£ ìsêàD≤ìï $e]+#·+&ç?

16. 1991 bÕ]ÁXÊ$Tø£ $<Ûëq rsêàq+ Á|ü<Ûëq \øå±´\T @$?

17. J$‘·;Ûe÷ dü+düú  (L.I.C), kÕ<Ûës¡D ;Ûe÷ \øå±´\qT ‘Ó\|ü+&ç.

18. ‘·èrj·T s¡+>∑+ ñ|üs¡+>±\qT $e]+#·+&ç.

19. uÛ≤s¡‘·<˚X¯ Ä]úø±e´edüúô|’ n+‘·sê®rj·T es¡Ôø£bÕÁ‘·qT n+#·Hê y˚j·T+&ç.

20. ‘Ó\+>±D˝Àì $<ë´ $<ÛëHêìï $|ü⁄©ø£]+#·+&ç?

21. ‘Ó\+>±D˝Àì eTTK´yÓTÆq eT‘· dü+ã+<Ûä |üsê´≥ø£ Á|ü<˚XÊ\T @$?

22. ‘Ó\+>±D sêÁwüº+˝À s¡yêD≤ s¡+>∑+ >∑T]+∫ dü+øÏå|üÔ+>± $e]+#·+&ç.

$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ
III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ùV≤qT Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T sêj·T+&ç.

15x2=30

23. Ä]úø±_Ûeè~∆

24. e÷qe eT÷\<Ûäq+

25. nø£åsêdǘ ‘· πs≥T

26. »qì düTs¡ø£å jÓ÷»q

27. »qHê\ πs≥T

28. ‘·\dü] Ä<ëj·T+

29. <ë]Á<ä́  πsK

30. ˙‹ ` ÄjÓ÷>¥

31. Vü≤]‘·$|ü¢e+

32. uÛÑ÷ø°åD‘·

33. ˙{ÏbÕs¡T<ä\

34. Á|ü‘˚́ ø£ Ä]úø£ eT+&Éfi¯ófl

35. yÓ‹øÏ rùd |ü]ÁX¯eT

36. ‘·èrj·T s¡+>∑+

37. nekÕú|üq

38. G.O.I. ø£¢e⁄&é

39. düs¡∞ø£s¡D



40. ô|≥Tºã&ÉT\ ñ|üdü+Vü≤s¡D

41. F.D.I ($<˚• Á|ü‘·́ ø£å ô|≥Tºã&ç)

42. {Ï.j·Tdt.◊. bÕdt (T.S. i PASS)
43. Ädüsê ô|q¸Hé |ü<∏äø£+

44. ø£fi≤´D\øÏåà |ü<∏äø£+

45. dü«#·Ã¤ ‘Ó\+>±D

46. ôd’ãsêu≤<é

47. $TwüHé ø±ø£rj·T

******



TSBIE - MODEL PAPER

English, Paper - I

(Modern Language)

Time : 3 Hours Max. Marks : 100

Note: Answer ALL the questions.

I. Annotate with reference to the context any Three of the
following: 3x5=15

(a) O, no ! It is an ever-fixed mark,
That looks on tempests, and is never shaken;

(b) Let us not slip the occasion, whether scorn,
Or satiate fury yield it from our foe.

(c) I was angry with my friend
I told my wrath, my wrath did end
I was angry with my foe:
I told it not, my wrath did grow.

(d) He has his lusty spring, when fancy clear
Takes in all beauty with an easy span

(e) Oh, sir she smiled, no doubt,
Whene'er I passed her: but who passed without
Much the same smile? This grew; I gave commands,
Then all smiles stopped together.

(f) And into my garden stole
When the night had veil’d the pole:
In the morning glad I see
My foe outstretch’d beneath the tree.

II. Answer any ONE of the following:                     1x10=10

(a) Describe Satan's character as reflected in his speech.

(b) The poem "A Poison Tree" is a fable directed against self-restraint.
Explain.



(c)  How does Browning portray the character of the Duke in the
poem "My Last Duchess"?

III. Answer any ONE of the following:                    1x10=10

(a). Show how Shakespeare glorifies the permanence of spiritual love
in the poem.

(b). Trace the evolution of human mind in terms of the seasons in
Nature.

(c). How does Satan instill courage and hope in his followers?

IV. Answer any ONE of the following:                    1x10=10

(a) Show how bacon defines truth and distinguishes between
objective truth and subjective truth.

(b) How does Goldsmith bring out the sufferings of the poor in his
essay, "A City Night - Piece"?

(c) Sketch the character of Raicharan.

V. Answer any ONE of the following:                    1x10=10

(a) Compare the lives of the poor and the rich of the city with
reference to the essay, "A City Night - Piece".

(b) Summarize Hazlitt's letter to his son.

(c) Explain the theological and philosophical interpretations of
truth.

VI. Answer any ONE of the following:                     1x10=10

(a) Mr.Hyde is an incarnation of evil. Discuss.

(b) How unfair and inappropriate Dr.Jekyll's approaches to scientific
pursuits and manipulation of natural laws?

(c) Dr.Lanyon's last letter to Mr.Utterson. Explain.

(d)  ''The confessional letters reveal the suspense'' . Comment.



VII. Write any Three of the following:                     3x5=15

(a) What does truth teach?

(b) How was the city in the past?

(c) "Never despise anyone for anything that he cannot help" what do
you understand by this statement.

(d) How did Anukul's son die?

(e) "………… it being foretold that when Christ cometh, He shall not
find faith upon the earth." - Explain.

(f) Explain the change in Raicharan’s attitude to the boy when he
started looking at him as the re-incarnation of his little Master.

(g) What are the views of Hazlitt's son on fellow students at his
school?

VIII. Write short notes on any FOUR of the following:-        4x5=20

(a) The role of Mr.Poole.

(b) The chemical mixture made by Mr.Hyde.

(c) Write about the strange terms of Dr.Jekyll's will.

(d) The house at Soho.

(e) Mr.Utterson's nature.

(f) What light does Mr.Guest shed about Mr.Hyde's hand writing?

(g) Write about the murder in Londo-n as narrated by the maid.

******

NAGENDRAM .I
J.L. in English

Maharshi Jr. College,
Begumpet, Hyderabad, Cell: 9866693626

PAVANI .R
J.L. in English

Maharshi Jr. College,
Begumpet, Hyderabad Cell: 9849922091



TSBIE - MODEL PAPER

English, Paper - II

(Modern Language)

Time : 3 Hours Max. Marks : 100

Note: Answer all the questions.

I. Annotate with reference to the context ANY THREE of the following:  3x5=15

(a) I am a part of all that I have met;

(b) He worked in a factory and never got fired,

(c) Of foreign men, who fought in foreign places,
Foreign to each other.

(d) ........ Ten hours
of steady rain had driven him
to crawl beneath a sack of rice.

(e) ..... "Madame", I warned,
I hate a wasted journey - I am African.

(f) Death closes all; but something ere the end,
Some work of noble note, may yet be done,
Not unbecoming men that strove with Gods.

II.  Answer ANY THREE of the following: 3x5=15

(a) Describe Gandhi's experiments with health.

(b) Compare and contrast the characters of the banker and the
young lawyer.

(c) Comment on Lord Balfour's smile?

(d) Describe the artist's room that makes the visitors stare in
dismay.

(e) Comment on the two kinds of punishment as discussed at the
party.



(f) "The most memorable smiles are those which have the quality of
the unexpected." Explain.

(g) How does the writer describe the ill-lit slum at twilight?

III.  Answer ANY ONE of the following: 1x10=10

(a) Explain the philosophy of life upheld in the poem, “Ulysses”.

(b) "The Unknown Citizen" is a satire. Explain.

(c) Analyse the 'Night of the Scorpion' as an exploration of Indian
sensibility.

IV.  Answer ANY ONE of the following: 1x10=10

(a) Write an essay on Wole Soyinka's "Telephone Conversation"
commenting on the satire in the poem.

(b) How does T.S.Eliot develop the idea that "a man's destination is
his own village"?

(c) Attempt a contrast between Ulysses and Telemachus.

V.  Answer ANY ONE of the following: 1x10=10

(a) Explain Gandhi's experiments in becoming a gentleman to fit
into the polished society of England?

(b) The Bet' is a study in human behaviour. Discuss.

(c) How does A.G. Gardiner drive home the point that a smile is a
quality which brings popularity?

VI.  Answer ANY ONE of the following: 1x10=10

(a) Is the artist rich? How does he try to make use of the chance he
gets when the visitors knock the door? Does he succeed in
getting some money from the visitors as advance or sale
proceeds? Why or why not?

(b) Describe how and why the prisoner changes his mind to break
the agreement.

(c) "A popular smile is the shortest cut to the great heart of
democracy". Explain.



VII.  Answer ANY ONE of the following: 1x10=10

(a) “Julius Caesar is a great Roman tragedy.” Elaborate.

(b) “Caesar dead is more powerful than Caesar alive.” Discuss.

(c) “Brutus, an uncompromising idealist.” Discuss.

VIII.  Write Short Notes on ANY FOUR of the following: 4x5=20

(a) Mark Anthony’s speech.

(b) Shakespeare’s treatment of the Roman mob.

(c) Role of Cassius.

(d) “Portia is truly the better half of Brutus.” Comment.

(e) Write a note on the petition of Metellus Cimber and how Caesar
responds.

(f) The relevance of the storm scene.

(g) Calpurnia, the mere shadow of Caesar. Explain.

(h) What does Calpurnia dream about Caesar?

(i) Significance of the Ide’s of March.

******

NAGENDRAM .I
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Maharshi Jr. College,
Begumpet, Hyderabad, Cell: 9866693626

PAVANI .R
J.L. in English

Maharshi Jr. College,
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     FRENCH PAPER 1 

    ( SECOND LANGUAGE)  

                                            Part II      0112 

 

TIME 3 HRS.                                                                                       MAX.MARKS : 100 

 

I. Lisez le texte et répondez aux questions suivantes :       10 

Papa rentre très tard du bureau. Il est très fatigue alors il se reposedans 

le fauteuil et commence a parler avec maman. Son fils veut manger un 

pizza et il demande de l’argent a son père.Papa cherche pour son 

portefeuille(wallet) partout mais il ne trouve pas.Il décide d’appeler la 

police. Soudain on sonne.Mama ouvre la porte et un jeune homme se 

trouve devant la porte.Il montre le portefeuille qu’il trouve dans le 

métro.Papa est très content et il invite le jeune homme  

de rester pour le diner. 

(a) Complétez avec un mot tire du texte : 

(1) Il fait beaucoup de travail. Il est____________. 

(2) Les enfants aiment manger un  ____________. 

(3) Pour travailler, on doit aller au _____________.  

(4) Pour acheter quelque chose , il faut avoir de l’ __________. 

(5) Je veux parler a mon ami. Je vais l’ __________. 

(b) Dites vrai ou Faux [ x] : 

(1) Papa se repose dans le fauteuil. 

(2) Le fils veut acheter des livres. 

(3) Papa ne trouve pas le son portefeuille dans la maison . 

(4) Le jeune homme trouve le portefeuille dans le métro. 

(5) Papa invite le jeune homme pour le diner. 

II. Traduisez en anglais :                                                                                   15 

(a) Salut ! Je m’appelle Jean-Philippe.Je suis étudiant d’animation. Je suis 

maintenant en vacances.Le samedi je vais a Chamonix pour faire de ski 



avec des amis. Nous allons en voiture. Nous descendons dans un hôtels. 

Surtout en novembre, nous réservons en avance parce qu’il y a toujours 

beaucoup de monde. L’hôtel se trouve près de la station de ski. 

(b) Cinq au choix :  

(1) Coupez les légumes. 

(2) Traversez au feu rouge.  

(3) Bon appétit ! 

(4) Être absent. 

(5) Elle est jolie. 

(6) Il est allemand. 

III. Répondez aux questions suivantes : (5 au choix)                        5x2=10 

(1) Que préférez -vous, la viande ou les légumes ?  

(2) En quoi est la table ? 

(3) Au quel mois est le fête de Diwali ? 

(4) De quelle couleur est le ciel ? 

(5) Regardez-vous des films ? 

(6) A quelle heure vous couchez- vous ? 

(7) Allez- vous souvent au restaurent ? 

(8) Etes-vous médecin ? 

IV. Ecrivez un e-mail à votre ami (e) en lui décrivant ce qu’il faut voira Paris.   10 

OU 

Ecrivez une réduction sur un des thèmes suivants : 

(1) Votre collège. 

(2) La France, vous connaissez . 

(3) Les saisons. 

       V.    Grammaire :       

     (A) Complétez avec l’article contracte : ( 5 au choix )                             5x1=5 

        1.Je vais _________gymnase.   

        2.Il doit parler _________ professeur. 

        3. Le météo ____________ l’après-midi est mauvaise . 

         4. La voiture ------------- ma cousine est bleue. 



         5. Elle étudie ------------ université. 

          6. Il parle----------- étudiants depuis une heure. 

       (B) Conjuguez les verbes au futur proche :                                               5x2=10 

           1. Tu (acheter ) une voiture . 

            2. Vous (se brosser) vos dents. 

            3. Nous (vendre ) notre appartement. 

             4. Il (demander ) la solution. 

             5. Ils (faire ) les travaux. 

        (C)  complétezavec  a / en / au / aux : (5 au choix )                                  5x1=5. 

             1. Je vais ------ Angleterre tous les étés. 

              2. M. Trump habite _________ Etats-Unis. 

               3.  La Tour Eiffel se trouve --------- Paris.  

                4. Ils vont _________ Japon. 

                 5. Nous habitons ------------- Inde. 

                 6. Mon ami habite -----------Delhi. 

            (D)  Faites selon le modelé :    (5 au choix )                                        5x1=5  

                         Ex :   Il  parle bien le français . 

                                     Parle-t-il bien le français ? 

                                                                  PAGE      3 

              QT V (D) continued 

1. Ils achètent les pommes . 

2.  Marie fait son devoir . 

3. Il y a beaucoup d’animaux au zoo. 

4. Tu préfèresmanger du poulet. 

5. Marc et Denise dinent chez M. Lavigne. 



6. Nous restons a Delhi cet été 

(E)  Ecrivez ces mots au pluriel : (5 au choix)                                   5x1=5  

Le gâteau,  un cou,   L’étudiant , Un pays , Le jeu , Un chandail .       

 

VI. (a) Soulignez l’intrus comme dans le modèle :                                 5x1=5 

 Ex : Février ,juin , décembre , mardi  

          Mardi. 

1. Bureau , salle couloir , étudiant 

2. Vingt , enseignant , quarante , trente 

3. Bonjour , bonsoir, salut , bonne nuit 

4. Jeudi , mars , mardi .lundi 

5. Ordinateur , devant, derrière ,dans  

 

         (b)     Reliez les colonnes :                                                         5x2=10 

                                          A                                                                              B 

1. Il y a une lampe                                                 (a) pour Julia  

2. Voici un cadeau                                                (b)   après les cours  

3. Les enfants sont                                                (c)   de Victor Hugo 

4. C’est la maison                                                  ( d)   sur la table 

5. On va au cinéma   ( e)   dans le jardin 

 

      VII. (a) Faites des phrases avec des mots suivants :                      5x1=5 

             Un kilo de , campagne , pays , chocolat, intéressant , ordinateur . 

 

( b ) Ecrivez ces chiffres en mots :                                   5x1=5  

22 ,  41 , 16, 73 , 100 . 



0212 

Total No. of Questions – 10 

Total No. of Printed Pages - 4 

PART-II 

FRENCH, Paper- II 
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Time: 3 Hours                                                                                   Max. Marks: 100 

Note: Read the following instructions carefully: 

1. Answer all the questions in the same serial order. 

2. Do not write one word answers, write in full sentences. 

3. Questions V to VII and X should be answered only once. 

I. Lisez le texte et répondez aux questions suivantes:                                          10m 

Cette ville se trouve au pied des Préalpes. C’est une cité médiévale et elle appartient au 
patrimoine national. Ici, vous pouvez découvrir tous les secrets de la fabrication du Gruyère: 

À la fromagerie, les paysans viennent livrer le lait, deux fois par jour, et la fabrication du 
fromage a lieu 3 à 4 fois par jour. C’est un voyage au Cœur des sens. 

Au restaurant on trouve les plats régionaux typiques: fondue, soupe de chalet, macaronis 
d’alpage, jambon, meringues et crème. 

A. Répondez à 5 questions au choix : 

1. Où se trouve la ville de Gruyère ? 

2. Est-ce que Gruyère est une cité moderne ? 

3. Quels secrets peut-on découvrir en Gruyère ? 

4. Où fabrique-t-on du fromage ? 

5. Qui livre du lait à la fromagerie ? 

6. Avec quoi fabrique-t-on du fromage ? 

7. Nommez deux plats régionaux typiques ? 

B. Dites vrai ou faux : 

1. Les Préalpes sont très loin de Gruyère. 

2. Gruyère est aussi un nom de fromage. 

3. Le fromage est fabriqué plusieurs fois par jour. 



4. La ville de Gruyère appartient au patrimoine national. 

5. On utilise souvent le fromage dans les plats français. 

  

II. Répondez selon les indications données (5 au  choix) :                            5x1=5m  

1. On dit qu’on fait des randonnées dans le dessert àDubai, est-ce vrai ? (Exprimer 

l’ignorance) 

2. Auparavant, on ne voyageait pas beaucoup comme aujourd’hui. Qu’en pensez-vous ? 

(Exprimez la certitude que oui) 

3. On dit que les Français consument tout le vin qu’ils produisent chez eux. Est-ce vrai ? 

(Exprimez la certitude que non) 

4. Dans les forêts, il y a toujours des animaux dangereux, alors tout le monde a peur d’y 

aller. (Exprimer un léger doute) 

5. Votre grand-mère vous invite pour la fête de Holi chez elle. (Accepter de façon 

contente) 

6. Votre ami vous demande à prêter votre appareil photo pour une semaine. (Refuser 

avec une excuse) 

III.Traduisez en anglais :                                                                                     15m 

a. Anita cherche les petites annonces dans le journal. 
 
Robert : As-tu trouvé quelque chose ? 

Anita : Non rien. Toutes les maisons sont chères ou bien loin de ton bureau 

Robert : Ne t’inquiète pas. J’ai pris rendez-vous avec un agent immobilier à 16h cet 

après-midi. Il a beaucoup d’appartements à louer, paraît-il.  

b. (Cinq au choix) 
1. C’est une journée fatigante ! 

2. Les touristes visitent le château et la fromagerie. 

3. Les jeunes aiment faire de la pêche. 

4. Tout le monde va aux vacances en Europe. 

5. C’est encore plus pittoresque qu’ici. 

6. Elles ont pris un carnet de billet. 

7. Non, il ne vient jamais avec nous. 

 

 



IV.Mettez les phrases du dialogue dans le bon ordre :                                       5m 

Au Guichet 

Employé     : Donnez-moi votre carte d'identité. 

Mme Hoyez: Merci, Monsieur. 

Employé     : Bonjour Madame. 

Mme Hoyez: Voilà ma carte, un abonnement simple, s'il vous plait ! 

Employé     : 29 francs Suisses. 

Mme Hoyez: Bonjour Monsieur, un abonnement, s'il vous plaît. 

V.Associez les éléments des deux colonnes :                                                5x2=10m 

                               A                                    B 
1. La capitale de la Suisse a. BIT 
2. Château de Chillon b. Plus grand lac 
3. Le lac Léman c. Capitale de Vaud 
4. Bureau international du travail d. Berne 
5. Lausanne e. Un site naturel du XIIe siècle 

 

VI. Trouvez les questions en utilisant « Pourquoi » (5 au choix)                    5x1=5m 

1. Parce qu’il avait trop de travail. 

2. Parce qu’il pleut beaucoup. 

3. Pour manger des mangues en été. 

4. Pour visiter son grand-mère. 

5. Parce qu’il est malade. 

6. Parce qu’il a déjà fini son travail. 

7. Pour voir le Taj Mahal. 

8. Pour être en forme. 

VII. Dans les situations données, que faut-il faire ?  (5 au choix)                    5x1=5m 

1. Quand vous voulez maigrir. 

2. Quand vous avez beaucoup de plats à faire à la maison et vous êtes deux. 

3. Avant de partir pour un voyage d’affaires. 

4. Pour s’inscrire à un cours. 

5. Pour voir un nouveau film. 

6. Quand vous cherchez un appartement. 



7. Si vous voulez envoyer un message urgent à quelqu’un. 

8. Avant de préparer un gâteau. 

 

 VIII. Choisissez la bonne réponse :                                                               5x1=5m  

1. Dans les trains en Europe, les douaniers examinent 

a.  les bijoux                   b. les souvenirs         c. les passeports           d. les malades. 

   2. On trouve  les petites annonces dans 

   a. une université             b. un journal             c. un monument             d. une mer 

3. On déjeune dans 

a.  la salle de bains           b. le couloir              c. la chambre à coucher   d. la salle à manger 

4. On peut faire cuire 

a. les fruits                    b. les légumes            c. les chaussures              d. les bruits 

5. On peut traverser le lac Léman par 

a. un bateau                    b. un train                c. le SNCF                       d. une douche             

IX.Rédigez sur un des sujets suivants :                                            10x1=10m   

1. Voyage en train 

2. Le temps de nos grands-mères 

3. Une maison idéale 

X.Grammaire                                                                                         30m 

a. Complétez les phrases suivantes avec des adjectifs démonstratifs :           10x1/2=5m 

 (5 au choix)  

1. _________ danseur est très beau avec _______ belle robe. 

2. Il achète _________ four à micro-ondes et reçoit _________ boite gratuite. 

3. ________ skis et ________ téléphérique coutent cher. 

4. ___________ appartement et ____________ bâtiment à côté sont très grands. 

5. _________ oiseaux sur ________ arbre sont jolis. 



6. Mets __________ vêtements dans ___________ armoire. 

b.Mettez les phrases suivantes au passé composé : (5 au choix)        5x2=10m 

1. Il ne me donne pas ses documents. 

2. Tu iras en Suisse, le mois prochain ? 

3. Nous venons de Delhi aujourd’hui. 

4. Non, je n’ai pas faim maintenant. 

5. Ils font un projet à partir d’aujourd’hui. 

6. Maintenant, je vais finir ce travail. 

c. Faites des adverbes avec les mots suivants :                                  10x1/2=5m 

Vif, mauvais, élégant, lent, régulier, bon, malheureux, léger, long, facile. 

d. Répondez en négation en utilisant : ne jamais etc. (5 au choix)              5x1=5m 

1. As-tu déjà fini le projet ? 

2. Voulez-vous encore du gâteau ? 

3. Y a-t-il quelqu’un la ? 

4. Veut-elle quelque chose ? 

5. Est-ce qu’ils fument ? 

6. Sort-il quelque part ? 

e. Refaites les phrases au comparatif :  (5 au choix)                                  5x1=5m 

1. Sa sœur est ________________ lui. (intelligent =) 

2. Le dictionnaire est ______________ que ce livre. (épais +) 

3. Les chaises sont ________________ les tables. (haut -) 

4. Le fer est ______________ le bois (lourd =) 

5. Cette fille est ______________ son amie. (souriant +) 

6. Ce banc est ______________ le tableau. (long =) 
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ENGLISH
Paper - I

Time : 3 Hours Max. Marks : 100
Section - A

1. Annotate ANY TWO of the following in about 100 words each.
2 × 4 = 8

(a) Such was the Indian concept of hospitality once upon a time.

(b) Individual liberty would have become social anarchy.

(c) Usha Rani dreamt of the day when her daughter would get an
Olympic medal and she constantly motivated her daughter to
work towards that goal.

(d) No two British subjects speak exactly alike.

2. Annotate ANY TWO of the following in about 100 words each.
2 × 4 = 8

(a) He will not see me stopping here
To watch his woods fill up with snow.

(b) I don't want my children to see the Earth die,

(c) In vain, O Kings, doth time aspire
To make your names oblivion's sport,

(d) 'What hast thou to give to me?'

3. Answer ANY TWO of the following questions in about 100 words
each. 2 × 4 = 8

(a) Liberty is an accommodation of interests. Elaborate with
examples from the essay.
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b) Narrate two memories of Kalam, related to eating.

c) Why was the Philippines Tournament in 2006 a memorable one
for Saina Nehwal?

d) What does the writer say about the use of pronunciation, the
use of stress on syllables, accent, and so on by the native
speakers of English?

4. Answer ANY TWO of the following questions in about 100 words
each. 2 × 4 = 8

(a) Describe the feelings of the poet when she sees the Royal Tombs
of Golconda.

(b) Why does the horse give its harness bells a shake?

(c) How can we all lend our hand to prevent nature from saying
farewell?

(d) Why did the beggar weep bitterly that night?

5. Answer ANY TWO of the following questions in about 100 words
each. 2 × 4 = 8

(a) Narrate the events that led the little girl and her mother to wait
in the rain for a taxi.

(b) Why was Gopal upset on being told by the director that he had
to enact a dying scene?

(c) How did Suren spend that night at his home in the village?

(d)    'The Antidote' is a gentle satire on man's blind beliefs and
superstitions. Comment.

SECTION - B

6. Read the following passage carefully and answer ANY FOUR
questions given after it. 4 × 1 = 4

I saw my mother's hand feeling for the clasp of her purse. She saw
me watching her. I was giving her one of my own frosty-nosed looks
this time and she knew exactly what I was telling her. Now listen,
mummy, I was telling her, you simply mustn't take advantage of a
tired old man in this way. It's a rotten thing to do. My mother paused
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and looked back at me. Then she said to the little man, 'I don't think
it's quite right that I should take an umbrella from you worth twenty
pounds. I think I'd better just give you the taxi-fare and be done
with it.'

1. What did the narrator see?
2. What did the narrator's mother see?
3. What was the rotten thing referred to in the passage?
4. Did the narrator's mother agree with the little girl when she

said, "You mustn't take advantage of a tired old man ... ..." ?
5. Mother said it was quite right to take the umbrella from the old

man. Say 'true' or 'false'.
6. What did the narrator's mother offer to do?

7. Read the following passage carefully and answer ANY FOUR
questions given after it. 4 × 1 = 4

Once a 4 year old girl asked her mother, "Why do you keep your
ornaments in the locker even though the maid is in our house for
24 hours?" Mother said, "These ornaments are very precious. So I
can't keep them with our maid."

Daughter felt very sad about it and asked, "Why do you keep me
with that maid when you go to office? Am I not as precious as
ornaments?"

1. How old was the little girl?
2. Where did they keep their ornaments?
3. Why did the girl feel sad?
4. Who looked after the little girl at office hours?
5. Tick the right statements

i. The passage highlights the innocence and inherent wisdom
of little children.

ii. It exposes the modern man's materialistic outlook.
iii. It enlists the duties of maid servants.
iv. It explains the services banks extend to customers.

6. The little girl asked her mother some questions which the
mother couldn't answer. Write 'true' or 'false'.
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SECTION - C

[NOTE:  ANSWERS to the questions in Section - C must be written at
one place in the same Serial Order.]

8. Fill in ANY EIGHT blanks with a, an or the. 8 × ½ = 4

(a) She did not make ............ (i) career.

(b) Ramu wore ............ (ii) uniform.

(c) Mary is ............ (iii) European.

(d) I interviewed ............ (iv) MP.

(e) The Ramayana is ............ (v) epic.

(f) Rajesh is ............ (vi) enterprising businessman.

(g) I reached home in ............ (vii) evening.

(h) My mother reads ............ (viii) Quran everyday.

(i) King Solomon is ............ (ix) wisest king.

(j) ............ (x) novel I bought yesterday is interesting.

9. Fill in ANY EIGHT blanks with suitable prepositions. 8 × ½ = 4

(a) The martyr wrote his final testament .......... (i) blood.

(b) Please dont’ laugh ….…. (ii) others.

(c) Tina gets ….…. (iii) early in the morning.

(d) The poem was written ….…. (iv) John Keats.

(e) My friend was angry ………  (v) me.

(f) Shiva speaks Hindi ….…. (vi) English.

(g) There is a good friendship .......... (vii) America and India.

(h) I have been reading this book ………… (viii)2014.

(i) The manager is .......... (ix) good impression.

(j) We ate .......... (x) banana leaves.

10. Fill in ANY FOUR blanks with suitable verbs given in brackets.
4 × 1 = 4

(a) A philanthropist .......... (i) (think) about the welfare of others.
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(b) Look! The bird .......... (ii) (fly).

(c) He .......... (iii) (paint) the door just now.

(d) He .......... (iv) (read) the book since March.

(e) The people .......... (v) (stay) indoors due to rain yesterday.

(f) All members of the committe .......... (vi) (be) educated persons.

11. Rewrite ANY FOUR sentences as directed.  4 × 1 = 4

(i) One should follow traffic rules. (Change to active voice.)

(ii) "Don't run," he said to Eckels. "Turn around. Hide in the
Machine." (Change to indirect speech.)

(iii) Suresh to his friend: "I will certainly help you."  (Change to
indirect speech.)

(iv) A computer works much faster than the human brain.
(Change to positive degree.)

(v) The Tyrannosaurus Rex is the most incredible monster in
history. (Change to comparative degree.)

(vi) You think you're smart. (Add a question tag.)

12. Rewrite ANY FOUR of the following sentences correcting the errors.
4 × 1 = 4

(i) One should look after her parents.

(ii) You have to agree for my proposals.

(iii) Children below six are prohibited to enter the hall.

(iv) Each of them were given a gift.

(v) I am forty years.

(vi) They asked me what was my name.

13. Supply the missing letters in ANY EIGHT of the following words.
8 × ½ = 4

(i) mi - - le (ii) l - - rels (iii) a - - ommodation

(iv) th - - der (v) sy - - able (vi) vill - - n

(vii) t - - cher (viii) sl - - pless (ix) o - - ur (x) enc - - rage
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14. Identify the silent consonant(s) in ANY EIGHTof the following words.
8 × ½ = 4

(i) balm (ii) often (iii) foreign (iv) arms

(v) neighbour (vi) tomb (vii) dawn (viii) knife

(ix) hour (x) column

15. Identify the parts of speech of ANY EIGHT of the following underlined
words. 8 × ½ = 4

She is the second Indian to achieve such a ranking, after Prakash
Padukone in 1980, and the first Indian woman to do so. Though a
bright student, Saina was unable to complete Intermediate as the
gruelling schedule left her with little time to attend classes. Ah! It is
raining heavily.

16. Match ANY EIGHT of the following words in Column ‘A’ with their
meanings in Column ‘B’ 8 × ½ = 4

A B

(i) alms ( ) (a) avoid

(ii) compromises ( ) (b) limitless

(iii) anarchy ( ) (c) large ship

(iv) vows ( ) (d) sweet-smelling, fragrant

(v) hoary ( ) (e) resident, inhabitant

(vi) dodge ( ) (f) money, clothes and food that are
given to the poor

(vii) infinite ( ) (g) promises

(viii) civilian ( ) (h) adjustments

(ix) vessel ( ) (i) disorder, chaos

(x) aromatic ( ) (j) very old and well known
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17. (a) Look at the following pie-chart that shows daily routine of an
Indian mother. Present the information in a paragraph.

1 × 4 = 4

1. At office / place of work - 8 hours

2. Sleep - 7 hours

3. Household chores - 5 hours

4. Personal needs / relaxation - 4 hours

OR

(b) Read the following paragraph and convert it into a tree diagram.

There are three types of muscles in the human body.  They are
smooth, cardiac and skeletal muscles. Smooth muscles are
controlled by involuntary responses. Examples of smooth
muscles are muscles in the digestive tract and blood vessels.
The second type of muscle is cardiac muscle. It is also an
involuntary muscle. Muscles that cover the heart are examples
of cardiac muscles. The third type of muscle is the skeletal
muscle. It is controlled by voluntary response.  All the muscles
attached to the bones such as biceps, deltoid are examples of
skeletal muscles.

18. Write ANY FOUR transcriptions to the following words in ordinary
English. 4 × 1 =  4

(i) /n/ (ii) /d/ (iii) /(r)/

(iv) // (v) // (vi) //

19. Circle ANY FOUR of the words that sound different with regard to
the sounds of the bold letters. 4 × 1 = 4

(i) change chariot character

(ii) like live limit

(iii) order often old

(iv) anger danger passenger

(v) jungle bullet but

(vi) strange energy get
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20. Mention the number of syllables in ANY FOUR of the following words.
4 × 1 = 4

(i) family (ii) tournament (iii) mother

(iv) liberty (v) compromise (vi) reign

_________

SPECIAL NOTE : While setting the Question Paper one must follow
the instructions related to the reduction in syllabus and
enhancement of choice in Question Paper without fail.
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ENGLISH
Paper - II

Time : 3 Hours Max. Marks : 100
Section - A

1. Annotate ANY TWO of the following in about 100 words each.
2 × 4 = 8

a) Robbing children of their childhood is a criminal act, and our
society must weed this malaise out from the root.

b) 'Potter, Sir. The 'sir' was somewhat delayed.

c) Thought without action is abortion and action without thought
is folly

d) 'I am your teacher, and I'm the one you should criticize if I fail
to maintain the standards I demand of you.'

2. Annotate ANY TWO of the following in about 100 words each.
2 × 4 = 8

(a) And the front door is always locked?
And no rangoli design on porch

(b) Neither a borrower nor a lender be;

(c) If I ask for a flower, it gives me pink flowers!

(d) When you saw only one set of footprints,
It was then that I carried you."

3. Answer ANY TWO of the following questions in about 100 words
each. 2 × 4 = 8

(a) Why does the teacher emphasize the fact that the students
belong to the top class?
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(b) What is happiness, according to Jawaharlal Nehru?

(c) What kind of change does the writer visualize in schools and
homes?

(d) What quality of Gandhi does Nehru appreciate in the essay?

4. Answer ANY TWO of the following questions in about 100 words
each.             2 × 4 = 8

(a) Sketch briefly the character of Polonius, based on the poem.

(b) What kind of place … … …? What is that place?

Describe it with its sights, smells and sounds.

(c) Narrate what the Lord says to His precious child about that one
set of footprints.

(d) The earth knows how to do magic! Support this statement with
examples from the poem.

5. Answer ANY TWO of the following questions in about 100 words
each. 2 × 4 = 8

a) Describe the conditions in which Alka lived.

b) How did Sitaram try to help Nathu?

c) The younger brother loves to play and studies whenever he
feels it necessary. Yet he passes his examinations. Explain.

d) Describe Mallaiah's silent wail in the jail. Why did he cry silently?

SECTION - B

6. Read the following passage carefully and answer ANY FOUR
questions given after it. 4 × 1 = 4

People were turned back from the counters and told to return the
following day. They did not like the sound of that. And so they
gathered outside on the steps of the bank shouting 'Give us our
money we'll break in!' and 'Fetch the Seth, we know he's hiding in a
safe deposit locker! Mischief makers who didn't have a paisa in the
bank, joined the crowd and aggravated their mood. The manager
stood at the door and tried to placate them. He declared that bank
had plenty of money but no immediate means of collecting it; He
urged them to go home and come back the next day.
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(i) Where did the people gather?

(ii) What did they shout?

(iii) Who aggravated their mood?

(iv) What did the manager try?

(v) What did he declare?

(vi) Write the synonym of 'fetch'?

7. Read the following passage carefully and answer ANY FOUR
questions given after it. 4 × 1 = 4

Some students were asked to list what they thought were the present
‘Seven Wonders of the World’. The following received the most votes,
in order of ranking:

1. The Pyramids of Egypt 2. The Taj Mahal  3. The Grand Canyon
4. The Panama Canal  5.The Empire State Building  5. St. Peter’s
Basilica and 7. The Great Wall of China. While gathering the votes
the teacher noted that one student had not finished her paper yet.
On being asked why, the girl said that she was unable to make up
her mind as there were so many wonders. Then the teacher said,
“Tell us what you have, and maybe we can help.” The girl then read,
‘1. To see  2. To hear  3. To touch 4. To taste 5. To feel 6. To laugh
and 7. To love’. The room became quiet. The things we overlook as
being simple and ordinary are truly wondrous. A gentle reminder
that the most precious things in life cannot be built by hand or
bought by man.

i) What was the task given to the students?

ii) Name the first two of the seven wonders that got most votes.

iii) Why couldn’t  a girl of that class make up her mind?

iv) What are the first three wonders that the girl read out?

v) How do we often regard truly wondrous things?

vi) What does the girl’s response remind us of?
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8. Study the advertisement given below and answer ANY FOUR
questions given after it. 4 × 1 = 4

(i) What is the advertisement about?

(ii) What does the railways ban?

(iii) What is the punishment for carrying inflammables in trains?

(iv) What is the security helpline number?

(v) Write the motto of the South Central Railway.

(vi) What will decide your safety?

9. Read the pie-chart below and answer ANY FOUR questions given
after it. 4 × 1 = 4

(i) What does the pie chart show?

(ii) How many factors contribute to the cost of publishing?

(iii) What is the expenditure incurred on Royalty?

(iv) The minimum expenditure is incurred on ________
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(v) What two factors together contribute to 50% of the total cost of
publishing?

(vi) More money was spent on binding than on printing. Say true or
false.

SECTION - C

10. Rewrite the following passage / sentences using EIGHT of the
punctuation marks wherever necessary. 8 × ½ = 4

having got the larger frame i looked more closely at my own country
and wrote the discovery of india in it i concentrated on my countrys
past and the story of its development

11. Match ANY FOUR of the following words in Column ‘A’ with their
meanings/definitions in Column ‘B’. 4 × 1  = 4

(i) agenda ( ) (a) the art of good handwriting.

(ii) pedestrian ( ) (b) a person who believes in the
existence of God.

(iii) quarantine ( ) (c) a list of things to be discussed at a
meeting.

(iv) calligraphy ( ) (d) one who is inexperienced or new to
a job.

(v) novice ( ) (e) a person walking on a street.

(vi) theist ( ) (f) confinement to one place to prevent
the spread of infection.

12. Use ANY FOUR of the following idioms/phrases in sentences of
your own. 4 × 1 = 4

(i) once in a blue moon (ii) turn a deaf ear

(iii) thrilled to bits (iv) a hot potato

(v) apple of my eye (vi) rags to riches

13. Make FOUR meaningful sentences from the verb pattern given
below. 4 × 1 = 4

An example is given as a model.

Subject Transitive Verb Object

I wrote this story
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14. Fill in the EIGHT blanks of the given bank form based on the
information furnished below. 8 × ½ = 4

You are Mr.K. Akash, you need to pay your MBA exam fee Rs.2000/
- through a Banker’s Cheque. Pay the amount in favour of The
Director, Amrutha College of Management at the Ameerpet Branch,
Hyderabad. The exchange is Rs.30/-. You are taking the Banker’s
Cheque at SBI, Koti Branch, Hyderabad.

15. Prepare a curriculum vitae in response to the following
advertisement. 1 × 4 = 4

16. Write a short paragraph describing a process of making tea for two
people. 1 × 4 = 4

OR

Write a short paragraph describing a process on making a flower
bouquet.

1
2

3

4

5

6

7

10

8

9
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OR

Write a short paragraph describing how you book a railway ticket.

17. Write a letter to the Principal of your college requesting him/her
to issue your transfer, bonafide and conduct certificates. 1 × 4 = 4

OR

Write a letter to the Editor based on the hints given below:

Plantation of trees - protecting them - rains - no water problems -
adaption of 20 trees by one person - green earth - happy earth -
quality life

OR

Write a letter to the District Collector requesting him/ her to take
necessary steps to close the unused open bore wells which create a
big threat to children.

18. Read the following passage and make notes. 1 × 4 = 4

Adolescence is a time of life when a person's self esteem is known
to fluctuate significantly. It is estimated that up to a half of all
adolescents will struggle with low self esteem .There are some
common indicators that suggest a teenager may have issues with
self esteem.

One of the most observable signs of low self esteem is when a teenager
walks everywhere with his head pointed downwards and his chin
stuck to the top of his chest. Teens with low self esteem often feel
like they want to hide and get through public situations unnoticed.
Teens who feel that they are not worth much may find it very hard to
make eye contact with others when communicating. They avoid
making a connection because they assume others have the same
negative view of them as they do. Then again, the language teens
use will often convey what it is they believe. Phrases like "l am
useless", "I always get it wrong," are examples of someone expressing
negative beliefs about who she is.

Teenagers who feel bad about themselves will often seek to be
negative about others. This is usually a defence mechanism. Often
teens will be most critical of others who exhibit similar qualities that
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they don't like about themselves. Feelings of worthlessness can also
manifest in a genuine fear of physical contact from others. When
teens feel they are not valuable or worthwhile they can crave
attention.

Feelings of inadequacy in teens may also be manifested as excessive
bragging about themselves, their achievements, or appearance. They
may speak too loudly and be aggressive in their tone. They may also
avoid social situations. Teens who have few friends or weak bonds
with peers commonly have low self esteem.

19. Mark the stress for ANY EIGHT of the following words. 8 × ½ = 4

(i) supermarket (ii) prime minister

(iii) employee (iv) examination

(v) project (vi) freedom

(vii) above (viii) engineer

(ix) delicious (x) historic

20. Write a dialogue between two friends who are going to join in an
Engineering college in about 4 or 5 meaningful exchanges.

1 × 4 = 4

OR

Write a dialogue between a student and the principal about
establishing an English language lab at the college.

OR

Write a dialogue fixing an appointment with the doctor on the phone.

_________

SPECIAL NOTE : While setting the Question Paper one must follow
the instructions related to the reduction in syllabus and
enhancement of choice in Question Paper without fail.



TSBIE - MODEL PAPER

GEOGRAPHY - I

Time: 3 Hours                Max.Marks: 75
_________________________________________________________________

SECTION - A 3 x 10 = 20

I. Answer any three of the following questions in not more
that 40 lines each. Each question carries ten marks.

1. Why is human geography an important part of geography.
Explain with suitable explains.

2. What are sedimentary rocks? Describe the types of sedimentary
Rocks and how they are formed?

3. Define weathering and discuss different types of Physical weath-
ering.

4. What are the essential elements for measuring the weather.

5. Explain various elements of hydrological cycle with a neat
diagram

6. What is ecosystem and explain various components of ecosystem

7. Differentiate between a natural disaster and manmade disaster.

SECTION - B 5 x 5 = 25

II. Answer any five of the following questions in not more that
20 lines each. Each question carries five marks.

1. Why should we study geography?

2. How are the convectional currents in the mantle initiated and
maintained?

3. Write a short note on extrusive and intrusive igneous rocks.

4. Write a note on Fold Mountains.

5. Mention the factors responsible for Erosion.

6. Main elements of weather.

7. Write a short  note  on scope of hydrology



8. Briefly describe the indian ocean currents

9. What is ecosystem and explain various types of ecosystem.

10. Abiotic components of ecosystem.

11. Differentiate between peninsular and non peninsular floods.

SECTION - C       10 x 2 = 20
III. Answer any ten of the following questions in not more that

5 lines each. Each question carries two marks.

1. Define Geography.

2. Define Geomorphology

3. Define the term Seismology.

4. Write a short note on Metamorphic rocks.

5. Define the term plate tectonics.

6. Define the term Hydrolysis.

7. How does the carbonation helps in weathering?

8. What do you mean by Denudation.

9. What is Atmospheric pressure?

10. What is Evaporation?

11. What is Wind wanes?

12. Define Relative humidity.

13. Write a short note on depletion of ground water.

14. Define hydrology.

15. What is Biosphere?

16. Define Climax ecosystem.

17. Define Ecology.

18. What is Hurricanes?

19. How Tsunami originates?

20. What is Cloud bursts?



TSBIE - MODEL PAPER

GEOGRAPHY - II

Time: 3 Hours                Max.Marks: 75
_________________________________________________________________

SECTION - A 3 x 10 = 30

I. Answer any three of the following questions in not more
that 40 lines each. Each question carries ten marks.

1. Discuss the trend of world population change all through the

human evolution.

2. Discuss about sectors of economic activity its concepts and

trends.

3. Define resources. Classify them according to their activities

and explain in detail the type of resources.

4. Explain indetail about the Himalayan mountain river system

5. Critically analyse the challenges of urban development in India.

How to overcome them ?

6. What are plantation crops and explain the region wise

distribution of Tea in India.

7. Explain the geographical distribution of forests in Telangana.

SECTION - B 5 x 5 = 25

II. Answer any five of the following questions in not more
that 20 lines each. Each question carries five marks.

8. What are the population problems in developed and

developing countries?

9. What is meant by Pastoral Herding?

10. What are the advantages of road transport ?

11. What are the bases of classifying settlements?

12. What are the various causes of migration?

13. What are the major Iron Ore producing areas in India?



14. Water shed management programmes in India.

15. IT Hubs of India

16. Write a short note on Water Transportation in India?

17. Describe Haritha Haram programme in Telangana.

18. Distribution of Urban population in Telangana

SECTION - C 10 x 2 = 20
III. Answer any ten of the following questions in not more that 5

lines each. Each question carries two marks.

19. What is ment by Natural Environment?

20. Why do we study Human Geography

21. What is Population Census?

22. What are agro based industries?

23. What is meant by Transhumance?

24. What is a trans–continental railway?

25. Define Renewable resources.

26. Define the term Million cities.

27. Write briefly about Deccan plateau.

28. What are Coral reefs.

29. Define the term Soil.

30. Social consequence of migration

31. What are Fossil Fuels?

32. Characteristics of Intensive farming.

33. Benefits of Rain water Harvesting.

34. T-Hub

35. Ports in south India.

36. Upper Telangana pleateau

37. Forest products in Telangana.

38. ST population in Telangana



TSBIE - MODEL PAPER
GEOGRAPHY- II (Old)

Time : 3 Hours Max. Marks : 75

Section - A

Note: Answer any three of the following Questions in not exceeding 40 lines Each  ‘Each

Question carries 10 marks 3x10=30

1. Explain the way how world population unevenly distributed all over the globe?

2. Discuss about Subsistance Agriculture?

3. What are the Major types of Soils in India. Discuss any three types of soils in Details?

4. Write an essay on growth and distribution of population in india.

5. Explain different types of farming in india.

6. Disucuss the Distribution on Production of Minerals in India?

7. Find out the factors affecting railways in India?

Section - B

Note: Answer any Five of the following Questions in not exceeding 20 lines Each  ‘Each

Question carries 5 marks 5x5=25

8. What are the factors affective distributaion of population?

9. Explain in brief about conservation of resources?

10. What are the Locational Factors of Industries?

11. Give differeces between tertiary activities and secondary activities?

12. Write about Himalyan Mountain Region?

13. Write about India’s Population density?

14. Cotton growing areas in India?

15. Ground water depression?

16. Write about solar energy resources?

17. IT Hubs in India?

18. Distribution of rainfall in Telangana?



Section - C

Note: Answer any Ten of the following Questions in not exceeding 10 lines Each  ‘Each

Question carries 2 marks 10x2=20

19. Write about Concept of Economic Geography?

20. What is Demography?

21. What is Population Density?

22. What are the effects of Environmental Degradation?

23. Write about Ozone Layer Depletion?

24. What is Primary Economic Activity?

25. What is Transhumance?

26.  What are agrobase Industries?

27. What are Quinary Activities?

28. Write a Short note on Deccan Plateau?

29. Alluvial Soils?

30. Problems of Population growth?

31.  Jhum Farming?

32. Types of Irrigation?

33. Ground water resources?

34. Lignite Reserves in India?

35. Silicon valley?

36. Green Field Airports?

37. Telangana Plateau?

38. Sex Ratio in Telangana?
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Part - III

GEOGRAPHY, Paper - I

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 75

 

I. 


 


 

 

 

 

 

 

 

II. 
 

 

 

 

 
Turn Over
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 

 

 

 

 

 

 

III. 
 

 

 

 

 

 

 

 



 



 

 

 

 

 

 

 

 

 
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Part - III

GEOGRAPHY, Paper - II

(Telugu Version)

IPE 

Time : 3 Hours Max. Marks : 75

 

I. 


 

 

         


 

       


 

 

 

II. 
 

 

 

 
Turn Over
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 

 

 

 IT

 

 

 

 

III. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 T-Hub

 

 

 

 ST



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´ eT+&É*, ôV’≤<äsêu≤<é
Ç+≥Øà&çj·T{Ÿ ~«rj·T dü+e‘·‡s¡+

uÛÑ÷>√fi¯XÊÁdüÔ+ ` 2 (z˝Ÿ¶)
qeT÷q Á|üXÊï|üÁ‘·+

düeTj·T+: 3 >∑+≥\T e÷s¡Tÿ\T: 75

$uÛ≤>∑+ $uÛ≤>∑+ $uÛ≤>∑+ $uÛ≤>∑+ $uÛ≤>∑+ ` m
I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T
sêj·T+&ç. 3x10=30

1. Á|ü|ü+#· yê´|üÔ+>± »HêuÛ≤ ndüÔe´düÔ+>± $düÔ]+#·&ÜìøÏ <ë] rdæq |ü]dæú‘·T\qT $X¯Bø£]+#·+&ç?
2. $kÕÔ|üq e´ekÕj·T+ >∑T]+∫ $e]+#·+&ç?
3. uÛ≤s¡‘·<˚X¯+˝Àì Á|ü<Ûëq eTè‹Ôø£\ >∑T]+∫ ‘Ó*|æ, @y˚ì eT÷&ÉT eTè‹Ôø£\ >∑T]+∫ $es¡+>±

‘Ó\|ü+&ç.
4. uÛ≤s¡‘·<˚X¯ »HêuÛ≤ ô|s¡T>∑T<ä\ eT]j·TT $düÔs¡D >∑T]+∫ yê´dü+ sêj·T+&ç?
5. uÛ≤s¡‘·<˚X¯+˝Àì $$<Ûä s¡ø±\ ùd<ë´\qT $X¯Bø£]+#·+&ç?
6. uÛ≤s¡‘·<˚X¯+˝À KìC≤\ ñ‘·Œ‹Ô eT]j·TT |ü+|æD°ì $e]+#·+&ç?
7. ¬s’̋ Ò«\ô|’ Á|üuÛ≤$‘·+ #˚ùd ø±s¡ø±\ >∑T]+∫ $e]+#·+&ç?

$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_
II. øÏ+~ yê{Ï̋ À @y˚ì ◊<äT Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T sêj·T+&ç.

5x5=25
8. »HêuÛ≤ $düÔs¡DqT Á|üuÛ≤$‘·+ #˚ùd ø±s¡ø±\T @$T{Ï?
9. eqs¡T\ |ü]s¡ø£åD >∑T]+∫ dü+øÏå|üÔ+>± sêj·T+&ç?
10. |ü]ÁX¯eT\ kÕú|üq≈£î ø±e*‡q |ü]dæú‘·T\T @$T{Ï?
11. e÷<Ûä́ $Tø£ eT]j·TT ‘·èrj·T ø±s¡́ ø£\bÕ\ eT<Ûä́  >∑\ uÒ<Ûë\ >∑T]+∫ sêj·T+&ç?
12. Væ≤eT\j·T |üs¡«‘· ÁbÕ+‘ê\T >∑T]+∫ Áyêj·T+&ç?
13. »qkÕ+Á<ä‘·
14. uÛ≤s¡‘·<˚X¯+˝À Á|ü‹Ô |ü+&ç+#˚ ÁbÕ+‘ê\T
15. uÛÑ÷>∑s¡“¤ »\ø°åD‘·



16. kÂs¡X¯øÏÔ >∑T]+∫ sêj·T+&ç?
17. uÛ≤s¡‘·<˚X¯+˝Àì ◊.{Ï Vü≤uŸ\T
18. ‘Ó\+>±D˝À es¡̧bÕ‘· $düÔs¡D

$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ
III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T sêj·T+&ç.

10x2=20

19. Ä]úø£ uÛÑ÷>√fi¯XÊÁdüÔ+ nqT uÛ≤eq
20. »HêuÛ≤ dæú‹>∑‘·T\qT n<Ûä́ j·Tq+ #˚ùd XÊÁdüÔ+ >∑T]+∫ Áyêj·T+&ç?
21. »qkÕ+Á<ä‘· nq>±H˚$T?
22. Á|üø£è‹ dæ<ä∆ eqs¡T\ >∑T]+∫ Áyêj·T+&ç?
23. zCÀHé bıs¡ ø°åD‘·
24. ÁbÕ<∏ä$Tø£ Ä]úø£ ø±s¡́ ø£\bÕ\T @$T{Ï?
25. Á{≤Hé‡ VüQ´yÓTHé‡ n+fÒ @$T{Ï?
26. e´ekÕj·T Ä<Ûë]‘· |ü]ÁX¯eT\T @$T{Ï?
27. ø°¢qØ ø±s¡́ ø£̋ ≤bÕ\T @$T{Ï?
28. <äø£ÿHé |”sƒ¡uÛÑ÷$T
29. ˇ+Á&ÉT eTè‹Ôø£\T
30. »HêuÛ≤ ô|s¡T>∑T<ä\ düeTdǘ \T
31. pyéT e´ekÕj·T+
32. ˙{Ï bÕs¡T<ä\
33. uÛÑ÷>∑s¡“¤ »\eqs¡T\T
34. *¬>’ï{Ÿ ìπøåbÕ\T
35. dæ*ø±Hé yê´©
36. Vü≤]‘· $e÷HêÁX¯j·TeTT\T
37. ‘Ó\+>±D |”sƒ¡uÛÑ÷$T
38. Ád”Ô, |ü⁄s¡Twü ìwüŒ‹Ô
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0104
Total No. of Questions - 16
Total No. of Printed Pages - 6

Regd.
No.

Part - II

HINDI, Paper - I
(Second Language)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 100

 1. 

2. 


60

I.  1 × 6 = 6

1. 


2. 


3. 


II. 5-6  1 × 6 = 6

1. 

2. 

3. 

Turn Over
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III. 5-6  1 × 6 = 6

1. 

2. 

3. 

IV. 3-4  2 × 4 = 8

1. 

2. 

3. 

4. 

5. 

V.  2 × 3 = 6

1. 


2. 




3. 


 

4. 




Turn Over
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5.  




VI.  2 × 3 = 6

1. 


2. 


3. 


4. 


5. 


VII.  2 × 3 = 6

1. 
2. 
3. 
4. 
5. 

VIII.   2 × 3 = 6

1. 
2. 
3. 
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4. 


5. 
IX.  5 × 1 = 5

1. 
2. 
3. 
4. 
5. 

X.  5 × 1 = 5

1. 
2. 
3. 
4. 
5. 


40

XI. 
5 × 1 = 5









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1. 
2. 
3. 
4. 
5. 

XII. 

1.  4 × 1 = 4

i)  ii)  iii)  iv) 

v)   vi)  vii)  viii) 

2.  4 × 1 = 4

i)  ii)  iii)  iv) 

v)   vi)  vii)  viii) 

XIII.  8 × 1 = 8

1.  2.  3.  4. 

5.  6.  7.  8. 

9.  10.  11.  12. 

13.  14.  15.  16. 

XIV. 
8 × 1 = 8

1. 

2. 

3. 

4. 

5. 

6. 
Turn Over
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7. 

8. 

XV.  6 × 1 = 6

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

10. 

11. 

12. 

XVI.  5 × 1 = 5

1. I prefer cricket to football.

2. Don’t go home .

3. I do my work my self.

4. He has helped me.

5. I have read.

6. I have a pen.

7. They are my books.

8. It was terrible hot.

9. He can do anything.

10. I don’t play football.
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ÃÓYåÁLÂ: Ãßy ü«Áí EuåƒÁÆ| “¯ @

I. uå™íu¬uQo ú˘ÁÊ∆Áı ™ı Ãz uN˛ã“yÊ tÁz N˛y ÃÊtß| Ãu“o √ÆÁPÆÁ N˛yu\L @ 2 × 5 = 10

E) oÓ \ååy ™å N˛y Euo ßÁz∫y FåNz˛ N˛“z úuoÆÁÆÁz @@
u\Æ oz∫z N˛ZÏ ßzt Gú\ “{ \Áå ú∫ÁÆÁz \ÁÆÁz @
Æ“ ¬z Eúåy ¬NÏ˛b N˛™u∫ÆÁ §“Ïou“ åÁY åYÁÆÁz @@
<<ÃÓ∫tÁÃ<< o§ u§“ÂuÃ \ÃÁztÁ G∫ NÊ˛e ¬TÁÆÁz @

EÁ) oÏ¬Ãy úÁƒÃ Nz˛ Ã™{, á∫y N˛ÁzuN˛¬Á ™Á{å @
E§ oÁz tÁtÏ∫ §Ázu¬ “¯, “™¯ úÓuZ “¯ N˛Á{å @@

F) åÆåÁ tzÆ §oÁÆ Ã§, u“Æ N˛Á{ “zo E“zo @
\{Ãz uå™|¬ EÁ∫Ãy ß¬y §Ï∫y N˛u“ tzo @@

F|) oÓ rÁå u“ãtÏEÁzÊ ™ı, F|™Áå ™ÏuÀ¬™Áı ™ı @
oÓ üz™ uN¿˛u≥ÁÆå ™ı, oÓ ÃnÆ “{ ÃÏ\å ™ı @@

G) q™Á, tÆÁ, oú, nÆÁT, ™åÁz§¬
Ã§N˛Á u¬ÆÁ Ã“Á∫Á
ú∫, å∫-√ÆÁV¿ ÃÏÆÁzáå oÏ™Ãz
N˛“Áz, N˛“ÁÂ, N˛§ “Á∫Á

Turn Over
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II. uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ N˛uƒoÁ N˛Á ÃÁ∫ÁÊ∆ u¬uQL @ 1 × 10 = 10

E) Eãƒz m

EÁ) ∆uO˛ EÁ{∫ q™Á

F) ™Ï^z N˛t™ N˛t™ ú∫

III. uå™íu¬uQo ü«ÁíÁı Nz˛ G∫ ÃÊqzú ™ı tyu\L @ 5 × 1 = 5

E) N˛§y∫ Nz̨  TÏª N˛Á{å sz ?

EÁ) N˛Á{å <Ã™t∫Ãy< “{ EÁ{∫ MÆÁı ?

F) ™y∫ÁÂ Nz˛ TÏª N˛Á åÁ™ §oÁFL @

F|) NÏ˛Ê\ EÁ{∫ ƒå ™ı N˛uƒ uN˛Ãz jÓÂj ∫“Á “{ ?

G) ∆uO˛ EÁ{∫ q™Á N˛uƒoÁ Nz˛ N˛uƒ N˛Á{å “{ ?

IV. uå™íu¬uQo T˘ÁÊ∆Áı ™ı Ãz uN˛ã“yÊ tÁz N˛y ÃÊtß| Ãu“o √ÆÁPÆÁ N˛yu\L@2×5=10

E) <<“ÁÂ, ™¯ ¢˛ÁÂÃy ú∫ oÁz Y‰j \ÁHÂTÁ, ú∫ oÏ©“Á∫Á uo∫ÀN˛Á∫ o§ ßy N˛∫
ÃN˛oÁ “ÓÂ@<<

EÁ) Foåy uƒå™¿oÁ, Foåy Àú…b ÀƒyN˛Á∫ÁzuO˛ @ ƒ“ ßÁz¬z sz EÁ{∫ ¬ÁzT GåNz˛
ßÁz¬zúå N˛Á ¬Áß GeÁoz sz @

F) EÁ∆Á oÁz §‰gy Yy\ “{, EÁ{∫ u¢˛∫ §ÄÁÁı N˛y EÁ∆Á! GåN˛y N˛¡úåÁ oÁz ∫ÁF|
N˛Á úƒ|o §åÁ ¬zoy “{ @

F|) MÆÁ N˛“Á? \Ï§Áå ¬‰gÁoy “{ §t„\Áo N˛“Î N˛y @ Q§∫tÁ∫ ™z∫y ™ÁÂ Nz˛
u¬L NÏ˛Z ßy N˛“Á oÁz -

G) <™z∫Á ÜÆzÆ ™åÏ…ÆÁı N˛Áz §ãáå ™ı gÁ¬åÁ å“Î, §ãáå Ãz ™ÏO˛ N˛∫åÁ “{ @<<

V. uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ úÁe N˛Á ÃÁ∫ÁÊ∆ u¬uQL @ 1 × 10 = 10

E) ÃÄÁy ƒy∫oÁ

EÁ) LzÃz sz üs™ ∫Á…b~úuo

F) F|tTÁ“

F|) ÀƒÁ™y tÆÁåÊt
Turn Over
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VI. uå™íu¬uQo Ãßy ü«ÁíÁı Nz˛ G∫ ÃÊqzú ™ı u¬uQL @ 5 × 1 = 5

E) ÃÄÁz ƒy∫ úÏª  N{˛Ãz “Ázoz “¯ ?

EÁ) ∫Á…b~úuo \y Ãz N˛Á{å u™¬åÁ YÁ“oz sz ?

F) F|t N˛§ ™åÁÆy \Áoy “{ ?

F|) uN˛Ã ∆“∫ ™ı ÀƒÁ™y tÆÁåÊt N˛Áz uƒ  utÆÁ TÆÁ ?

G) TÁÆ N˛Á åÁ™ MÆÁ ∫QÁ TÆÁ ?

VII. E) uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ N˛“Áåy N˛Á ÃÁ∫ÁÊ∆ u¬uQL @ 1 × 15 = 15

1) úÏ∫ÀN˛Á∫ 2) oyå §ÄÁı

3) ú∫™Án™Á N˛Á NÏ˛Á 4) ƒÁúÃy

EÁ) uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ úÁfi N˛Á Yu∫fi uYufim u¬uQL @ 1×5=5

1) ú∫™Án™Á N˛Á NÏ˛Á N˛“Áåy ™ı §zoÁ\ §Át∆Á“

2) ƒÁúÃy N˛“Áåy ™ı T\Áá∫ §Á§Ó

3) úÏ∫ÀN˛Á∫ N˛“Áåy N˛y ™áÏu¬N˛Á

4) oyå §ÄÁı N˛“Áåy ™ı ¬zuQN˛Á

VIII. E) uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ ü«Áí N˛Á G∫ u¬uQL @ 1 × 8 = 8

1) Ã∫N˛Á∫y úfiÁYÁ∫ Nz˛ ü™ÏQ üN˛Á∫ MÆÁ “{ ?

2) Eá|-Ã∫N˛Á∫y úfi uN˛Ãz N˛“oz “¯ ? LN˛ GtÁ“∫m üÀoÏo N˛yu\L @

3) úu∫úfi N˛Á Es| MÆÁ “{ ? GtÁ“∫m Nz˛ øú ™ı LN˛ úu∫úfi u¬uQL @

EÁ) uå™íu¬uQo ™ı Ãz uN˛Ãy LN˛ ü«Áí N˛Á uƒÀowo G∫ u¬uQL @ 1×8=8

1) üÆÁz\å™Ó¬N˛ u“ãty N˛y EƒáÁ∫mÁ LƒÊ ™“nƒ ú∫ üN˛Á∆ gÁu¬L @

2) ∫Á…b~ßÁ Á LƒÊ ∫Á\ßÁ Á Nz˛ EÊo∫ N˛Áz Ã™^ÁFL @

3) ÃÁ∫¬zQå u“ãty Nz̨  ü™ÏQ ¬qmÁı ú∫ üN˛Á∆ gÁu¬L @

Turn Over
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F) uå™íu¬uQo ™ı Ãz uN˛ã“Î EÁe úÁu∫ßÁu N˛ ∆£tÁı Nz˛ u“ãty úÆÁ|Æ u¬uQL@
8 × 1 = 8

1) Audit Officer 2) Ledger 3) Saving Account

4) Policy 5) Counting 6) Vice-Chancellor

7) Growth 8) Secretary 9) Loan

10) Constitution 11) Transfer 12) Identity Card

13) Admission 14) Clerk 15) Immunity

16) Republic

F|) uå™íu¬uQo N˛ÁÆÁ|¬Æyå ƒÁMÆÁÊ∆Áı ™ı Ãz uN˛ã“Î Z: N˛Á u“ãty ™ı EåÏƒÁt
N˛yu\L @ 6 × 1 = 6

1) Inquiry may be completed.

2) For signature.

3) Delay is regretted.

4) Please speak.

5) Draft is approved.

6) Report is called for.

7) For proposal.

8) Await for further report.

9) Kindly acknowledge.

10) Return the papers urgently.

11) Seen and returned with thanks.

12) Submit the report at an early date.
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0241
Total No. of Questions - 7
Total No. of Printed Pages - 4

Regd.
No.

Part - III

HINDI, Paper - II
(Modern Language)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)
Time : 3 Hours Max. Marks : 100

I. 2×6=12

1)

2)

3)
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1)

2)

3)

II. 2×6=12

III. 1 × 10 = 10
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IV. 1 × 10 = 10

V. 1 × 10 = 10

1)

2)

3)

1 × 6 = 6

1)

2)

3)

VI. 1 × 8 = 8

1)

2)

3)

VII. 8 × 1 = 8

1. Correspondence 2. Memo 3. Deputation

4. Loan Account 5. Renewal 6. Blood Bank

7. Biology 8. Cell

Turn Over
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2 × 4 = 8

1. 2. 3. 

4. 5. 

2 × 4 = 8

1. 2. 3. 

4. 5. 

1 × 8 = 8

1)

2)
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0204
Total No. of Questions - 16
Total No. of Printed Pages - 8

Regd.
No.

Part - II

HINDI, Paper - II
(Second Language)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 100

 1. 

2. 


60

I.  1 × 6 = 6

1. 


2. 


3. 


II. 5-6  1 × 6 = 6

1. 

2. 

3. 
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III. 5-6  1 × 6 = 6

1. 
2. 
3. 

IV. 3-4  2 × 4 = 8

1. 
2. 
3. 
4. 

V. 
2 × 3 = 6

1. 





2. 






3. 





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4. 



5. 




VI. 
2 × 3 = 6

1. 



2. 


3. 


4. 


5. 


VII. 
2 × 3 = 6

1. 

2. 

3. 

4. 

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5. 

VIII.  
2 × 3 = 6

1. 

2. 

3. 

4. 

5. 

IX.  5 × 1 = 5

1. 

2. 

3. 

4. 

5. 

X.  5 × 1 = 5

1. 

2. 

3. 

4. 

5. 
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
40

XI.  1 × 5 = 5

1. 

2. 

3. 

XII.  8 × 1 = 8

1.  2.  3.  4. 

5.  6.  7.  8. 

9.  10.  11.  12. 

13.  14.  15.  16. 

XIII.  5 × 1 = 5

1.  2.  3.  4.

5.  6.  7.  8. 

9.  10. 

XIV. 
4 × 1 = 4

.

.

.
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1. 

2. 

3. 

4. 

    
 4 × 1 = 4



 





          






1. 

2. 

3. 

4. 

Turn Over
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XV.  4 × 1 = 4

1.  2. 

3.  4. 

5.  6. 

7.  8. 

 4 × 1 = 4

1.  2. 

3.  4. 

5.  6. 

7.  8. 

XVI.  3 × 2 = 6

1.  2. 

3.  4. 

5.  6. 

7.  8. 



Model Paper
History, Paper -II (Old)

Section - A

Note: Answer any three the following Questions is not exceeding 40 lines Each  ‘Each
Question carries 10 marks 3x10=30

1. Trace the Georaphical features of Telangana

2. Estimate the Greatness of Kakatiya Ganapathi deva

3.  Bring out the main features of Administrative System of Qutub shahi’s

4. Estimate the Greatness of Mir Osman Ali Khan

5. Critically Exam in the Telangana Armed Sturggle.

6. Discuss the Jai Telangana Movement of 1969.

Section - B

Note: Answer any Eight the following Questions is not exceeding 20 lines Each  ‘Each
Question carries 5 marks. 22 Question is Compulsory 8x5=40

7. Write about Usages of Archaeological sources of wrigthing Telangana History.

8. Write Short essay on Madhava Varman IV

9. Discuss th Achivements of Rudramadevi.

10. Write about Rebellian of Sammakka Sarakka

11. Telugu Litarature Under Qutub Shahis.

12. Discuss the Role of Nijam - UL- Mulk in the establishment of Hyderabad State.

13. Write About Wahbi Movement.

14. Explain the Inam Land Tenure Systems of Nizams

15. Write about the surf - a- khas System.

16. Write a note on the Postal Communication Services of Nizam’s State.

17. Illustrate the growth of industrialization of Nizam State.

18. Give an account of the Library movement of Telangana.

19. Write a Short essay on the Dalith movement in Telangana.

20. Write about the Telangana Praja Samiti?

21. Write anout the Srikrishna Committee?

22. Show the Identification in Telangana Districts given the Map.

1) Adilabad 2) Medak 3) Nalgonda 4) MahaboobNagar 5) Warangal.

(Or)

Show the Extent of  Kakatiya Kindomsin the Given Map and Locate the Following

        Places.



      1) Hanmakonda 2) Palampet 3) Draksharamam 4) Motupally 5) Panagallu

Section - C

Note: Answer any Fifteen the following Questions is not exceeding 5 lines Each  ‘Each
Question carries 2 marks. 15x2=30

23. Write about Rivers of Telangana.

24. Write about Gouthami putra Shatakarni.

25. Write about Vishnu Kundin king Indra Bhattaraka.

26. Write about Ikshvakus Contribution to Buddhism.

27. Write about Chandupatla Inscription

28. Write about Ramappa Temple.

29. Write about Golconda.

30. Write about Charminar.

31. Write about Subsidary Alliance.

32. Write about Nizams Currency.

33. Write about Agraharas.

34. Write about Amarchinta Samsthanam.

35. Write about Gadwal Samsthanam.

36. Write about Nizams Guranteed State Railway Scheme.

37. Write about University Education.

38. Write about Telangana Scholors.

39. Write about SuravaramPrathapareddy.

40. Write about Andhra Mahila sabha.

41. Write about Komaram Bheem.

42. Write about Vetti System.

43. Write about Police Action 1948

44. Write about Prof. Jayashankar.

45. Write about Kaloji Narayana Rao.

46. Write about Million March

47. Write about Hala.



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´ eT+&É*, ôV’≤<äsêu≤<é
Ç+≥Øà&çj·T{Ÿ ~«rj·T dü+e‘·‡s¡+

#·]Á‘· ` 2 (z˝Ÿ¶)
qeT÷q Á|üXÊï|üÁ‘·+

düeTj·T+: 3 >∑+≥\T e÷s¡Tÿ\T: 100

ôdø£åHé ` m

I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T
sêj·T+&ç. 3x10=30

1. ‘Ó\+>±D uÛÖ>√[ø£ \ø£åD≤\qT $e]+#·+&ç?
2. ø±ø£rj·T >∑D|ü‹ <˚e⁄&ç |òüTq‘·qT $e]+#·+&ç?
3. ≈£î‘·TuŸcÕV”≤\ |ü]bÕ\q e´edüú eTTK´\ø£åD≤\qT $e]+#·+&ç?
4. MTsY ñkÕàHé n©U≤Hé |òüTq‘·qT $e]+#·+&ç?
5. ‘Ó\+>±D kÕj·TT<Ûä b˛sê{≤ìï $eTs¡ÙHê‘·àø£+>± |ü]o*+#·+&ç?
6. 1969 C…’ ‘Ó\+>±D ñ<ä́ e÷ìï #·]Ã+#·+&ç?

ôdø£åHé ` _

II. øÏ+~ yê{Ï̋ À @y˚ì mì$T~ Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T
sêj·T+&ç. 22e Á|üX¯ï ‘·|üŒìdü]. (|ü≥+)    8x5=40

7. ‘Ó\+>±D #·]Á‘·≈£î dü+ã+~Û+∫q |ü⁄sêedüTÔ Ä<Ûësê\qT sêj·T+&ç?
8. Hê\Ze e÷<Ûäees¡àô|’ ˇø£ \|òüTT yê´dü+ sêj·T+&ç?
9. s¡TÁ<äeT<˚$ kÕ~Û+∫q $»j·÷\qT $e]#·+&ç?
10. düeTàø£ÿ ` kÕs¡ø£ÿ\ ‹s¡T>∑Tu≤≥Tô|’ \|òüTT yê´K´ sêj·T+&ç?
11. ≈£î‘·TuŸcÕV”≤\ b˛wüD˝À ‘Ó\T>∑TuÛ≤cÕ $ø±dü+ >∑T]+∫ sêj·T+&ç?
12. ôV’≤<äsêu≤<é sê»´ @sêŒ≥T˝À ìC≤+`ñ˝Ÿ`eTT˝Ÿÿ bÕÁ‘·qT $e]+#·+&ç?
13. eVü≤_ ñ<ä́ e÷ìï >∑T]+∫ sêj·T+&ç?
14. ìC≤+ sêÁwüº+˝À ÇHê+ uÛÑ÷$T •düTÔ $<ÛëHêìï >∑T]+∫ sêj·T+&ç?



15. düsYŒ¤̀ @`U≤dt |ü<ä∆‹ >∑T]+∫ $e]+#·+&ç?
16. ìC≤+ sê»´ ‘·bÕ\ düe÷#ês¡ e´edüúqT >∑T]+∫ sêj·T+&ç?
17. ìC≤+ sê»´+˝À bÕ]ÁXÊ$Tø°ø£s¡D >∑T]+∫ sêj·T+&ç?
18. ‘Ó\+>±D˝À Á>∑+<∏ë\j·T ñ<ä́ e÷ìï >∑T]+∫ sêj·T+&ç?
19. ‘Ó\+>±D˝À <ä[‘· ñ<ä́ eT+ >∑T]+∫ \|òüTT yê´K´ sêj·T+&ç?
20. ‘Ó\+>±D Á|üC≤ dü$T‹ >∑T]+∫ sêj·T+&ç?
21. lø£èwüí ø£$T{° >∑T]+∫ sêj·T+&ç?
22. MTøÏ∫Ãq ‘Ó\+>±D |ü≥+˝À á ÁøÏ+~ yê{Ïì >∑T]Ô+#·+&ç?

1. Ä~˝≤u≤<é 2. yÓT<äø˘. 3. q˝§Z+&É. 4. eTVü≤ã÷uŸq>∑sY 5. es¡+>∑˝Ÿ
( Ò̋<ë)

MTøÏ∫Ãq ø±ø£rj·T |ü≥+˝À á ÁøÏ+~ yê{Ïì >∑T]Ô+#·+&ç?
1. Vü≤qàø=+&É 2. bÕ\+ù|≥ 3. Á<ëøå±sêeT+ 4. yÓ÷≥T|ü*¢ 5. bÕq>∑\T¢.

ôdø£åHé ` dæ

III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ùV≤qT Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T
sêj·T+&ç.      15x2=30

23. ‘Ó\+>±D q<äT\ >∑T]+∫ sêj·T+&ç?
24. >ö‘·MT|ü⁄Á‘· XÊ‘·ø£]í >∑T]+∫ sêj·T+&ç?
25. $wüßí≈£î+&çqT\ sêE Ç+Á<äuÛÑ{≤ºs¡≈£î&ç >∑T]+∫ sêj·T+&ç?
26. uÛÖ<ä∆äeT‘êìøÏ Çøå±«≈£î\T #˚dæq ùde >∑T]+∫ sêj·T+&ç?
27. #·+<äT|ü≥¢ XÊdüq+ >∑T]+∫ ‘Ó\Œ+&ç?
28. sêeT|üŒ<˚yê\j·T+ >∑T]+∫ sêj·T+&ç?
29. >√˝§ÿ+&É >∑T]+∫ sêj·T+&ç?
30. #ê]àHêsY >∑T]+∫ sêj·T+&ç?
31. ôd’q´ düVü‰ø±s¡ |ü<ä∆‹ >∑T]+∫ sêj·T+&ç.
32. ndü|òt C≤V”≤\ HêDÒ\T >∑T]+∫ sêj·T+&ç.
33. nÁ>∑Vü‰sê\T >∑T]+∫ sêj·T+&ç?
34. neTs¡∫+‘· dü+kÕúq+ >∑T]+∫ sêj·T+&ç?
35. >∑<ë«\ dü+kÕúq+ >∑T]+∫ sêj·T+&ç?
36. ìC≤+ >± ¬́s+{°&é ùdº{Ÿ ¬s’̋ Ò« (N.G.S.R) >∑T]+∫ sêj·T+&ç?
37. $X¯« $<ë´\j·T$<ä́  >∑T]+∫ ‘Ó\Œ+&ç?
38. ‘Ó\+>±D |ü+&ç‘·T\qT >∑T]+∫ sêj·T+&ç?



39. düTs¡es¡+ Á|ü‘ê|ü >∑T]+∫ sêj·T+&ç?
40. Ä+Á<ÛäeTVæ≤fi≤ düuÛÑ >∑T]+∫ sêj·T+&ç?
41. ø=eTs¡+ ;Û+ >∑T]+∫ sêj·T+&ç?
42. yÓ{Ïº #êøÏ] >∑T]+∫ sêj·T+&ç?
43. b˛©dt #·s¡́  1948 >∑T]+∫ sêj·T+&ç?
44. Ábıô|òdüsY ø=‘·Ô|ü*¢ »j·TX¯+ø£sY >∑T]+∫ sêj·T+&ç?
45. ø±fiÀõ Hêsêj·TD >∑T]+∫ sêj·T+&ç?
46. $T*j·THé e÷sYÃ >∑T]+∫ sêj·T+&ç?
47. Vü‰\T&ç >∑T]+∫ sêj·T+&ç?

*****
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Part - III

HISTORY, Paper - II
(Telugu Version)

Time : 3 Hours Max. Marks : 100
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Turn Over
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III.



BOARD OF INTERMEDIATE EDUCATION, HYDERABAD  

Model Question Paper History-I 

Time: 3 Hrs        Max Marks:100   

Sl. 
No. 

                          Section –A                     3x10=30 

I Answer any three (3) of the following questions is not 
exceeding 40 lines each question carries 10 Marks  

1. Write about the silent features of Indusvally civilization  
2. What are the causes for the origin of Jainism and Buddhism? 
3. Bringout the main features of Mouryan administration? 
4. Explain the military achievements of samudraguptha? 
5. Write an essay on sher shah’s Administration? 
6. Write an account of the non-co-operation movement 1920-22. 
                          Section-B                                             8x5=40 
II Answer any Eight (8) of the following questions is not 

exceeding 20 lines each, each question carries 5 Marks.           
22 Question compulsory. 

7. Discuss the importance of history ? 
8. Was Razia Sultana a great Administrator how? 
9. Write the short notes on Indus script?  
10. Write the short note on Vedic literature?  
11. Examine the causes for the rise of Magadha? 
12. Examine the causes for the decline of the Gupths Expire?  
13. Write about the administration of Harshavardhana? 
14. Analyse the position of women during the time of Rajputs. 
15. Trace the Development of Local self Government under the Cholas. 
16. Explain Balban’s Theory of Kinship.  
17. Write about  Astapradhan’s.  
18. Write a note on the judiciary system during the company rule. 
19. Listout the Results of 1857 Revolt. 
20. Give an account of the contribution of Swami Vivekananda. 
21. Discuss origin and objectives of Indian Nation congress. 
22. Show the extent of Ashoka’s Empire and locate the following places in 

the given Map. 
 a) Kalinga  
 b) Pataliputhra 
 c) Taxila 
 d) Sanchi 
 e) Ujjayani 
 (Or)  
 Identify the following places of Akbar Empire? 



 a) Delhi 
 b) Panipat 
 c) Kandahar  
 d) Khandash 
 e) Malwa 
                   Section –C                                          15x2=30 
III Answer any fifteen (15) of the following questions is not 

exceeding 5 lines each, each question carries 2 Marks. 15x2=30 
23. Write about Himalayas 
24. Write a note Epigraphy? 
25. Write about Lothal 
26. Write a note on Vedas? 
27. Write about Thirthankara 
28. Write about Trirathnas 
29. Write about Ajathasathru 
30. Write a note Kalingawar 
31. Write about the contribution of Harisena 
32. Importance of Rajatharangini 
33. Describe the Rock-Cut-Temples of Mahabalipuram  
34. Write about Qutubuddin Aibak 
35. Give an Account on Alai-Darwaza 
36. Grurunanak’s Principles 
37. Write about importance of Babar nama 
38. Discuss the Glory of Tajmahal 
39. Write about Dadaji Kondadev 
40. Write about Treaty of Purandar  
41. Write about the Provision of the Trenty of Srirangapatnam 
42. Write about Black Hole Tragedy 
43. Write about Mangal Pandey’s role as a soldier who started revolt. 
44. Analyse the workdone by Jyothibaphule  
45. Write about Dadabai Nouroji. 
46. Write about Gadarparty. 
47. Write about Champaran Satyagraha. 
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Part - III

HISTORY, Paper - I

(Telugu Version)


Time : 3 Hours Max. Marks : 100



 


 


 


 



I.  

 

 

 

 

 

 
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

II. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 









Turn Over
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

III.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



BOARD OF INTERMEDIATE EDUCATION, HYDERABAD  

Model Question Paper History-II 

Time: 3 Hrs        Max Marks:100   
Sl. 
No. 

                         Section –A                            3x10=30 

I Answer any three (3) of the following questions is not 
exceeding 40 lines each question carries 10 Marks  

1. Trace the Geographical features of Telangana. 
2. Describe the Administrative system of Kakatiya’s 
3. Discuss the achievements of Ibrahim Quli Qutub Shah. 
4. Enumerate the importance of Salarjung reforms.  
5. Examine the main events of the peasant armed struggle in Telangana. 
6. Discuss about the Telangana Rastra Samithi. 
                                Section-B                                    8x5=40 
II Answer any Eight (8) of the following questions is not 

exceeding 20 lines each, each question carries 5 Marks.           
22 Question compulsory. 

7. Write a short note on Rivers of Telangana 
8. Write about Achievements Gauthamiputhra Satakarni.  
9. Vemulavada Chalukys contribution to Telangana 
10. Discuss the Greatness of Rudramma Devi 
11. Write a short note on Art and Architectures of the Kakatiyas 
12. Development of Telugu Language under the patronage of Qutub 

Shahis. 
13. Write a short note on Nizam Ali Khan. 
14. Give an account of the Library Movement in Telangana 
15. Write a short note on Social Reform movement lead by Bagya Reddy 

Varma in Nizam State. 
16. Write about the Revolt of Ramji Gond. 
17. Khilafath movement in Hyderabad  
18. Woman role in Hyderabad freedom struggle  
19. Write a short note on Telangana Praja Samithi 
20. Write a short note on State Reorganization commission 1953 
21. Explain the Uniquness of Nagoba Jatara. 
22. Show the extent of Telangana and locate the following places in the 

given Map. 
 a) Nalgona 
 b) Mahabubnagar 
 c) Nizamabad 
 d) Warangal 
 e) Hyderabad  
 (Or)  



 Identify the following places of Kakatiya Kingdom’s? 
 a) Hanamkonda 
 b) Palampeta 
 c) Motupalli 
 d) Daksharamam 
 e) Kollipaka 
                        Section –C                                  15x2=30 
III Answer any fifteen (15) of the following questions is not 

exceeding 5 lines each, each question carries 2 Marks. 15x2=30 
23. Write about Telanganaku Harithaharam 
24. Write about Kotilingala 
25. Write about Naneghat inscription  
26. Write about Yagnasri Satakarni 
27. Write about Vishnukundins contribution to Telangana 
28. Write about Mudigonda Chalukya’s 
29. Write about Chandupatla inscription  
30. Write about Nayankara system  
31. Write about Golconda 
32. Write about Charminar 
33. Write about Ceded Districts  
34. Write about Osmania University 
35. Write about Suravaram Prathapa Reddy 
36. Write about Chanda Railway Scheme 
37. Write about Sarf –E- Khas 
38. Write about Chityala Ailamma 
39. Write about Gasti Nishan 53 
40. Write about Jagan Mohan Reddy Committee  
41. Write about Marri Chenna Reddy 
42. Role of Media in Telangana Movement 
43. Write about Million March 
44. Write about Turrebhaz Khan 
45. Write about URS Festivals 
46. Write about Edupayala Jatara 
47. Write about Ramappa Temple. 
 



               Intermediate  Kannada First year model Question paper 

 

Q.P. Code ( Gen . & Vocl.):-    0107 

Subject                                    :-    Kannada 

Medium                                   :-    ---- 

Paper                                       :-    1 

Time                                         :-    3 Hours                                       Max.Marks : 100 M 

 

     Instructions to the candidate :  

 

 I . ಈ ಕೆಳಗಿನ 3 ಪದ್ಯಗಳಲ್ಲಿ ಒ೦ದ್ಕೆೆ ಭಾವಾರ್ಥಬರೆಯಿರಿ.                                                             1X6=6     

     ಆನು೦ ದ್ುಶ್ಾಯಸನನು೦ 

 ನೀನು೦ ಮೂವರೆೀ ದ್ಲಾತನು೦ ಕಳಿದ್ ಬಳಿ    

  ಕಾೆನು೦ ನೀನೆ ದ್ಲ್ಲೀಗಳ್ 

  ನೀನುಮಗಲೆೆತತವೀದೆಯ೦ಗಾಧಿಪತೀ 

    *****   ಅರ್ವಾ   ***** 

ನವಿಲ್ಲಗೆ ಚಿತರಬರೆದ್ವರು ಯಾರು  

ಪವಳದ್ ಲತೆಗೆ ಕೆ೦ಪಿಟ್ಟವರು ಯಾರು  

ಸವಿಮಾತನರಗಿಳಿಗೆ ಹಸುರು ಬರೆದ್ವರು ಯಾರು  

ಅವನೆ ಸಲಹುವನು ಇದ್ಕೆ ಸ೦ಶಯವಿಲಿ  

        *****   ಅರ್ವಾ   ***** 

ಹಣ್ಾಾಗಬೆೀಕು ಮಗು  

ಮೈಯೆಲಿಮಾಗಿ ಹಣ್ಣಾನ ಸುಕುೆ ಬರುವವರೆಗೆ 

ಪಕವತನ ಬಿರಿದ್ ಬಾಳ  ೆಹಣ್ಣಾದೆಯೆಲಿ 

ದ್ರ ಹಾಗೆೀ ಕೊ೦ಚ ಬಾಗಬೆೀಕು.  



 

II. ಈ ಕೆಳಗಿನ ಮೂರು ಪರಶನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುತ ವಾಕಯಗಳಲ್ಲಿ ಉತತರಿಸಿರಿ                                1X6=6        

 1.ಲೊೀಕದ್ ಭಜನೆಯಲ್ಲ ಿಸಿಲುಕಿದ್ವರಿಗೆ ಮುಕಿಿ ಇಲ ಿಎ೦ಬುದ್ನುನ ಅಕೆನ ಹೆೀಗೆ ನರೂಪಿಸಿದಾೆಳ .ೆ? 

2.ಕರುಣ್ಾಳು ರಾಘವನಲ್ಲಿ ತಪಿಪಲ ಿಎ೦ಬ ಸಿೀತೆಯ ನಲುವನುನ ವಿಶ್ೆೀಿಷಿಸಿ. 

3.ನಾಡಜನರ ಗತವೆೈಭವದ್ ಕನಸನುನ ಕವಿ ಹೆೀಗೆ ವಿಡ೦ಭಿಸಿದ್ೆರೆ.? 

 

III.ಈ ಕೆಳಗಿನ ಮೂರು ಪರಶ್ೆನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುತ ವಾಕಯಗಳಲ್ಲಿ ಉತತರಿಸಿರಿ.                               1X6=6    

1.ಜೊಯೀತಷ್ಯ ಏಕೆ ವಿಙ್ಜಾನವಾಗಲಾರದ್ು.? ವಿವರಿಸಿ. 

2.ಬದ್ಲಾದ್ ಶಹಬಾದ್ನುನ ಲೆೀಖಕರು ಹೆೀಗೆ ನರೂಪಿಸಿದಾೆರೆ.? 

3.ನರಾಕರಣ್ೆ ಕಥೆಯಲ್ಲಿ ಬರುವ ಶಕು೦ತಲೆ ವಯಕಿತತವವನುನ ವಿವರಿಸಿ.? 

 

IV. ಈ ಕೆಳಗಿನ ಮೂರು ಪರಶ್ೆನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುತ ವಾಕಯಗಳಲ್ಲಿ ಉತತರಿಸಿರಿ.                            1X6=6    

1.ಭೊೀಳೆಶ೦ಕರನ ಅಣ್ಣಾ೦ದಿರೆೀ ವಾಸಿ ಎ೦ದ್ು ಪಿಶ್ಾಚಿ ಹೆೀಳಲು ಕಾರಣವೆೀನು.? 

2.ಯುದ್ೆ ಮಾಡಲು ಸೆೈನಕರು ಏಕೆ ನರಾಕರಿಸುತಾತರೆ.? 

3.ತಲೆಯಿ೦ದ್ ಕೆಲಸಮಾಡಬೆೀಕೆ೦ಬ ಸೆೈತಾನನ ಭಾಷ್ಣದ್ ಸಾವರಸಯವನುನ ವಿವರಿಸಿ.? 

 

 

 

V. ಈ ಕೆಳಗಿನ ಐದ್ರಲ್ಲಿ ಯಾವುದಾದ್ರು ಎರಡಕೆೆ ಸ೦ಧಭಥಸೂಚಿಸಿ ವಿವರಿಸಿ                                     2X3 = 6 

1.ಕಾರ೦ತಭಾನು ಹೊಳೆದ್ು ಹೊ೦ಬೆಳಕ ಚಲುವದೆ೦ದಿಗೆ  

2.ನಗುವ ಚ೦ದಿರ ಕೆೈಗ೦ಟಿಕೊಳುಿತದಾೆನೆ 

3.ಹೂ ತರುವೆನೆೀ ನನನ ಹೆಸರಿಗೆ  

4.ನಮಮ ಪಾಲ್ಲಗೆ ನತಯ ಹಬಬವಾಗಿರುತತತುತ 

5.ನಾನು ತಾಯಿಯ ಕತಥವಯ ನವಥಹಿಸಲೆೀಬೆೀಕು 



 

VI.ಈ ಕೆಳಗಿನ ಐದ್ು ಕವಿ / ಲೆಖರಲ್ಲಿ ಇಬಬರ ಪರಿಚಯ ಬರೆಯಿರಿ                                              2X3 = 6 

1.ಲಕ್ಷೀಶ       2.ಕುವೆ೦ಪು      3.ಹೆಚ್.ಎಲ್.ಪುಷ್ಪ      4.ಲಕೂೆರು ಸಿ.ಆನ೦ದ್     5.ರನನ 

 

VII.ಈ ಕೆಳಗಿನ ಐದ್ು ಪರಶ್ೆನಗಳಲ್ಲಿ ಎರಡಕೆೆ ಸ೦ಕ್ಷಪತವಾಗಿ ಉತತರಿಸಿ                                           2X3 = 6 

1.ಕಾಲು ಮತುತ ದೆೀಹವನುನ ಯಾವುದ್ಕೆೆ ಹೊೀಲ್ಲಸಲಾಗಿದೆ.? 

2.ಕಣುಾ ಹಾಗು ಕಣಥಗಳಿಗೆ ಶೃ೦ಗಾರ ಯಾವುದ್ು.? 

3.ವೃಕ್ಷವನುನ ಆದಿಕೆೀಶವ ಹೆೀಗೆ ಸಲಹುತಾತನೆ.? 

4.ನಾಡಿನ ಹೊರಗಿನ ಮತುತ ಒಳಗಿನ ಕಳಿರು ಯಾರು.? 

5.ಭೂಮಿ ಕ೦ಪಿಸಿದಾಗ ಏನಾಯಿತು.? 

 

VIII.ಈ ಕೆಳಗಿನ ಐದ್ು ಪರಶ್ೆನಗಳಲ್ಲ ಿಎರಡಕೆೆ ಸ೦ಕ್ಷಪತವಾಗಿ ಉತತರಿಸಿ                                           2X3 = 6 

1.ಹುಡುಗನ ಯಾವ ಮಾತಗೆ ವೆೈದಾಯಧಿಕಾರಿ ಬೆಪಾಪಗಿ ಹೊೀದ್.? 

2.ಮಾಸತರರು ಬಾಡಿಗೆ ಮನೆಯನುನ ಹೆೀಗೆ ಖರಿೀದಿಸಿದ್ೆರು.? 

3.ಶಕು೦ತಲೆ ತನನ ಬದ್ುಕು ಏನಾಗಿದೆಯ೦ದ್ು ಯೀಚಿಸುತಾತಳ .ೆ? 

4.ವಿಙ್ಜಾನದ್ ಸಿದಾಾ೦ತಗಳು ಹೆೀಗೆ ರೂಪುಗೊಳುುತತವೆ.? 

5.ಹುಲ್ಲಯ ಗುಹೆಯಲ್ಲಿ ನಾಪಿತ ಏನನುನ ಕ೦ಡನು.? 

 

IX.  ಈ ಕೆಳಗಿನ ಐದ್ು ಪರಶ್ೆನಗಳಲ್ಲ ಿಎರಡಕೆೆ ಸ೦ಕ್ಷಪತವಾಗಿ ಉತತರಿಸಿ                                           2X3 = 6 

1.ಸಾವಾೆರಣನನು ತನನ ಸಹೊೀದ್ರರಿಗೆ ಆಸಿಿಯನುನ ಹೆೀಗೆ ಹ೦ಚಿದ್ನು.? 

2.ಕೊೀಡ೦ಗಿ ತಾನು ಬೆಳಗಿನ೦ದ್ ಏನೆೀನು ಕೆಲಸ ಮಾಡಿದೆನೆ೦ದ್ು ಹೆೀಳುತಾತನೆ.? 

3.ಸೆೈತಾನನ ಆಗಮನವನುನ ಭಾಗವತ ಹೆೀಗೆ ತಳಿಸಿದಾೆನೆ.? 

4.ಭೊೀಳೆಶ೦ಕರ ಏನೆ೦ದ್ು ಡ೦ಗುರ ಸಾರಿಸುತಾತನೆ.? 

5.ಸೆೈತಾನನು ಮೂರು ಪಿಶ್ಾಚಿಗಳನುನ ಭೂಲೊೀಕಕೆೆ ಕಳುಹಿಸಿದ್ು ೆಏಕೆ.? 



 

X. ಈ ಕೆಳಗಿನ ಮೂರು ಪರಶ್ೆನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಪತರ ಬರೆಯಿರಿ.                                     1X6=6    

1.ವಗಾಥವಣ್ೆ ಪತರ ಮತುತ ಅ೦ಕಪಟಿಟ ನೀಡುವ೦ತೆ ಕಾಲೆೀಜಿನ ಪಾರ೦ಶುಪಾಲರಿಗೊ೦ದ್ು ಪತರ ಬರೆಯಿರಿ. 

2.ಚರ೦ಡಿ ನಮಾಥಣ ಮಾಡಲು ಮ೦ಡಲ ಪ೦ಚಾಯಿತ ಅದ್ಯಕ್ಷರಿಗೆ ಪತರ ಬರೆಯಿರಿ. 

3.ನಮಮ ಗೆಳೆಯ / ಗೆಳತಗೊ೦ದ್ು ಪತರ ಬರೆಯಿರಿ 

 

XI. A) ಈ ಕೆಳಗಿನ ಹತುತ ಸ೦ಧಿ ಪದ್ಗಳಲ್ಲ ಿನಾಲೆಕೆೆ ಸ೦ಧಿ ಬಿಡಿಸಿ ಹೆಸರಿಸಿ                               4X2=8           

1.ನೆನಪಿಲ ಿ     2.ಶ್ಾಲೆಯಲ್ಲಿ     3.ಚಳಿಗಾಲ      4.ಧಮಥವನುನ  5.ಚಿತಾತಕಷ್ಥ  

6.ವೆೀದೊೀಕಿತ   7.ವಾಙ್ಮಯ      8.ಜನಾನುರಾಗಿ   9.ಪರಾಕಷ್ಥ   10.ದಿಗ೦ತ 

 

 

 

B) ಈ ಕೆಳಗಿನ ಎ೦ಟ್ು ಸಮಾಸ ಪದ್ಗಳಲ್ಲಿ ಮೂರಕೆೆ ಸಮಾಸ ಬಿಡಿಸಿ ಹೆಸರಿಸಿ                           3X2=6 

1.ಅರಮನೆ          2.ಮುಕೆಣಾ      3.ಬೆಳಾೆವರೆ        4.ಕೆ೦ಜಡಿಗ   

5.ಗಜಾಶವರರ್ಗಳು 6.ಒಗಗಟ್ುಟ        7.ಧಮಥಶ್ಾಲೆ      8.ಕೆೈತೊಳ  ೆ

 

C) ಈ ಕೆಳಗಿನ ಎ೦ಟ್ು  ಪದ್ಗಳಲ್ಲಿ ಐದ್ಕೆೆ ಅರ್ಥ ಬರೆಯಿರಿ                                             1X5=5 

1.ತ೦ತರ         2.ಮರಡಿ           3.ಸತಬ ೆ      4.ಕರ೦ಡ   

5.ಕುಳುು         6.ಅಸ೦ಗತ        7.ಚೌಲ      8.ಎಸರು 

 

XII. ಈ ಕೆಳಗಿನವುಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಪರಭ೦ಧ ಬರೆಯಿರಿ                                        1X6=6  

1.ಕ೦ಪಯಯಟ್ರ್ ನ ಉಪಯೀಗಗಳು 

2.ಓದ್ು ಒಕಾೆಲು , ಬುದಿೆ ಮುಕಾೆಲು 

3.ರಾಷಿರೀಯ ಹಬಬಗಳ ಮಹತವ 

 



XIII. ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪರಶನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲಿ ಉತತರಿಸಿರಿ                                    5X1=5 

1.ಅಲಿಮ ಪರಭುವಿನ ಅ೦ಕಿತ ಯಾವುದ್ು.? 

2.ಅಕೆನು ಹೆೀಳುವ ತೊಡರು ಯಾವುದ್ು.? 

3.ಭೂದೆೀವಿಯ ಮಗಳು ಯಾರು.? 

4.ಚಲದ್ ಚ೦ಡಿ ಯಾರು.? 

5.ಮಗುವು ಯಾವುದ್ರ ಹಾಗೆ ಬಾಗಬೆೀಕು.? 

 

XIV. ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪರಶನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲಿ ಉತತರಿಸಿರಿ                                    5X1=5 

1.ವೆೈದಾಯಧಿಕಾರಿಯ ಙ್ಜಾಪಕಕೆೆ ಬ೦ದ್ದ್ು ೆಏನು.? 

2.ಜಾತಕಗಳನುನ ಹೆೀಗೆ ಬರೆಯಲಾಗುತತದೆ.? 

3.ಶ್ಾಸಿರೀ ಮಾಸತರರ ಹೆ೦ಡತ ಹೆಸರೆೀನು.? 

4.ರಕ್ಷಾ ಕರ೦ಡವು ಯಾರ ಕೆೈಯಿ೦ದ್ ಕೆಳಗೆ ಬಿದಿತೆು.? 

5.ವಿಪರನು ಮರದಿ೦ದ್ ಎಲ್ಲಿಗೆ ಬಿದ್ನೆು.? 

 

XV. ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪರಶನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲಿ ಉತತರಿಸಿರಿ                                    5X1=5 

1.ಭೊೀಳೆಶ೦ಕರನ ಊರು ಯಾವುದ್ು.? 

2.ಪಿಶ್ಾಚಿಗಳು ಯಾರ ಹೆಸರು ಕೆೀಳಿದ್ರೆ ಹೆದ್ರುತತವೆ.? 

3.ರಾಜಕುಮಾರಿಗೆ ಬ೦ದ್ರೊೀಗ ಯಾವುದ್ು.? 

4.ಕತತಲೆಯ ನಜ ಜನಕನು ಯಾರು.? 

5.ಸೆೈನಕರು ಯಾವುದ್ಕೆೆ ಜಯವಾಗಲೆ೦ದ್ರು.? 



               Intermediate  Kannada Second year model Question paper 

 

Q.P. Code ( Gen . & Vocl.):-    0207 

Subject                                    :-    Kannada 

Medium                                   :-    ---- 

Paper                                       :-    1 

Time                                         :-    3 Hours                                       Max.Marks : 100 M 

 

     Instructions to the candidate :  

 

 I A) . ಈ ಕೆಳಗಿನ 3 ಪದ್ಯಗಳಲ್ಲಿ ಒ೦ದ್ಕೆೆ ಭಾವಾರ್ಥಬರೆಯಿರಿ.                                                             1X5=5   

     ರಾಮ ನಿನಗಲ್ಲಿ ತ೦ದಾ 

ನಿೀ ಮಾನಿನಿಗಿನಿತು ದ್ುುಃಖಮ೦ ಪುಟ್ಟಿಸಿದೆ೦ 

ಕಾಮ ವಾಯಮೀಹದಿನಾ  

ಶಾಮುಖಮ೦ ಪುದಿಯೆ ದ್ುರ್ಥಶುಃಪಟಹರವ೦ 

    *****   ಅರ್ವಾ   ***** 

ಬಿಸಿಲಲ್ಲ ಿಬಳಲ್ಲ ಬ೦ದ್ವರಿಗೆ ನೆರಳಿಲ ಿ

ಹಸಿದ್ು ಬ೦ದ್ವರಿಗೆ ಹಣ್ುು ಇಲ ಿ

ಕುಸುಮ ವಾಸನೆಇಲಿ ಕುಡಲು ಸಥಳವಿಲಿ  

ರಸದ್ಲ್ಲ ಿಸ್ಾಾದ್ವು ವಿಷದ್೦ತೆ ಇರುತಿಹ 

        *****   ಅರ್ವಾ   ***** 

ಯಾವಾಗೆೊ ಕೆೊೀಳಿ ಕೊಗಿಹುದ್ು ಏಳಿ , ತಡವೆೀಕೆ ಪಾನಕೆೀಳಿ 

ಮದ್ಲಾಗಲ್ಲೀಗ , ಅ೦ಗಡಿರ್ ಕದ್ವ ಈ ಕ್ಷಣ್ಕೆ ತೆರೆರ್ ಹೆೀಳಿ 

ಜೀವನದ್ ನದಿಗೆ ಸ್ೆಳವಿಹುದ್ು , ಮರಣ್ ಬ೦ದಿೀತು ಕ್ಷಣ್ವು ಉರುಳಿ 

ಹೆೊೀದ್ವರು ತಿರುಗಿ ಬ೦ದಾರೆ, ಅವರು ಬರಲ್ಲಕುೆ ಇಲ ಿಮರಳಿ 



 

B) ಈ ಕೆಳಗಿನ ಮೊವರಲ್ಲ ಿಒಬಬ ಕವಿ/ಲೆಖಕರ ಪರಿಚರ್ ಬರೆಯಿರಿ                                                   1X5=5   

1.ಪುರ೦ದ್ರದಾಸರು        2. ದ್.ರಾ. ಬೆೀ೦ದೆೆ     3.ಲಲ್ಲತಾ ಸಿದ್ದ ಬಸವರ್ಯ 

 

II. ಈ ಕೆಳಗಿನ ಮೊರು ಪೆಶನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುು ವಾಕಯಗಳಲ್ಲಿ ಉತುರಿಸಿರಿ                                1X5=5         

 1.ಭೀಮನು ದರೆಪದಿರ್ನುನ ಹೆೀಗೆ ಸ೦ತೆೈಸಿದ್ನು. 

2.ಮು೦ಬೆೈ ಜಾತಕದ್ಲ್ಲಿ ಮಕೆಳ ಬಾಲಯದ್ ಚಿತೆಣ್ ಹೆೀಗೆ ನಿರೊಪಿತವಾಗಿದೆ.? 

3.ವೃದ್ದರ ತವಕ - ತಲಿಣ್ಗಳನುನ ಕವಯಿತಿೆ ಹೆೀಗೆ ಚಿತಿೆಸಿದಾದರೆ.? 

 

III.ಈ ಕೆಳಗಿನ ಮೊರು ಪೆಶೆನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುು ವಾಕಯಗಳಲ್ಲಿ ಉತುರಿಸಿರಿ.                               1X5=5   

.ಕಮಲಾ ಮೀಡಮ್ ಗೆ ಮೊತೆಪಿ೦ಡದ್ಲ್ಲಿ ಕಲುಿ ಮೊಡಿದೆದೀಕೆ.? 

2.ಧಣಿ ಹಾಗು ಹೆೊಳೆರ್ ನಡುವಿನ ಸಮರವನುನ ಚಿತಿೆಸಿ. 

3.ಮುದ್ದಣ್ - ಮನೆೊೀರಮರ್ರ ಸ೦ವಾದ್ದ್ ಸ್ಾಾರಸಯವನುನ ವಿವರಿಸಿರಿ.? 

 

 

IV. ಈ ಕೆಳಗಿನ ಮೊರು ಪೆಶೆನಗಳಲ್ಲಿ ಒ೦ದ್ನುನ ಕುರಿತು ಇಪಪತುು ವಾಕಯಗಳಲ್ಲಿ ಉತುರಿಸಿರಿ.                            1X5=5   

1.ನಿರೊಪಕರು ಕೆೊಡಲ್ಲ ವಸೊಲ್ಲ ಮಾಡಲು ಹೆೊೀಗಲ್ಲಲಿವೆೀಕೆ.?ವಿವರಿಸಿರಿ 

2.ಪುಟಿರ್ಯ ತನನ ಅಸಹಾರ್ಕತೆರ್ನುನ ಹೆೀಗೆ ವಿವರಿಸುತಾುನೆ.? 

3.ಆನೆರ್ು ಇಲ್ಲಿ ಬಾಯಿಲಿದ್ ಜನರ ಸ೦ಕೆೀತವಾಗಿರುವುದ್ನುನ ವಿಶೆೀಿಷಿಸಿ.? 

 

V. ಈ ಕೆಳಗಿನ ಐದ್ರಲ್ಲಿ ಯಾವುದಾದ್ರು ಎರಡಕೆೆ ಸ೦ಧರ್ಥಸೊಚಿಸಿ ವಿವರಿಸಿ                                     2X3 = 6 

1.ಕೆಲವರು ಗಳಿಸಿದೆೊಡೆ ಕೆಲರು೦ಡು ಜಾರುವರು 

2.ನಾರುವ ದ್ುಗಥ೦ಧ ಬಿಡಬಲುಿದೆ 

3.ಬಟ್ಟಿರ್ಲ್ಲ ಮೈತುರಿಕಿ ಓಡುವುದ್ು 



4.ಮಾತೆೀ ಮರೆತು ಹೆೊೀಗಿದೆ ಕಣೆ 

5.ಮುಳುಗಿರಲ್ಲ ಮುಪುಪ ಚಿ೦ತನದಿ 

 

VI.ಈ ಕೆಳಗಿನ ಐದ್ರಲ್ಲಿ ಯಾವುದಾದ್ರು ಎರಡಕೆೆ ಸ೦ಧರ್ಥಸೊಚಿಸಿ ವಿವರಿಸಿ                                     2X3 = 6 

1.ಆಪರೆೀಷನ್ ಆಗಬೆೀಕು , ಪರವಾಗಿಲಿವಾ.? 

2.ನೆೊೀಡು , ನಿನನ ಎದ್ುರು ಎರೆಡು ಆಯೆೆಗಳಿವೆ 

3.ಆತನ ಈಜಗೆ ಮೀನುಗಳ ೀೆ ನಾಚಬೆೀಕು 

4.ಮಗುವೆೀ ಮದ್ಲ ವಿಙ್ಜಾನಿ. 

5.ಸಿೀತಾಪಹರಣ್ ಕರ್ನದೆೊಳ್ ಬರ್ಕೆಯೆ.? 

 

VII.ಈ ಕೆಳಗಿನ ಐದ್ು ಪೆಶೆನಗಳಲ್ಲಿ ಎರಡಕೆೆ ಸ೦ಕ್ಷಿಪುವಾಗಿ ಉತುರಿಸಿ                                           2X2 = 4 

1.ಯಾವ ಗುಣ್ಗಳಿಲಿದ್ವನು ಡಾ೦ಭಕನೆನಿಸುತಾುನೆ.? 

2.ಕುಜನರಾದ್ವರು ಏನೆ೦ದ್ು ನುಡಿರ್ುತಾುರೆ.? 

3.ಯಾರಿಗೆ ತತಾಙ್ಜಾನ ಹೆೀಳಿ ಪೆಯೀಜನವಿಲಿ.? 

4.ಬೆಳಕು - ಬೆೀಟೆಗಾರ ಹೆೀಗೆ ಬರುತಾುನೆ.? 

5.ಮುದ್ುಕ ಏನೆ೦ದ್ು ಗೆೊೀಗರೆರ್ುತಾುನೆ.? 

 

VIII.ಈ ಕೆಳಗಿನ ಐದ್ು ಪೆಶೆನಗಳಲ್ಲ ಿಎರಡಕೆೆ ಸ೦ಕ್ಷಿಪುವಾಗಿ ಉತುರಿಸಿ                                        2X2 = 4 

1.ಸಿದಿಿ೦ಗಿ ಏಕೆ ರಾದಾದ೦ತ ಮಾಡಿದ್ಳು.? 

2.ಸಿೀತಾಳ ಓದ್ುವ ಆಸಕಿು ಹೆೀಗಿತುು.? 

3.ಮು೦ಜಾನೆ ಚಿನನಮಮ ಯಾವಕೆಲಸದ್ಲ್ಲಿ ತೆೊಡಗಿದಾದಳ .ೆ? 

4.ಕಲಾ೦ ಅವರು ಬ೦ಡೆಗಳ ಬಸಿರಲ್ಲಿ ಕ೦ಡದೆದೀನು.? 

5.ಸ೦ಸೃತ - ಕನನಡಗಳು ಸ್ೆೀರಿದ್ರೆ ಹೆೀಗೆ ಸ್ೆೊೀಗಯಿಸುತಿುದೆ.? 

 



IX.  ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪೆಶೆನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲಿ  ಉತುರಿಸಿ                                           5X1=5 

1.ರಾವಣ್ನ ಎದ್ರು ಪೆತಯಕ್ಷವಾದ್ ವಿದಾಯದೆೀವತೆ ಯಾರು.? 

2.ತನು ಯಾವಾಗ ಕರಗಬೆೀಕು.? 

3.ದರೆಪದಿರ್ ಮು೦ದ್ಲೆರ್ ಹಿಡಿದ್ವರಾರು.? 

4.ಜಾಲ್ಲರ್ ಮುಳುು ಹೆೀಗೆ ಆವರಿಸುತುದೆ.? 

5.ಕವಿರ್ ಪೆಕಾರ ಯಾವುದ್ು ಮತೆು ಚಿಗುರುತುದೆ.? 

 

X. ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪೆಶೆನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲ ಿ ಉತುರಿಸಿ                                           5X1=5 

1.ಬಸಲ್ಲ೦ಗನು ಡಾ!! ತಿಮಮಪಪನಿಗೆ ಏನೆ೦ದ್ು ಸುಳುು ಹೆೀಳಿದ್ನು.? 

2.ಲೆೀಖಕಿರ್ ಪತಿ ಯಾವತೆೊ೦ದ್ರೆಯಿ೦ದ್ ಬಳಲ್ಲದ್ರು.? 

3.ಗುಡಡ ಹೆೊಳೆರ್ಲ್ಲಿ ಯಾವ ಆಟ ಆಡುತಿುದ್ದನು.? 

4.ವಿಙ್ಜಾನದ್ ಅಡಿಪಾರ್ ಯಾವುದ್ು.? 

5.ಮನೆೊೀರಮ ಬಹುಮಾನವಾಗಿ ಏನನುನ ಕೆೊಡುವೆನೆ೦ದ್ಳು.? 

 

XI. ಈ ಕೆಳಗಿನ ಎಲಾಿ ಪೆಶೆನಗಳಿಗೆ ಒ೦ದ್ು ವಾಕಯದ್ಲ್ಲಿ  ಉತುರಿಸಿ                                           5X1=5 

1.ನಿರೊಪಕರ ಕೆೊಡಲ್ಲರ್ ಆಕಾರ ಹೆೀಗಿತುು.? 

2.ಆನೆ ಯಾರ ಅ೦ಗಡಿರ್ನುನ ದ್ೊಡಿ ಬಿೀಳಿಸಿತು.? 

3.ಆನೆ ಶಾಸರದ್ವನು ಏನೆ೦ದ್ು ರ್ವಿಷಯ ನುಡಿದಿದ್ದನು.? 

4.ಕೃಷೆುೀಗರಡರ ಆನೆ ಮದ್ಲು ಯಾವ ಮಠದ್ಲ್ಲತಿುು.? 

5.ಪೀಸ್ಟಿ ಮನ್ ಜಬಬರನಿಗೆ ಒದ್ಗಿದ್ ತೆೊದ್ರೆ ಏನು.? 

 

XII. ಈ ಕೆಳಗಿನ ಛ೦ದ್ಸುು ಗಳಲ್ಲಿ ಒ೦ದ್ಕೆೆ ಲಕ್ಷಣ್ಗಳನುನ ಬರೆಯಿರಿ                                        1X5=5   

1.ತಿೆಪದಿ           2.ಸ್ಾ೦ಗತಯ           3.ಷಟಪದಿ 

 



XIII. ಈ ಕೆಳಗಿನ ಪದ್ಯಗಳಲ್ಲ ಿಒ೦ದ್ಕೆೆ ಪೆಸ್ಾುರಹಾಕಿ ಗಣ್ವಿ೦ಗಡಿಸಿ ಛ೦ದ್ಸಿುನ ಹೆಸರು ಬರೆಯಿರಿ       1X5=5   

1.ಕದ್ಡಿದ್ ಸಲ್ಲಲ೦ ತಿಳಿವ೦ 

ದ್ದೆ ತನಿನ೦ ತಾನೆ ತಿಳಿದ್ ದ್ಶವದ್ನ೦ಗಾ 

2.ತೃಣ್ ಸಮನಾಗೆ ಭಾವಿಶಿದ್ಳಿೀ ಸತಿರ್ು೦ ಮದ್ಲಾಗೆ ಪರರುಷ  

3.ಮ೦ದೆ ಗೆಳಸಿದ್ ಪಾಪಿ ಕರರವ  

ನ೦ದ್ು ಮು೦ದ್ಲೆವಿಡಿದ್ು ಸ್ೆೈ೦ಧವ 

ಬ೦ದ್ು ಬಳಿಕಾರಣ್ಯ ವಾಸದೆೊಳೆನನನೆಳದೆೊರ್ದ 

 

XIV. ಈ ಕೆಳಗಿನ ಮೊರರಲ್ಲ ಿ ಒ೦ದ್ರ ಅಲ೦ಕಾರವನುನ ಗುರುತಿಸಿ ಬರೆಯಿರಿ                        1X5=5  

1.ಮ೦ರ್ರೆ ಬಲೆಯಳಗೆ ಬಿದ್ದ ಹುಳುವಿನ೦ತೆ ವಿಲವಿಲನೆ ಒದಾದಡಿದ್ಳು. 

2.ಪುರದ್ಪುಣ್ಯ೦ ಪುರುಷ ರೊಪಿ೦ದೆ ಪೀಗುತಿದೆ. 

3.ಉಪಿಪಗಿ೦ತ ರುಚಿಯಿಲಿ , ತಾಯಿಗಿ೦ತ ರ್೦ಧುವಿಲ ಿ

 

XV. A) ಈ ಕೆಳಗಿನ ಎ೦ಟು ಪದ್ಗಳಲ್ಲಿ ಐದ್ು ಪದ್ಗಳಿಗೆ ಅರ್ಥ ಬರೆಯಿರಿ                           5X1=5 

1.ಗಾಲ್ಲ          2.ಹಾಸುಗ೦ಬಿ          3.ನಿರಾಳ        4.ಅಗಣಿತ 

5.ಹಕೆೆ           6. ಬಾಡು              7. ಉಪಟಳ      8.  ಬುಗುಡಿ    

B) ಈ ಕೆಳಗಿನ ಎ೦ಟು ಪದ್ಗಳಲ್ಲ ಿಆರಕೆೆ ವಿರುದಾದರ್ಥ  ಬರೆಯಿರಿ                                   6X1=6 

1.ಒಡೆರ್        2.ಉನನತಿ              3.ಜರ್          4.ಸ್ಾಾರ್ಥ 

5.ಸದ್ುುಣ್        6. ಶಾಾಸ              7. ಸಬಲ         8. ಗೃಹಸಥ 

C)ಈ ಕೆಳಗಿನ ಪದ್ಗಳನುನಪಯೀಗಿಸಿ ಸಾ೦ತವಾಕಯ ರಚಿಸಿರಿ                                      5X1=5 

1.ಲಕ್ಷಣ್        2.ನಾಯರ್         3.ಧಮಥ          4.ಕು೦ಬಾರ     5.ಆವರಣ್       

 

XVI.A) ಈ ಕೆಳಗಿನವುಗಳಲ್ಲ ಿಎರಡಕೆೆ ಟ್ಟಪಪಣಿ ಬರೆಯಿರಿ                                        2X2=4 

1. ಮಾತೆಗಣ್       2.ಗುಣ್ಸ೦ಧಿ         3.ಗಮಕ ಸಮಾಸ         4.ಕಿೆಯಾಪದ್ 



  

 B) ಈ ಕೆಳಗಿನವುಗಳಲ್ಲಿ ಒ೦ದ್ಕೆೆ ಪೆರ್೦ಧ ಬರೆಯಿರಿ                                             1X5=5  

1. ಮಾಸಪತಿೆಕೆಗಳ ಮಹತಾ       2.ಪರಿಸರ        3.ಬಾಯ೦ಕುಗಳ ಮಹತಾ 
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Part - III

MATHEMATICS, Paper - IA
(English Version)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 75

Note: This question paper consists of three section A, B and C.

Section - A

Very short answer type questions.

(i) Answer all questions.

(ii) Each question carries 2 marks. 10×2=20

1. If A 0, , , ,
6 4 3 2
    

  
 

 and F : AAB is a surjection defined by f(x) = cos x, then find

B.

2. Find the domain of the real valued function  
 
1

log 2
f x

x



.

3. If 
2 3 1

A
7 8 5

 
  
 

 and 
1 0 1

B
2 4 1
 

  
  

 then find A+B.

4. If  
0

A
0
i

i
 

  
 

, find AA2.

5. if 2 5a i j k    and 4b i m j nk    are collinear, then find m and n.

6. Find the vector equation of the line passing through the point 2 3i j k   and parallel

to the vector 4 2 3i j k  .
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7. If 2 3a i j k   and 3 2b i j k    then show that a b  and a b  are perpendicular
to each other.

8. Prove that 
cos9º sin 9º cot 36º
cos9º sin 9º





.

9. Find the period of the function defined by    2tan 4 9 ......f x x x x n x     .

10. If sinhx = 3, then show that  log 3 10ex   .

Section - B

Short answer type questions. 5×4=20

(i) Answer any FIVE questions.

(ii) Each question carries four marks.

11. If 
1 0

I
0 1
 

  
 

 and 
0 1

E
0 0
 

  
 

, then show that (aI + bE)3 = a3I + 3a2bE where ‘I’ is unit

matrix of order 2.

12. Show that 
1 2 1

A 3 2 3
1 1 2

 
 


 
  

 is non-singular and find AA–1.

13. Let ABCDEF be regular hexagone with centre O, show that

AB AC AD AE AF 3AD 6AO      .

14. Find the equation of the plane passing through the point 2 3a i j k    and

perpendicular to the vector 3 2 2i j k  and the distance of this plane from the origin.

15. If the vectors 2a i j k   , 2 3b i j k    and 3 5c i p j k    are coplanar, then find
‘P’.

16. If A is not an integral multiple of 2


, then prove that

(i) tanA + cotA = 2 cosec2A

(ii) cotA – tanA = 2 cot2A

17. Find the range of 7cos 24sin 5x x  .

18. Prove that cosh sinh sinh coth
1 tanh 1 coth

x x x x
x x
  

 
for 0.x 
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19. Prove that 
2A B Ccot cot cot

2 2 2
s

  


.

20. If sin
+
a

b c
   then show that 2 Acos cos

+ 2
bc

b c
  .

Section - C

Long Answer type questions. 5×7=35

(i) Answer any FIVE questions.

(ii) Each question carries seven marks.

21. If       1, 2 , 2, 3 , 3, 1f    then find (i) 2f  (ii) 2+f   (iii) f2  (iv) f

22. If 
1 2 1

A 0 1 1
3 1 1

 
 

 
 
  

 , then find AA3 – 3A2 – A – 3I, where I is unit matrix of order 3.

23. Solve the following system of equations by Cramer’s rule

1,x y z    2 2 3 6x y z   , 4 9 3x y z   .

24. Solve the following system of equations by Matrix Inversion method

2 3 9,x y z    6x y z   , 2x y z   .

25. Find the vector equation of the plane passing through points 4 3i j k  , 3 7 10i j k 

and 2 5 7i j k   and show that the point 2 3i j k   lies in the plane.

26. If 7 2 3a i j k   , 2 8b i k   and c i j k   , then compute ,a b a c   and

 a b c  . Verify whether the cross product is distributive over vector addition.

27. If [ b  c  d ] + [ c a d ] + [ a b d] = [ a b c ]. Then show that the points with position
vectors a, b, c and d are coplanar.

28. If A, B, C are angles in a triangle, then prove that

sinA + sinB – sinC = 
A B C4sin sin cos
2 2 2 .

29. If 
A B Ccot : cot : cot 3 : 5 : 7
2 2 2

 , then show that a:b:c = 6:5:4.

30. If a = 13, b = 14, c = 15, show that 1 2
65 21R , 4, , 12
8 2

r r r     and r3 = 14.
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A, B, C

 - A

10×2=20

(i)

(ii)

1. A 0, , , ,
6 4 3 2
    

  
 

, F : AAB f(x) = cos x  B 

2.   
 
1

log 2
f x

x



 

3.
2 3 1

A
7 8 5

 
  
 

 , 
1 0 1

B
2 4 1
 

  
  

 A+B 

4.
0

A
0
i

i
 

  
 

 A2 

5. 2 5a i j k   , 4b i m j nk    m, n 

6. 2 3i j k   4 2 3i j k   
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7. 2 3a i j k   , 3 2b i j k    a b , a b  

8.
cos9º sin 9º cot 36º
cos9º sin 9º





 

9.    2tan 4 9 ......f x x x x n x      f(x)

10. sinhx = 3   log 3 10ex    

 - B

5×4=20

(i)

(ii)

11.
1 0

I
0 1
 

  
 

 , 
0 1

E
0 0
 

  
 

 (aI + bE)3 = a3I + 3a2bE ‘I’ 

12.
1 2 1

A 3 2 3
1 1 2

 
 


 
  

 A–1 

13. ABCDEF O AB AC AD AE AF 3AD 6AO       

14. 2 3a i j k    3 2 2i j k 

15. 2a i j k   , 2 3b i j k   , 3 5c i p j k    ‘P’ 

16. A 2


 

(i) tanA + cotA = 2 cosec2A

(ii) cotA – tanA = 2 cot2A 

17. 7cos 24sin 5x x   
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18. 0x   
cosh sinh sinh coth

1 tanh 1 coth
x x x x

x x
  

 

19.
2A B Ccot cot cot

2 2 2
s

  


 

20. sin
+
a

b c
   2 Acos cos

+ 2
bc

b c
   

 - C

5×7=35

(i)

(ii)

21.       1, 2 , 2, 3 , 3, 1f   

(i) 2f (ii) 2+f    (iii) f2  (iv) f

22.
1 2 1

A 0 1 1
3 1 1

 
 

 
 
  

 A3 – 3A2 – A – 3I  I 

23.

1,x y z    2 2 3 6x y z   , 4 9 3x y z   .

24.

2 3 9,x y z    6x y z   , 2x y z   .

25. 4 3i j k  , 3 7 10i j k  , 2 5 7i j k   

2 3i j k   

26. 7 2 3a i j k   , 2 8b i k  , c i j k    ,a b a c  ,  a b c   

27. [ b  c  d ] + [ c a d ] + [ a b d] = [ a b c ]  a, b, c, d 
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28. A, B, C sinA + sinB – sinC = 
A B C4sin sin cos
2 2 2  

29.
A B Ccot : cot : cot 3 : 5 : 7
2 2 2

  a:b:c = 6:5:4 

30. a = 13, b = 14, c = 15 1 2
65 21R , 4, , 12
8 2

r r r    , r3 = 14 
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Time : 3 Hours Max. Marks : 75

Note: This question paper consists of three section A, B and C.

Section - A

Very short answer type questions.

(i) Answer all questions.

(ii) Each question carries 2 marks. 10×2=20

1. Find the value of x, if the slope of the line passing through (2, 5) and (x, 3) is 2.

2. Transform the equation 1 0x y    into normal form.

3. Show that the points (1, 2, 3), (2, 3, 1) and (3, 1, 2) form an equilateral triangle.

4. Find the equation of the plane whose intersepts on X, Y, Z - axes are 1, 2, 4

respectively.

5. Show that 0

2
1 3

x

x
Lt x

x 

 
   

 

6. Find 
3 3

0

x

x

e e
Lt

x







7. Find the derivative of 5sin logxx e x .

8. If  log sin logy x     then find 
dy

dx
.

9. Find the approximate value of 3 65 .

10. Find the slope of the tangent to the curve 43 4y x x   at x = 4.
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Section - B

Short answer type questions. 5×4=20

(i) Answer any FIVE questions.

(ii) Each question carries four marks.

11. A(2, 3) and B(–3, 4) are two given points. Find the equation of the locus of P, so that

the area of the triangle PAB is 8.5 sq.units.

12. Find the equation of the locus of P, if A = (4, 0), B = (–4, 0) and |PA – PB| = 4.

13. When the origin is shifted to point A(2, 3), the transformed equation of the curve is
2 23 2 17 7 11 0x xy y x y       . Find the original equation of the curve.

14. When the axes are roted through an angle 
6


. Find the transformed equation of

2 2 22 3 2x xy y a   .

15. Find the points on the line 3 4 1 0x y    which are at a distance of 5 units from the

point (3, 2).

16. Show that the points O(0, 0, 0), A(2,–3, 3), B(–2, 3, –3) are collinear. Find the ratio

in which each point divides the segment joining the other two.

17. Compute the limit 
0

1 cos
, 0

1 cosx

mx
Lt n

nx






18. Find the derivative of sin2x from the first principle.

19. Show that the lengths of subtangent and subnormal at a point on the curve sin
x

y b
a

 .

20. Show that the tangent at any point  on the curve sec , tanx c y c    is

sin cosy x c   .

Section - C

Long Answer type questions. 5×7=35

(i) Answer any FIVE questions.

(ii) Each question carries seven marks.

21. Find the equation of straight lines passing through (1, 2) and making an angle of 60º

with the line 3 2 0x y   .

22. Find the circumcentre of the triangle whose verteses are (1, 0), (–1, 2) and (3, 2).
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23. If the angle between the pair of straight lines 2 22 0ax hxy by    is , then show that

 2 2
cos

4

a b

a b h





  .

24. Find the value of k, if the line joining the origin to the points of intersection of the

curve 2 22 2 3 2 1 0x xy y x y       and the line 2x y k  are mutually

perpendicular.

25. If a ray with d.c’s l, m, n makes angles  and  with four diagonals of a cube, then

show that 
2 2 2 2 4

cos cos cos cos
3

       .

26. If 
2

3 3

3 3
,

1 1

at at
x y

t t
 

 
 then find 

dy

dx
.

27. If y xx y  then show that 
 
 

log

log

y x y ydy

dx x y x x




 .

28. Show that the curves  2 4 1y x   and  2 36 9y x   intersect orthogonally..

29. At any point t on the curve    sin ; 1 cosx a t t y a t     find lengths of tangent and

normal.

30. A wire of length l is cut into two parts which are bent respectively in the form of a

square and circle. Find the lengths of the pieces of the wire, so that the sum of the

areas is the least.
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IPE 

Time : 3 Hours Max. Marks : 75

A, B, C

 - A

 10×2=20

(i) 

(ii) 

1. (2, 5), (x, 3)  2 x 

2. 1 0x y    

3. (1, 2, 3), (2, 3, 1), (3, 1, 2) 

4. X, Y, Z - 1, 2, 4 

5.
0

2
1 3

x

x
Lt x

x 

 
   

 
 

6.
3 3

0

x

x

e e
Lt

x






 

7. 5sin logxx e x  

8.  log sin logy x      dy

dx
 

9. 3 65  
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10. 43 4y x x   x = 4 

 - B

 5×4=20

(i) 

(ii) 

11. A(2, 3), B(–3, 4) PAB   P


12. A = (4, 0), B = (–4, 0), |PA – PB| = 4 P 

13. A(2, 3) 
 2 23 2 17 7 11 0x xy y x y       


14.
6


   2 2 22 3 2x xy y a    



15. 3 4 1 0x y    (3, 2) 


16. O(0, 0, 0), A(2,–3, 3), B(–2, 3, –3) 


17.
0

1 cos
, 0

1 cosx

mx
Lt n

nx





 

18. sin2x 

19. sin
x

y b
a

  

20. sec , tanx c y c           
sin cosy x c    
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 - C

 5×7=35

(i) 

(ii) 

21. 3 2 0x y    60º  (1, 2) 


22. (1, 0), (–1, 2), (3, 2) 

23. 2 22 0ax hxy by           

 2 2
cos

4

a b

a b h





 
 

24. 2x y k   2 22 2 3 2 1 0x xy y x y       
 k 

25. l, m, n , 

  2 2 2 2 4
cos cos cos cos

3
        

26.
2

3 3

3 3
,

1 1

at at
x y

t t
 

 
  dy

dx
 

27. y xx y  
 
 

log

log

y x y ydy

dx x y x x




  

28.  2 4 1y x  ,  2 36 9y x   

29.    sin ; 1 cosx a t t y a t        t   


30. l 


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Part - III

MATHEMATICS, Paper - IIA
(English Version)

MODEL QUESTION PAPER

Time : 3 Hours Max. Marks : 75

Note: This question paper consists of three sections A, B and C.

Section - A

Very short answer type questions.

(i) Answer all questions.

(ii) Each question carries 2 marks. 10×2=20

1. Write the multiplicative inverse of the complex number (sin, cos).

2. If (a + ib)2 = (x + iy), then find the value of (x2 + y2).

3. If x = cis, then find the value of 6
6

1x
x

 
 

 
.

4. If   are the roots of the equation 2 0ax bx c   , then find the value of the

expression 
1 1
 

 
 

 
 in terms of a, b, c.

5. Find the algebraic equation whose roots are three times the roots of
3 22 4 1 0x x x    .

6. Find the number of ways of arranging 5 different maths books, 4 different physics
books and 3 different chemistry books such that the books of the same subject are
together.

7. Find the number of diagonals of a polygon with 12 sides.

8. Find the 7th term in the expansion of 
42

1
3
x



 
 

 
.
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9. Find the mean deviation from the mean of the following data

6, 7, 10, 12, 13, 4, 12, 16

10. The probability that a person chosen at random is left handed in handwriting is 0.1.
What is the probability that in a group of 10 people, there is one who is left handed?

Section - B

Short answer type questions. 5×4=20

(i) Answer any FIVE questions.

(ii) Each question carries four marks.

11. If x and y are real numbers, such that 
   1 2 2 3

3 3
i x i i y i

i
i i

   
 

 
 , then determine

the values of x and y.

12. If 1, , 2 are the cube roots of unity, then prove that

(2–) (2–2) (2–10) (2–11) = 49.

13. Find the range of the expression 2

2
2 3 6

x
x x



 
.

14. Solve 3 27 14 8 0x x x    , given that the roots are in geometric progression.

15. Find the sum of all 4 digited numbers that can be formed using the digits 1, 2, 4, 5, 6
without repetition.

16. Simplify:  
4

3834
5 4

0

r

r
C C





17. Resolve  

2

3
5 7

3
x x

x
 


 into partial fractions.

18. Resolve      

3x
x a x b x c  

 into partial fractions.

19. A and B are events with P(A) = 0.5, P(B) = 0.4 and P(AIB) = 0.3. Find the probability
that (i) A does not occur (ii) neither A nor B occurs.

20. State and prove Multiplication Theorem of Probability.
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Section - C

Long Answer type questions. 5×7=35

(i) Answer any FIVE questions.

(ii) Each question carries seven marks.

21. If  are the roots of the equation 2 2 4 0x x   , then for any n N , show that

12 cos
3

n n n n
    

   
 



22. Let a, b, c R  and 0a   such that the equation 2 0ax bx c    has real roots 
with . Prove that the expression 2ax bx c   and ‘a’ have same sign when x < 
or x > .

23. Solve 4 24 8 35 0x x x    , given that 2 3i  is a root.

24. Find the polynomial equation whose roots are the translates of the roots of the

equation 4 3 25 7 17 11 0x x x x      by –2.

25. If the letters of the word PRISON are permuted in all possible ways and the words
thus formed are arranged in dictionary order, then find the rank of the word PRISON.

26. Find the numerically greatest terms in the expansion of (3x – 4y)14 when x = 8, y = 3.

27. In a box containing 15 bulbs, 5 are defective. If 5 bulbs are selected at random from
the box, then find the probability of the event that

(i) none of them is defective

(ii) only one of them is defective

(iii) atleast one of them is defective

28. If A, B, C are three independent events of a random experiment such that

 
1P A B C
4

 ,  
1P A B C
8

 ,  
1P A B C
4

   then find P(A), P(B) and

P(C).

29. Let X be a random variable such that P(X = –2) = P(X = –1) = P(X = 2) = P(X = 1)

=  
1
6

 and P(X = 0) = 
1
3

. Find the mean and variance of X.

30. If the difference between the mean and variance of a binomial variate is 
5
9

, then find

the probability for the event of 2 successes when the experiment is conducted five
times.
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Part - III

MATHEMATICS, Paper - IIA
(Telugu Version)

Time : 3 Hours Max. Marks : 75

A, B, C

 - A

10×2=20

(i)

(ii)

1. (sin, cos)

2. (a + ib)2 = (x + iy) (x2 + y2) 

3. x = cis 6
6

1x
x

 
 

 
 

4. 2 0ax bx c       
1 1
 

 
 

 
 a, b, c 

5. 3 22 4 1 0x x x     

6.
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7.

8.
42

1
3
x



 
 

 
 

9.

6, 7, 10, 12, 13, 4, 12, 16

10.

 - B

5×4=20

(i)

(ii)

11.
   1 2 2 3

3 3
i x i i y i

i
i i

   
 

 
 x, y x, y

12. 1, , 2 (2–) (2–2) (2–10) (2–11) = 49 

13. 2

2
2 3 6

x
x x



 
 

14. 3 27 14 8 0x x x     

15. 1, 2, 4, 5, 6 

16.
 

4
3834

5 4
0

r

r
C C



  

17.  

2

3
5 7

3
x x

x
 


 

18.      

3x
x a x b x c  
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19. P(A) = 0.5, P(B) = 0.4, P(AIB) = 0.3 A, B 

(i) A    (ii) A  B A, B

20.

 - C

5×7=35

(i)

(ii)

21. 2 2 4 0x x    n N   12 cos
3

n n n n
    

   
 

22. a, b, c R , 0a   2 0ax bx c    

  x <   x >   2ax bx c   ‘a’ 

 

23. 4 24 8 35 0x x x     2 3i  

24. –2 4 3 25 7 17 11 0x x x x      

25. PRISON 

PRISON 

26. x = 8, y = 3 (3x – 4y)14 

27.

(i)

(ii)

(iii)



4

28. A, B, C  
1P A B C
4

 ,

 
1P A B C
8

 ,  
1P A B C
4

   P(A), P(B), P(C) 

29. P(X = –2) = P(X = –1) = P(X = 2) = P(X = 1) =  
1
6

, P(X = 0) = 
1
3

 

X X 

30.
5
9
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Part - III

MATHEMATICS, Paper - IIB
(English Version)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 75

Note: This question paper consists of three section A, B and C.

Section - A

I. Very short answer type questions.

(i) Answer all questions.

(ii) Each question carries 2 marks. 10×2=20

1. If 2 23 5 2 3 0ax bxy y x y       represents a circle, find the values of a and b. Also
find its radius and centre.

2. State the necessary and sufficient condition for 0lx my n    to be a normal to the

circle 2 2 2 2 0x y gx fy c     .

3. Find the angle between the circle 2 2 12 6 41 0x y x y      and
2 2 4 6 59 0x y x y     .

4. Find the equation of the parabola whose focus is S(1, –7) and vertex is A(1, –2).

5. If the eccentricity of a hyperbola is 
5
4 , then find the eccentricity of its conjugate

hyperbola.

6. Evaluate:  

1
3 2

dx
x x 



7. Evaluate: 
 1

2

sin tan
1

x
dx

x




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2

8. Evaluate: 
1 2

2
0 1
x dx
x 

9. Evaluate: 
2

4

0

sec d


 

10. Find the order and degree of the differential equation 

6
532

2 6d y dy y
dx dx

  
      

.

Section - B

II. Short answer type questions. 5×4=20

(i) Answer any FIVE questions.

(ii) Each question carries four marks.

11. Show that the tangent at (–1, 2) of the circle 2 2 4 8 7 0x y x y     touches the

circle 2 2 4 6 0x y x y    , also find its point of contact.

12. Find the angle between the tangents drawn from (3, 2) to the circle
2 2 6 4 2 0x y x y     .

13. Find the equation of the circle passing through the points of intersection of the
circles 2 2 8 6 21 0x y x y     , 2 2 2 15 0x y x    and (1, 2).

14. Find the lengths of major axis, minor axis, latus rectum, eccentricity of the ellipse
2 29 16 144x y  .

15. If the length of the latus rectum is equal to half of its minor axis of an ellipse in the
standard form, then find the essentricity of the ellipse.

16. Find the centre, eccentricity, foci, length of latus rectum for the hyperbola
2 24 9 8 32 0x y x    .

17. Evalute: 
2

2

0

sinx x dx




18. Evalute: 
52 2

5 5
2 2

0

cos
sin cos

x dx
x x






19. Solve : 1 x ydy e
dx

 

20. Solve tan tan 0y dx x dy 

Turn Over
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Section - C

III. Long Answer type questions. 5×7=35

(i) Answer any FIVE questions.

(ii) Each question carries seven marks.

21. Show that the points (1, 1), (–6, 0), (–2, 2) and (–2, –8) are concyclic.

22. Find the direct common tangents to the circles 2 2 22 4 100 0x y x y     ;
2 2 22 4 100 0x y x y     .

23. Show that the circles 2 2 4 6 12 0x y x y      and 2 2 6 18 26 0x y x y      touch
each other, also find the point of contact and common tangent at this point of contact.

24. Show that the common chord of the circles 2 2 6 4 9 0x y x y     and
2 2 8 6 23 0x y x y      is a diameter of the second circle and also find its length.

25. If 1 2 3, ,y y y  are the y-coordinates of the vertices of the triangle inscribed in the
parabola y2

 = 4ax, then show that the area of the triangle is

   1 2 2 3 3 1
1

8
y y y y y y

a
    square units.

26. Evalute: 2

2 5
2 10
x dx

x x


 


27. Evalute: 23 8 3x x dx 

28. Find: 2

1
5 2 4

dx
x x 

29. Evalute: 
 1

2
0

log 1
1

x
dx

x




30. Solve: 
2

2

1 0
1

dy y y
dx x x

 
 

 
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Part - III

MATHEMATICS, Paper - IIB
(English Version)

IPE 

Time : 3 Hours Max. Marks : 75

A, B, C

 - A

I. 10×2=20

(i)

(ii)

1. 2 23 5 2 3 0ax bxy y x y       a, b 

2. 0lx my n    2 2 2 2 0x y gx fy c    

3. 2 2 12 6 41 0x y x y     , 2 2 4 6 59 0x y x y      

4.  S(1, –7),  A(1, –2) 

5.
5
4  

6. :  

1
3 2

dx
x x 



7.
 1

2

sin tan
1

x
dx

x



  
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8.
1 2

2
0 1

x dx
x   

9.
2

4

0

sec d


    

10.

6
532

2 6d y dy y
dx dx

  
      

 

 - B

II. 5×4=20

(i)

(ii)

11. 2 2 4 8 7 0x y x y     (–1, 2) 2 2 4 6 0x y x y   

12. (3, 2) 2 2 6 4 2 0x y x y      

13. 2 2 8 6 21 0x y x y     , 2 2 2 15 0x y x    (1, 2) 

14. 2 29 16 144x y   

15.

16. 2 24 9 8 32 0x y x     

17. : 
2

2

0

sinx x dx




18. : 
52 2

5 5
2 2

0

cos
sin cos

x dx
x x






19. : 1 x ydy e
dx

 

20. : tan tan 0y dx x dy 
Turn Over
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 - C

III. 5×7=35

(i)

(ii)

21. (1, 1), (–6, 0), (–2, 2), (–2, –8) 

22. 2 2 22 4 100 0x y x y     ; 2 2 22 4 100 0x y x y      

23. 2 2 4 6 12 0x y x y     , 2 2 6 18 26 0x y x y      

24. 2 2 6 4 9 0x y x y     , 2 2 8 6 23 0x y x y      

25. y2
 = 4ax y- 1 2 3, ,y y y   

   1 2 2 3 3 1
1

8
y y y y y y

a
    

26. 2

2 5
2 10

x dx
x x



 
  

27. 23 8 3x x dx   

28. 2

1
5 2 4

dx
x x   

29.
 1

2
0

log 1
1

x
dx

x


  

30.
2

2

1 0
1

dy y y
dx x x

 
 

 
 



TSBIE - MODEL PAPER
PHYSICS - I

Time: 3 Hours                Max.Marks: 60
___________________________________________________

SECTION - A 10 x 2 = 20

Note: (i) Answer ALL Questions

(ii) Each Question carries TWO marks

(iii) ALL are very short answer type questions.

1. What are the fundamental forces in nature?

2. How can systematic errors be minimised or eliminated ?

3. A = i j
 

. What is the angle between the vector and x-axis?

4. Why does  the car with a flattened tyre stop sooner than the one with

inflated tyres ‘?

5. Why are spokes  provided in a bicycle wheel?

6. By spinning eggs on a table top, how will you distinguish a hard boiled

egg from a raw egg?

7. Why are drops and bubbles spherical?

8. “Terminal velocity is more if surface area of the body is more”. Give rea-

sons in support of your answer.

9. When does a real gas behave like an ideal gas?

10. Pressure of an ideal gas in container is independent of shape of the

container– explain



SECTION - B 6 x 4 = 24

Note: (i) Answer any SIX Questions

(ii) Each Question carries FOUR marks

(iii) ALL are short answer type questions.

11. A particle moves in  a staright line with uniform acceleration. Its velocity

at time t=0 is v1 and at time t=t is v2. The average velocity of the particle

in this time interval is (v1+v2)/2. Is this correct? Substantiate your an-

swer.

12. A ball is dropped from the roof of a tall building and simultaneously an-

other ball is thrown horizontally with some velocity from the same roof.

Which ball lands first ? Explain your answer.

13. If a b a b  
   

prove that the angle between a


 and b


 is 90°.

14. Show that the trajectory of an object thrown at certain angle with the

horizontal is a parabola.

15. Explain advantages and disadvantages of friction.

16. Distinguish between centre of mass and centre of gravity.

17. What is escape velocity? Obtain an expression for it.

18. What is a geostationary satellite? State its uses.

19. Explain why steel is preferred to copper, brass, aluminium in heavy-duty

machines and in structural designs.

20. Pendulum clocks generally go fast in winter and slow in summer. Why?

21. Obtain an expression for the work done by an ideal gas during isothermal

change.

22. Explain the following processes

i)  Cyclic process with example

ii) Non cyclic process with example



SECTION - C 2 x 8 = 16

Note: (i) Answer any TWO Questions

(ii) Each Question carries EIGHT marks

(iii) ALL are Long answer type questions.

23. Develop the notions of work and kinetic energy and show that it leads to

work-energy theorem.

A machine gun fires 360  bullets per minute and each bullet travels with

a velocity of 600 ms–1. If the mass of each bullet is 5 gm, find the power of

the machine gun?

24. State and prove law of conservation of energy in case of a freely falling

body.

A pump is required to lift 600 kg of water per minute from a well 25 m

deep and to eject it with a speed of 50 ms–1. Calculate the power required

to perform the above task?

25. Show that the motion of a simple pendulum is simple harmonic and hence

derive an equation for its time period.  What is seconds  pendulum?

26. State and explain Newton’s law of cooling. State the conditions under

which Newton’s law of cooling is applicable. A body cools down from 60°C

to 50°C in 5 minutes and to 40°C in another 8 minutes. Find the

temperature of the surroundings.



TSBIE - MODEL PAPER
PHYSICS - I

Time: 3 Hours                Max.Marks: 60
___________________________________________________

SECTION - A 10 x 2 = 20

Note: (i) Answer ALL Questions

(ii) Each Question carries TWO marks

(iii) ALL are very short answer type questions.

1.

3. A = i j . x-  ?

(spokes) 

(Terminal veloc-
ity) 



SECTION - B 6 x 4 = 24

Note: (i) Answer any SIX Questions

(ii) Each Question carries FOUR marks

(iii) ALL are short answer type questions.

t=0 v1, t=t
v2. (v1+v2)/2

13. a b a b   a  , b  90° .

 

i)  

ii) 



SECTION - C 2 x 8 = 16

Note: (i) Answer any TWO Questions

(ii) Each Question carries EIGHT marks

(iii) ALL are Long answer type questions.

23.

600 ms-

1. 5 g 

25 m 600 kg 50 ms-1

25.

60ºC 50ºC 
40ºC 



TSBIE - MODEL PAPER
PHYSICS - II

Time: 3 Hours                Max.Marks: 60
___________________________________________________

SECTION - A 10 x 2 = 20

Note: (i) Answer ALL Questions

(ii) Each Question carries TWO marks

(iii) ALL are very short answer type questions.

1. What is the principle of a moving coil galvanometer?

2. Define magnetic declination.

3. What happens to compass needles at the Earth’s poles?

4. What type of transformer is used in a 6V bed lamp?

5. A small angled prism of 4º deviates a ray through 2.48º. Find the refrac-

tive index of the prism.

6. Give two uses of infrared rays.

7. What important fact did Millikan’s experiment establish ?

8. Write down Einstein’s photoelectric equation.

9. What happens to the width of the depletion layer in a p-n junction diode

when it is i)forward-biased and ii)reverse biased?

10. What is sky wave propogation?



SECTION - B 6 x 4 = 24

Note: (i) Answer any SIX Questions

(ii) Each Question carries FOUR marks

(iii) ALL are short answer type questions.

11. Define critical angle. Explain total internal reflection using a neat dia-

gram.

12. Explain the formation of a rainbow.

13. Derive the expression for the intensity at a point where interference  of

light occurs. Arrive at the conditions for maximum and zero intensity.

14. State and explain Coulomb’s inverse square law in electricity.

15. Define intensity of electric field at a point. Derive an expression for the

intensity due to a point charge.

16. Derive an expression for the capacitance of a parallel plate capacitor

17. Explain the behaviour of dielectrics in an external field.

18. Derive an expression for the magnetic induction or magnetic field at the

centre of a current carrying circular coil using Biot-Savart law.

19. Describe the ways in which Eddy currents are used to advantage.

20. What are the limitations of Bohr’s theory of hydrogen atom?

21. Explain the different types of spectral series.

22. What is rectification? Explain the working of a full wave rectifier.



SECTION - C 2 x 8 = 16

Note: (i) Answer any TWO Questions

(ii) Each Question carries EIGHT marks

(iii) ALL are Long answer type questions.

23. How are stationary waves formed in closed pipes? Explain the various

modes of vibrations and obtain relations for their frequencies.

A closed organ pipe 70 cm long is sounded. If the velocity of sound is 331

m/s, what is the fundamental frequency of vibration of the air column?

24. What are beats? Obtain an expression for the beat frequency. Where and

how are beats made use of?

Two organ pipes of lengths 65 cm and 70 cm respectively, are sounded

simultaneously. How many beats per second will be produced between

the fundamental frequencies of the two pipes? (Velocity of sound = 330

m/s).

25. State Kirchhoff’s law for an electrical network. Using these laws deduce

the condition for balance in a Wheatstone bridge.

26. Explain the principle and working of a nuclear reactor with the help of a

labeled diagram.

If one microgram of 235
92U is completely destroyed in an atom bomb, how

much energy will be released?



TSBIE - MODEL PAPER
PHYSICS - II

Time: 3 Hours                Max.Marks: 60
___________________________________________________

SECTION - A 10 x 2 = 20

Note: (i) Answer ALL Questions

(ii) Each Question carries TWO marks

(iii) ALL are very short answer type questions.

4. 6V 

5. 40 2.480 

. p-n i) ii)



SECTION - B 6 x 4 = 24

Note: (i) Answer any SIX Questions

(ii) Each Question carries FOUR marks

(iii) ALL are short answer type questions.



SECTION - C 2 x 8 = 16

Note: (i) Answer any TWO Questions

(ii) Each Question carries EIGHT marks

(iii) ALL are Long answer type questions.

23.

70 cm  331 m/
s

24.

65 cm, 70 cm 

 = 330 m/s).

25.

26.

235
92U 



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´eT+&É*, ôV’≤<äsêu≤<é
sê»˙‹XÊÁdüÔ+ ~«‹j·T  dü+e‘·‡s¡+. ( Old Syllabus)

yÓ÷&É̋ Ÿ Á|üXÊï|üÁ‘·+
Time : 3 Hours   Max. Marks : 100

$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m
I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. Á|ü‹ Á|üX¯ï≈£î 10 e÷s¡Tÿ\T 3x10=30

1. uÛ≤s¡‘· sêC≤´+>∑ Á|ü<Ûëq \ø£åD≤\qT $e]+#·+&ç.

2. sêC≤´+>∑+˝À bı+<äT|üs¡#·ã&çq ÁbÕ<∏ä$Tø£ Vü≤≈£îÿ\qT $e]+#·+&ç.

3. uÛ≤s¡‘· sêÁwüº|ü‹øÏ ñqï kÕ<Ûës¡D n~Ûø±sê\qT >∑T]+∫ e]í+#·+&ç.

4. uÛ≤s¡‘· bÕs¡¢yÓT+≥T n~Ûø±sê\T @$T{Ï?

5. ‘Ó\+>±D ñ<ä́ eT+ ô|\T¢_πø+<äT≈£î ø±s¡D≤\T @$T{À ‘Ó\|ü+&ç?

6. Á|ü‘˚́ ø£ ‘Ó\+>±D≤ ñ<ä́ eT+˝À ‘Ó\+>±D sêÁwüºdü$T‹ ({Ï.ÄsY.mdt) bÕÁ‘·qT e]í+#·+&ç.

$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_
II. øÏ+~ yê{Ï̋ À @y˚ì mì$T~ Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 8x5=40

7. uÛ≤s¡‘· C≤rjÓ÷<ä́ eT Ä$sê“¤yêìøÏ @yÓ’Hê Hê\T>∑T ø±s¡D≤\qT ‘Ó\|ü+&ç.

8. uÛ≤s¡‘· C≤rjÓ÷<ä́ eT+˝Àì >±+BÛ<äX¯̋ Àì dü+|òüT≥q\T sêj·T+&ç.

9. ñ|üsêÁwüº|ü‹ n~Ûø±sê\T ` $<ÛäT\qT >∑T]+∫ Áyêj·T+&ç.

10. uÛ≤s¡‘· düTÁ|”+ø√s¡Tº $<ÛäT\ >∑T]+∫ sêj·T+&ç

11. dü$Twæº u≤<Ûä́ ‘· nq>±H˚$T? $e]+#·+&ç.

12. sêÁwüº >∑es¡ïsY n~Ûø±sê\T, $<ÛäT\ >∑T]+∫ Áyêj·T+&ç.

13. πø+Á<ä ` sêÁcÕº\ eT<Ûä´ ñqï XÊdüq dü+ã+<Ûë\qT $e]+#·+&ç.

14. sêÁwüº XÊdüqdüuÛÑ\ô|’ ˇø£ H√{Ÿ sêj·T+&ç.

15. õ˝≤¢ ø£˝…ø£ºsY n~Ûø±sê\qT, $<ÛäT\qT $e]+#·+&ç.

16. ìs¡“¤j·T #·≥º+ô|’ ˇø£ yê´dü+ sêj·T+&ç.

17. C≤rj·T eTVæ≤fi≤ ø£MTwüHé n~Ûø±sê\T ` $<ÛäT\qT #·]Ã+#·+&ç.



18. bÕ]ÁXÊ$Tø£ ø±\TcÕ´ìï dü+øÏå|üÔ+>± $e]+#·+&ç?

19. ô|<ä› eTqTwüß\ ˇ|üŒ+<ä+ n+fÒ @$T{À ‘Ó\|ü+&ç.

20. pHé 2, 2014≈£î >∑\ ÁbÕ<Ûëq´‘·qT $e]+#·+&ç.

21. ‘Ó\+>±D C≤>∑è‹ dü+düú >∑T]+∫ Áyêj·T+&ç.

22. $<ë´]ú C…@dæ >∑T]+∫ $e]+#·+&ç.

$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ
III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ùV≤qT Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. Á|ü‹ Á|üX¯ï≈£î 2 e÷s¡Tÿ\T. 15x2=30

23. $T‘·yê<äT\T

24. sêC≤´+>∑ |ü]wü‘Y

25. sêC≤´+>∑ Á|üy˚•ø£

26. kÕs¡«»˙q z≥T Vü≤≈£îÿ

27. >±+<Û̊j·Tyê<ä dü÷Á‘ê\T

28. @yÓ’Hê Hê\T>∑T ÁbÕ<∏ä$Tø£ $<ÛäT\T

29. mìïø£\ >∑D+ n+fÒ @$T{Ï?

30. C≤rj·T n‘·́ edüs¡ |ü]dæú‹

31. sê»´düuÛÑ ìsêàD+

32. >∑es¡ïsY $#·ø£åD≤~Ûø±sê\T

33. eTTK´eT+Á‹ ìj·÷eTø£+.

34. XÊdüqdüuÛÑ eT+&É*.

35. πø+Á<äC≤_‘êô|’ ˇø£ H√{Ÿ sêj·T+&ç.

36. Á>±eTdüuÛÑ

37. õ˝≤¢ |ü]wü‘Y

38. ø£+{ÀHÓà+{Ÿ uÀs¡T¶

39. b˛sYº Á≥dtº

40. w” ãè+<ë\T

41. yÓTÆHê]{°\T nq>± mes¡T?



42. Ä~˝≤u≤<é ªø=eTTs¡+ ;Û+μ ‹s¡T>∑Tu≤≥T

43. ‘Ó\+>±D˝À ªs¡C≤ø±s¡T¢μ n+fÒ mes¡T?

44. ôV’≤<äsêu≤<äT sêÁwüº+

45. düø£\ »qT\ düyÓTà

46. $T*j·THé e÷sYÃ

47. ≈£î\dü+|òü÷\ C….m.dæ.



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´eT+&É*, ôV’≤<äsêu≤<é
sê»˙‹XÊÁdüÔ+ ~«‹j·T dü+e‘·‡s¡+. (NEW Syllabus)

yÓ÷&É̋ Ÿ Á|üXÊï|üÁ‘·+
Time : 3 Hours   Max. Marks : 100

$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m
I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 3x10=30

1. uÛ≤s¡‘·sêC≤´+>∑ Á|ü<Ûëq \ø£åD≤\qT $e]+#·+&ç?

2. sêC≤´+>∑+˝À bı+<äT|üs¡#·ã&çq ÁbÕ<∏ä$Tø£ Vü≤≈£îÿ\qT $e]+#·+&ç?

3. uÛ≤s¡‘· sêÁwüº|ü‹ kÕ<Ûës¡D n~Ûø±sê\T eT]j·TT $<ÛäT\qT >∑T]+∫ e]í+#·+&ç?

4. uÛ≤s¡‘·bÕs¡¢yÓT+{Ÿ n~Ûø±sê\T @$T{Ï? $e]+#·+&ç?

5. Á|ü‘˚́ ø£ ‘Ó\+>±D sêÁwüº ñ<ä́ eT+ sêe&ÜìøÏ >∑\ ø±s¡D≤\T @$?

6. uÛ≤s¡‘·j·T÷ìj·THé̋ À ‘Ó\+>±D ˇø£ q÷‘·q sêÁwüº+>± @s¡Œ&çq rs¡TqT #·]Ã+#·+&ç?

$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_
II. øÏ+~ yê{Ï̋ À @y˚ì mì$T~ Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 8x5=40

7. uÛ≤s¡‘· C≤rjÓ÷<ä́ eT Ä$sê“¤yêìøÏ @yÓ’Hê Hê\T>∑T ø±s¡D≤\qT ‘Ó\|ü+&ç?

8. uÛ≤s¡‘· C≤rjÓ÷<ä́ eT+˝Àì >±+BÛ <äX¯̋ Àì Á|ü<Ûëq dü+|òüT≥q\T sêj·T+&ç?

9. ñ|üsêÁwüº|ü‹ mìïø£ n~Ûø±sê\T ` $<ÛäT\qT >∑T]+∫ sêj·T+&ç?

10. ˝Àø£düuÛÑ d”Œø£sY $<ÛäT\qT ù|s=ÿq+&ç?

11. sêÁwüº >∑es¡ïsY n~Ûø±sê\T $<ÛäT\ >∑T]+∫ sêj·T+&ç?

12. eTTK´eT+Á‹ n~Ûø±sê\T ` $<ÛäT\T $e]#·+&ç?

13. ôV’≤ø√s¡Tº jÓTTø£ÿ n~Ûø±sê\T eT]j·TT $<ÛäT\qT $e]+#·+&ç?

14. πø+Á<ä sêÁcÕº\ eT<Ûä´ ñqï XÊdüq dü+ã+<Ûë\qT $e]+#·+&ç?

15. πø+Á<ä sêÁcÕº\ eT<Ûä́  ñqï Ä]úø£ dü+ã+<Ûë\qT ‘Ó\|ü+&ç?

16. 73e sêC≤´+>∑ dües¡D #·≥º+, 1992 Á|ü<Ûëq \ø£åD≤\qT ù|s=ÿq+&ç?



17. ‘Ó\+>±D˝À õ˝≤¢ |ü]wü‘Y\ ìsêàD+ n~Ûø±sê\qT $e]+#·+&ç?

18. uÛ≤s¡‘·<˚X¯+˝Àì $$<Ûä n$˙‹ ìs√<Ûäø£ #·{≤º\qT ù|s=ÿq+&ç?

19. ô|<ä›eTqTwüß\ ˇ|üŒ+<ä+˝Àì ìã+<Ûäq\qT ‘Ó\|ü+&ç?

20. kÕàsYº >∑e¬sïHé‡ n+fÒ @$T{Ï?

21. uÛ≤s¡‘· $<˚XÊ+>∑ $<ÛëHêìøÏ ñqï @yÓ’Hê ¬s+&ÉT \ø£åD≤\qT ‘Ó\|ü+&ç?

22. ◊ø£́ sê»´ dü$T‹ Á|ü<Ûëq ø±s¡́ <ä]Ù n~Ûø±sê\T $<ÛäT\qT dü+øÏå|ü Ô+>± sêj·T+&ç?

$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ
III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ùV≤qT Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 15x2=30

23. uÛ≤s¡‘· C≤rjÓ÷<ä́ eT+˝À $T‘·yê<äT\T

24. sêC≤´+>∑ |ü]wü‘Y

25. uÛ≤s¡‘· sêC≤´+>∑ Á|üy˚•ø£

26. düe÷q‘·« Vü≤≈£îÿ

27. eT‘· kÕ«‘·+Á‘·́  Vü≤≈£îÿ

28. @yÓ’Hê Hê\T>∑T ÁbÕ<∏ä$Tø£ $<ÛäT\T

29. kÕ<Ûës¡D _\T¢≈£î, Á<äe´ _\T¢≈£î eT<Ûä́ >∑\ ‘˚&ÜqT $e]+#·+&ç.

30. πø+Á<ä eT+Á‹ eT+&É* ìsêàD+ >∑T]+∫ sêj·T+&ç.

31. sê»´düuÛÑ ìsêàD+

32. sêÁwüºeT+Á‹ eT+&É* ìsêàD+

33. eTTK´eT+Á‹ ìj·÷eTø£+

34. XÊdüqdüuÛÑ

35. πø+Á<äC≤_‘êô|’ ˇø£ H√{Ÿ sêj·T+&ç.

36. ˙‹ ÄjÓ÷>¥

37. Á>±eT |ü+#êj·Tr

38. düs¡Œ+#Y

39. y˚Tj·TsY

40. m\Áø±ºìø˘ z{Ï+>¥ yÓTwæqT¢ nq>±H˚$T?



41. Á|üC≤y˚>∑T\T

42. ñeTà&ç sê»<Ûëì>± ôV’≤<äsêu≤<é

43. $T*j·THé e÷sYÃ

44. $<ë´s¡Tú\ C…mdæ

45. ˝Àø±j·TTø£Ô

46. ◊ø£́ sê»´ dü$T‹ Á|ü<Ûëq n+>±\T @$?

47. |ü+#·o\ dü÷Á‘ê\qT $e]+#·+&ç?



TELANGANA STATE BOARD OF INTERMEDIATE EDUCATION, 

HYDERABAD 

Model Question Paper Political Science-I  

Time: 3 Hrs.        Max Marks: 100 

                                        

Section – A 

3x10=30 

Note:  i. Answer any three (03) of the following questions in not   

             exceeding 40 lines each. 

         ii. Each question carries 10 Marks. 

 

1. Define Political Science and explain its scope? 

2. Define State and discuss its essential features? 

3. Write an essay on basic ideas of Gandhism? 

4. Identify the safeguards of Rights 

5. What is Democracy? Explain its Merits & De-merits? 

6. What is Executive?  What are its funct 

 

 

 

 

 

 



 Section – B                             8x5=40 

 

Note:  i. Answer any eight (08) of the following questions in not   

             exceeding 20 lines each. 

         ii. Each question carries 05 Marks. 

 

5. Write a brief note on Evolution of Political Science? 

6. Explain any four kinds of Sovereignty? 

7. Explain the difference between State and Government? 

8. What are the differences between State and Society? 

9. Write about any three (03) sources of Law? 

10. Define Liberty and describe any three types of Liberty? 

11. Explain any three kinds of Equality? 

12. Explain Political Rights? 

13. Discuss the the various types of Duties? 

14. What is Direct Democracy and mention its devices? 

15. Explain any four essential conditions for the success of democracy? 

16. What are the features of Secular State? 

17. What are the Merits and De-merits of a written constitution? 

18. Distinguish between written and unwritten constitution?  

19. Discuss Judicial Review? 

20. What are the reasons for the decline of the Significance of Legislature? 

 



 

Section – C                             15x2=30 

 

Note:  i. Answer any Fifteen (15) of the following questions in not   

             exceeding 05 lines each. 

         ii. Each question carries 02 Marks. 

 

21. Define Political Science? 

22. Behaviouralism 

23. What is Society? 

24. What is Government? 

25. Monistic Theory of Sovereignty? 

26. What is Constitution Law? 

27. Mention any four Safeguards of Liberty? 

28. What do you know about Social Justice? 

29. Write about Marxism? 

30. Non-Violence  

31. Civil Disobedience? 

32. Classify Rights? 

33. Natural Rights? 

34. Moral Duties? 

35. Define Democracy? 

36. What is Indirect Democracy? 



37. What is Public Opinion? 

38. What is Secularism? 

39. What is Theocratic State? 

40. What do you mean by Constitution? 

41. What is Rigid Constitution? 

42. What is preamble? 

43. How many organs of Government are there? What are they? 

44. What is meant by the theory of separation of Powers? 

45. What is  Bi-Cameralism? 

 



‘Ó\+>±D sêÁwüº Ç+≥Øà&çj·T{Ÿ $<ë´eT+&É*, ôV’≤<äsêu≤<é
sê»˙‹XÊÁdüÔ+ Á|ü<∏äeT dü+e‘·‡s¡+.

yÓ÷&É̋ Ÿ Á|üXÊï|üÁ‘·+
Time : 3 Hours   Max. Marks : 100

$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m$uÛ≤>∑+`m
I. øÏ+~ yê{Ï̋ À @y˚ì eT÷&ÉT Á|üX¯ï\≈£î 40 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç.     Á|ü‹ Á|üX¯ï≈£î 10 e÷s¡Tÿ\T 3x10=30

1. sê»˙‹ XÊÁkÕÔìï ìs¡«∫+∫ <ëì |ü]~Ûì $e]+#·+&ç.

2. sêC≤´ìï ìs¡«∫+∫ <ëìjÓTTø£ÿ eTÚ[ø£ \ø£åD≤\qT #·]Ã+#·+&ç.

3. >±+BÛyê<ä+ô|’ ˇø£ yê´dü+ Áyêj·T+&ç.

4. Vü≤≈£îÿ\ |ü]s¡ø£åD\qT $e]+#·+&ç?

5. Á|üC≤kÕ«eT´+ n+fÒ @$T{Ï? Á|üC≤kÕ«eT´ Á|üjÓ÷»Hê\T, ˝ÀbÕ\T $e]+#·+&ç.

6. ø±s¡́ ìsê«Vü≤ø£ XÊK n+fÒ @$T{Ï? ø±s¡́ ìsê«Vü≤ø£ XÊK $<ÛäT\qT ‘Ó\Œ+&ç.

$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_$uÛ≤>∑+`_
II. øÏ+~ yê{Ï̋ À @y˚ì mì$T~ Á|üX¯ï\≈£î 20 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 8x5=40

7. sê»˙‹XÊÁdüÔ |ü]D≤eT Áø£e÷ìï $e]+#·+&ç.

8. @yÓ’Hê Hê\T>∑T s¡ø±\ kÕs¡«uÛÖe÷~Ûø±sê\qT $e]+#·+&ç.

9. sêC≤´ìøÏ, Á|üuÛÑT‘ê«ìøÏ eT<Ûä́ >∑\ e´‘ê´kÕ\qT $e]+#·+&ç.

10. düe÷C≤ìøÏ sêC≤´ìøÏ eT<Ûä́  >∑\ ‘˚&Ü\T @$T{Ï?

11. XÊdüq+ jÓTTø£ÿ @yÓ’Hê eT÷&ÉT Ä<Ûësê\qT ‘Ó\T|ü+&ç.

12. ùd«#·Ã¤q+ ìs¡«∫+∫, @yÓ’Hê eT÷&ÉT s¡ø±\ ùd«#·Ã¤\qT ‘Ó\T|ü+&ç.

13. düe÷q‘ê«ìøÏ dü+ã+~Û+∫ @yÓ’Hê eT÷&ÉT s¡ø±\qT ‘Ó\T|ü+&ç.

14. sê»ø°j·T Vü≤≈£îÿ\qT $e]+#·+&ç.

15. $$<Ûä s¡ø±\ $<ÛäT\qT #·]Ã+#·+&ç.

16. Á|ü‘·́ ø£å Á|üC≤kÕ«eT´+ n+fÒ @$T{Ï? Á|ü‘·́ ø£å Á|üC≤kÕ«eT´ kÕ<ÛäHê\T $e]+#·+&ç.

17. Á|üC≤kÕ«eT´ $»j·÷ìøÏ ø±e\dæq @yÓ’Hê Hê\T>∑T |ü]dæú‘·T\qT $e]+#·+&ç.



18. ˝ÖøÏø£ sê»´+  eTTK´ \ø£åD≤\T @$T{Ï?

19. *œ‘· sêC≤´+>∑+ Á|üjÓ÷»Hê\T, ˝ÀbÕ\T @$?

20. *œ‘·, n*œ‘· sêC≤´+>±\ eT<Ûä́ >∑\ ‘˚&Ü\qT ‘Ó\T|ü+&ç.

21. Hê´j·T düMTøå±~Ûø±sêìï >∑÷]Ã #·]Ã#·+&ç.

22. XÊdüqdüuÛÑ\ ÁbÕeTTK´+ ‘·>∑TZ<ä\≈£î >∑\ ø±s¡D≤\T $e]+#·+&ç.

$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ$uÛ≤>∑+`dæ
III. øÏ+~ yê{Ï̋ À @y˚ì |ü~ùV≤qT Á|üX¯ï\≈£î 5 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü düe÷<ÛëHê\T

sêj·T+&ç. 15x2=30

23. sê»˙‹XÊÁdüÔ ìs¡«#·q+

24. Á|ües¡ÔHêyê<ä+

25. düe÷»+ n+fÒ @$T{Ï?

26. Á|üuÛÑT‘·«+ n+fÒ @$T{Ï?

27. @ø£‘·« kÕs¡«uÛÖeT~Ûø±s¡ dæ<ë∆+‘·+.

28. sêC≤´+>∑ XÊdüq+ n+fÒ @$T{Ï?

29. ùd«#·Ã¤≈£î dü+ã+~Û+∫q @yÓ’Hê Hê\T>∑T |ü]s¡ø£åD\qT ‘Ó\|ü+&ç?

30. kÕe÷õø£ Hê´j·÷ìøÏ dü+ã+~+∫ π̇ø$T ‘Ó\TdüT?

31. e÷]ÿ‡»+ >∑T]+∫ sêj·T+&ç.

32. nVæ≤+dü dæ<ë∆+‘·+

33. XÊdüH√fi¯¢+>∑q+

34. Vü≤≈£îÿ\ eØZø£s¡D

35. düVü≤»Vü≤≈£îÿ\T

36. HÓ’‹ø£ $<ÛäT\T

37. Á|üC≤kÕ«e÷´ìï ìs¡«∫+#·+&ç.

38. |üs√ø£å Á|üC≤kÕ«eT´+ n+fÒ @$T{Ï?

39. Á|üC≤_ÛÁbÕj·T+ n+fÒ @$T{Ï?

40. ˝ÖøÏø£yê<ä+ n+fÒ @$T{Ï?

41. eT‘·sê»´+ n+fÒ @$T{Ï?



42. sêC≤´+>∑+ n+fÒ @$T{Ï?

43. <Ûäè&É sêC≤´+>∑+ n+fÒ @$T{Ï?

44. sêC≤´+>∑ Á|üy˚•ø£ n+fÒ @$T{Ï?

45. Á|üuÛÑT‘ê«+>±\T mìï n$ @$?

46. n~Ûø±s¡ |üè<∏ääø£ÿs¡D dæ<ë∆+‘·+ n+fÒ @$T{Ï?

47. ~«XÊdüqdüuÛÑ n+fÒ @$T{Ï?



TELANGANA STATE BOARD OF INTERMEDIATE EDUCATION, 

HYDERABAD 

Model Question Paper Political Science-II  

(NEW SYLLABUS 2021) 

Time: 3 Hrs.        Max Marks: 100 

                                        

Section – A 

3x10=30 

Note:  i. Answer any three (03) of the following questions in not   

             exceeding 40 lines each. 

         ii. Each question carries 10 Marks. 

 

1. Explain the Salient features of Indian Constitution? 

2. Explain the Fundamental Rights as Incorporated in the Indian 

Constitution? 

3. Describe Ordinary Powers and Functions of President of India? 

4. Explain the Powers and Functions of Indian Parliament? 

5. Explain the various factors which led to the Agitation for a separate 

Telangana State? 

6. Discuss the Formation of Telangana as the new State in the Indian 

Union? 

 

                                   



  Section – B                             8x5=40 

 

Note:  i. Answer any eight (08) of the following questions in not   

             exceeding 20 lines each. 

         ii. Each question carries 05 Marks. 

7. Explain any four causes for the Indian National Movement? 

8. Write about the important events during the Gandhian Phase of Indian 

National movement? 

9. Write about election of Vice-President and his functions? 

10. Explain the functions of Speaker of Lok Sabha? 

11. Write about Powers and Functions of the State Governor? 

12. Explain Powers and Functions of the Chief Minister? 

13. Describe the Powers and Functions of the High Court? 

14. Describe the Legislative relations between Union and States? 

15. Mention the Financial relation between Union and States? 

16. Describe the main provisions of the 73rd Constitution Amendment Act, 

 1992? 

17. Describe the Composition and Powers of Zilla Parishads in Telangana? 

18. Describe various Anti corruption Laws in India? 

19. Explain the provisions of Gentlemen’s Agreement? 

20. What is SMART Governance? 

21. Explain any two features of Indian Foreign Policy? 

22. Briefly describe the Powers and Functions of the Secretary General? 



 

 Section – C                             15x2=30 

 

Note:  i. Answer any Fifteen (15) of the following questions in not   

             exceeding 05 lines each. 

         ii. Each question carries 02 Marks. 

 

23.Moderates in Indian National movement? 

24.Constituent Assembly? 

25.Preamble of the Indian Constitution? 

26.Right to Equality? 

27.Right to Religion? 

28.Any four Fundamental duties? 

29.Difference between Ordinary Bill and Money bill? 

30.The composition of Union Council of Ministers? 

31.Composition of Rajyasabha? 

32.Composition of State Council of Ministers? 

33.Appointment of the Chief Minister? 

34.Legislative Assembly? 

35.Write an note on the Union list? 

36.NITI Aayog? 

37.Grampanchayat? 



 38. Sarpanch? 

39.Mayor 

40.What are Electronic Voting machine? 

41.Whistle Blowers. 

42.Hyderabad as common capital. 

43.Million March 

44.Students JAC 

45.Lokayukta 

46.List the main organs of UNO 

47.What is Panchasheel? 
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Part - II

SANSKRIT, Paper - I
(Second Language)

MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)
Time : 3 Hours Max. Marks : 100

Note:
1. All questions should be attempted.
2. Question Nos. 1, 2 & 3 should be answered in the medium of instructions of

the candidate.
3. The remaining questions should be answered in Sanskrit (Devnagari Script)

only.
4. The bits of a question should be attempted together.

1.

2.

3.

I. 1×6=6

1.

2.

3.

II. 1×6=6

1.

2.

3.
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III. 1×6=6

1.

2.

3.

IV. 4×2=8

1.

2.

3.

4.

5.

6.

7.

8.

V. 2×3=6

1.

2.

3.

4.

5.

VI. 2×3=6

1.

2.

3.

4.

5.
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VII. 2×3=6

1.

2.

3.

4.

5.

VIII. 2×3=6

1.

2.

3.

4.

5.

IX. 5×1=5

1.

2.

3.

4.

5.

X. 5×1=5

1.

2.

3.

4.

5.
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XI. 5×1=5

1.

2.

3.

4.

5.

XII. 4×2=8

1. 2. 3. 4.

5. 6. 7. 8.

9. 10. 11. 12.

XIII. 4×2=8

1. 2. 3. 

4. 5. 6.

7. 8. 9.

10. 11. 12.

XIV. 2×4=8

1. 2. 3. 4.
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XV. 2×3=6

1. 2. 3. 4. 

XVI. 5×1=5

1. Let your father be your God.

2. Dharma protects when protected.

3. Excellence in action is Yoga.

4. Speak truth.

5. Boy studies Sanskrit.
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the candidate.
3. The remaining questions should be answered in Sanskrit (Devnagari Script)

only.
4. The bits of a question should be attempted together.

1.

2.

3.

I. 1×6=6

1.

2.

3.
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II. 1×6=6

1.

2.

3.

III. 1×6=6

1.

2.

3.

IV. 2×4=8

1.

2.

3.

4.

V. 2×3=6

1.

2.

3.

4.

VI. 2×3=6

1.

2.

3.

4.
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VII. 2×3=6

1.

2.

3.

4.

VIII. 2×3=6

1.

2.

3.

4.

IX. 5×1=5

1.

2.

3.

4.

5.

X. 5×1=5

1.

2.

3.

4.

5.
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XI. 1×5=5

1.

2.

3.

XII. 4×2=8

1. 2. 3. 4.

5. 6. 7. 8.

9. 10. 11. 12. 

XIII. 4×2=8

1. 2. 3.  

4. 5. 6.

7. 8. 9. 

10.  11. 12. 

XIV. 2×4=8

1. 2. 3. 4.

XV. 3×2=6

1. 2. 3. 4.

5. 6. 7. 8. 

XVI. 5×1=5

1.

2.

3.

4.

5.
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MODEL QUESTION PAPER (FOR IPE 2020-21 ONLY)

Time : 3 Hours Max. Marks : 100

I.

Turn Over



2

II.

III.
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VII.

VIII.

IX.
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I.

II.

III.

IV.
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V.

VI.

VII.

VIII.
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XI.

XII.

XIII.

XIV.

XV.

1. Imagination rules the world.

2. Language is the dress of the thought.

3. Learn as if you live forever.

4. I completed reading the book yesterday.

5. There is no substitute for hard work.
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IX.
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INTERMEDIATE - FIRST YEAR

MODERN LANGUAGE URDU: PART - III

Model Paper - Urdu - I - 2021

Time: 3 HOURS       MARKS: 100
--------------------------------------------------------------------------------------------------------------

4 x 5 = 20  .I

 .1

 .2

 .3

 .4



 .5

 .6

 .7

 .8

 .9

  .10

1 x 20 = 20  .II

 .1

 .2

 .3
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4 x 5 = 20       .III







 .1

 

 .2



 .3



 .4


  

 .5








 .6



 .7



2



 .8



 .9



  


  .10



1 x 20 = 20  .IV

 .1

 .2

 .3

 .4

1 x 10 = 10   .V








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1 x 10 = 10  







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INTERMEDIATE - FIRST YEAR

SECOND LANGUAGE URDU: PART - II

Model Paper - Urdu - I - 2021

Time: 3 HOURS       MARKS: 100
--------------------------------------------------------------------------------------------------------------


1x6=6           .I

 .1






















    

1x6=6   15  .II

 .1

 .2

 .3
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1x6=6   15  .III

 .1




 .2  .1  :  .2

 .3

2x4=8   .IV

 .1

 .2

 .3

 .4

 .5

2x3=6  .V

 .1



 .2



 .3



 .4


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2x3=6   .VI

 ..1

 ..2

 ..3

 ..4

 ..5

 2x3=6  .VII

 ..1

 ..2

 .3

 ..4

 .5

 2x3=6  .VIII

 .1


 .2

 .3

 .4

 .5

5x1=5   .IX

 .1

 .2

 .3

 .4

 .5

3



5x1=5   .X

 .1

 .2

 .3

 .4

 .5

5x1=5   .XI

 .






  




 148  




 .1

 .2

 .3

 .4



 .5
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8x1=8  .XII



 .1

 .2

 .3

 .4

 .5

 .6

  

  (i)

  (ii)

  (iii)

  (iv)

  (v)

  (vi)

8x1=8  .XIII

 (ii)  (i)

 (iv)  (iii)

 (vi)  (v)

 (viii)  (vii)

 (x)  (ix)

 (xii)  (xi)
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8x1=8    .XIV

 
 
 (1)    (i)    

 (2)    (ii)

 (3)    (iii)

 (4)    (iv)

 (5)    (v)

 (6)    (vi)





 

________   (i)

________   (ii)

________   (iii)

________   (iv)

________   (v)

________   (vi)

6x1=6   .XV

 (i)

 (ii) 

 (iii)

 (iv)

 (v)

 (vi)

 (vii)

 (viii)
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5   .XVI

The moral values in life hold great importance from the point of

personal, social and spiritual development. Values, morals and ethics

are inextricably tied together. Values are what we learn from

childhood; the 'stuff' we acquired from our parents and immediate

surroundings.


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4 x 5 = 20  .I

 .1

 .2

  .3

 
 .4




 .5

 .6

 .7

 .8

4 x 5 = 20  .II

 .1

 .2

 .3

 .4

 .5
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 .6

 .7

 .8

2 x 10 = 20       .III

 .1

 .2

 .3

 .4

2 x 10 = 20       .IV

 .1

 .2

 .3

 .4

1 x 10 = 10  .V

 .1




 .2

 .3

1 x 10 = 10  

 .1

 .2

 .3
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1 x 6 = 6   .I

   .1





 . 2




  . 3







1 x 6 = 6   .II

 .1

   .2

 .3



 1 x 6 = 6  .III

 .1

 .2

 .3

4 x 2 = 8   .IV
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                               Section –A                                           10x2=20        
    

 Answer all the questions. Every answer should be restricted to 
four lines only. 

1. What does ICZN Stand for? 
2. List out any four sacred groves in India 
3. What is the haematocrit value? 
4. Define osteon. 
5. Distringuish between amphids and phasmids? 
6. What are blood glands in Pheretima? 
7. Name four extra embryonic membranes  
8. Entamoeba histolytica is an obligatory anaerobe’ justify 
9. From which substances smack and coke are obtained  
10. What are circadian rhythms?  
                          Section-B                                             8x5=40 
II Answer any six question. Every answer should be restricted to 

twenty lines only. 
11. Define species. Explain the various aspects of species.   
12. Explain Rivet popper hypothesis 
13. Describe the three types of cartilage  
14. Describe the structure of a mutipolar neuron 
15. What are the chief characters of the crustaceans?  
16. Name the four hallmarks of chordates and explain the principal function 

of each of them 
17. Describe the structure of the heart of frog  
18. What are the modifications that are observed in birds that help them in 

flight   
19. Write a short note on the pathogencity of entamoeba histolytica  

20. “Prevention is better than cure” justify with regards to TDA abuse 
21. What is summer stratification ? explain 
22. Explain vant hoff rule  
                   Section –C                                          2x8=16 
III Answer any two questions. Every answer should be restricted to 

sixty lines only. 
23. Compare and contrast the three types of muscular tissues.  
24. Describe the digestive system and process of digestion in pheretima. 
25. Describe the life cycle of plasmodiom vivax in mosquito.  
26. Write an essay on temperature as an ecological factor.  
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

     


             


 


 



I.  

 I.C.Z.N. 

 

 

 

 
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 

 

 

 

 



II.  

 

 

 

 

 

 

 

 

 

 T.D.A.

 

 



III. 

 

 

 

 
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                               Section –A                                           10x2=20        
    

 Answer all the questions. Every answer should be restricted to 
four lines only. 

1. What are conchae? 
2. Why the arteries are more elastic than the veins? 
3. Distinguish between cortical and juxta medullay nephrons 
4. What do you know about arbot vitae 
5. What is insulin shock 
6. What are complement proteins  
7. What is pleiotrophy 
8. What are bar bodies  
9. Mention any two advantages of inbreeding  
10. List out any four features of cancer cells. 
                          Section-B                                             8x5=40 
II Answer any six question. Every answer should be restricted to 

twenty lines only. 
11. How is respiratory movements regulated in man? 
12. Describe disorders of respiratory system 
13. Draw a labeled diagram of the V.S of the kidney  
14. Describe the important steps in muscle contraction  
15. Five an account of the secretions of pituitary gland 
16. Write a note on the mechanism of action of hormones  
17. Write short notes on B-cells  
18. Describe the microscopic structure of ovary of woman  
19. In sex education necessary in schools  

20. Describe the steps involved in DNA fingerprint technology  
21. Discuss in brief about “Avianflu”  
22. Write in brief the types of genetherapy 
                   Section –C                                          2x8=16 
III Answer any two questions. Every answer should be restricted to 

sixty lines only. 
23. Describe the structure of the heart of man with the help of neat labelled 

diagram 
24. Give a brief account of the structure and function of the heart of man  
25. Describe male reproduction system of a man. Draw a labelled diagram 

of it 
26. What are multiple alleles? Describe multiple alleles with the help of 

ADO Blood groups in man. 
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